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(£ 3.1.2-10) & BAGA S

2414 (%) 0.5 1 2 3

a1
]

10 20

A BAAG | 1.88 1.62 1.35 1.20 1.00 0.87 0.73 0.46

F 1) fell FAEA] o2 ZHnle] g A RAA s Ad Batet
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S 0.11 0.07
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B/h B
0.5 0.397
1.0 0.670
1.5 0.835
2.0 0.921
3.0 0.983
4.0 0.996

o 1.000

yA _ - — -
% K h—2 = 924249 A2% W3 Bessel FFFS H &5
2
FAHA e ASE Augrete] ALgwT
b. A A2

- AJAF ¢, AL
(1) ARANE s Aatol] FABI] <F 3.1.2-1>°] 7]&d vpe} o]
T3S 7 ohe Ao R FEsTh
(2) =AA BEAzd 9 Az A% B A3t AFo] AREE-Eo
WA= dEgs sty flske Aeks
Sa, S, S¢, Sp, Sg, SrY 6FS = FEF3T)

— 145 -



(3) A XAF Ca gk AWFEFS] Sa, Ss, Sc, Sp, Sg, Srol thste] Azl
TR (& 312-1D° FoAA vk AWEF SpR i EE 25
of = F-A i AWEEA H7trt Pﬁllﬂc A dko]lm 2 o] 7§ =
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2) Bessel &%
- A1F H3E Bessel g%
)= S G ) st

7 (hl) Z]O y 7 5 | cos )\Zh

a2 000 0.10 0.30 0.50 0.70 0.90
0.01 1.0000 1.0000 1.0000 1.0000 1.0000 0.9999
0.25 0.9989 0.9986 0.9951 0.9789 0.9080 0.5896
0.50 0.9579 0.9550 0.9295 0.8636 0.7182 0.3882
0.75 0.8572 0.8529 0.8163 0.7335 0.5797 0.2921
1.00 0.7403 0.7358 0.6986 0.6178 0.4770 0.2327
1.25 0.6334 0.6292 0.5951 0.5222 0.3987 0.1916
1.50 0.5440 0.5403 0.5100 0.4459 0.3386 0.1616
1.75 04717 0.4684 0.4418 0.3856 0.2921 0.1389
2.00 0.4137 0.4108 0.3873 0.3377 0.2556 0.1215
2.25 0.3669 0.3644 0.3434 0.2994 0.2265 0.1076
2.50 0.3289 0.3266 0.3078 0.2683 0.2030 0.0965
2.75 0.2975 0.2954 0.2784 0.2428 0.1837 0.0874
3.00 0.2714 0.2694 0.2540 0.2215 0.1676 0.0798
3.25 0.2493 0.2475 0.2333 0.2035 0.1541 0.0734
3.50 0.2304 0.2288 0.2157 0.1881 0.1425 0.0680
3.75 0.2141 0.2126 0.2004 0.1749 0.1325 0.0633
4.00 0.1999 0.1985 0.1872 0.1633 0.1238 0.0591
4.25 0.1875 0.1862 0.1756 0.1532 0.1162 0.0555
450 0.1765 0.1753 0.1653 0.1443 0.1094 0.0523
475 0.1667 0.1655 0.1561 0.1363 0.1034 0.0495
5.00 0.1579 0.1568 0.1479 0.1291 0.0980 0.0469

(i) | @

! (h)

Wit 0 1 2 3 4 5
0.01 1.999876 1.998889 1.996920 1.993975 1.990064 1.985200
0.25 1.926210 1.505450 1.087722 0.805948 0.626343 0.507868
0.50 1.738532 0.930976 0.561358 0.393458 0.301611 0.244236
0.75 1.505450 0.626343 0.365722 0.256449 0.197198 0.160122
1.00 1.280545 0.463265 0.269936 0.189875 0.146351 0.119035
1.25 1.087722 0.365722 0.213670 0.150671 0.116320 0.094712
1.50 0.930976 0.301611 0.176743 0.124863 0.096505 0.078637
1.75 0.805948 0.256449 0.150671 0.106594 0.082454 0.067225
2.00 0.706331 0.222977 0.131290 0.092984 0.071973 0.058705
2.25 0.626343 0.197198 0.116320 0.0824%4 0.063855 0.052101
2.50 0.561358 0.176743 0.104411 0.074066 0.057382 0.046832
275 0.507868 0.160122 0.094712 0.067225 0.052101 0.042531
3.00 0.463265 0.146351 0.086660 0.061541 0.047709 0.038953
3.25 0.425610 0.134757 0.079870 0.056743 0.044000 0.035931
3.50 0.393458 0.124863 0.074066 0.052639 0.040826 0.033343
3.75 0.365722 0.116320 0.069047 0.049089 0.038080 0.031104
4.00 0.341572 0.108870 0.064666 0.045986 0.035679 0.029146
4.25 0.320368 0.102315 0.060807 0.043253 0.033563 0.027420
450 0.301611 0.096505 0.057382 0.040826 0.031684 0.025887
475 0.284905 0.091318 0.054323 0.038658 0.030004 0.024516
5.00 0.269936 0.086660 0.051573 0.036707 0.028494 0.023283
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- AI2% WY Bessel X%
2R 8T )b
21 | cos| A
a/h z/h| 000 0.10 0.30 0.50 0.70 0.90
0.01 0.9998 0.9998 0.9997 0.9996 0.9988 0.9896
0.25 0.8983 0.8962 0.8779 0.8321 0.7296 0.4577
0.50 0.7367 0.7337 0.7083 0.6500 05375 0.3010
0.75 0.6081 0.6051 0.5802 0.5247 0.4229 0.2260
1.00 0.5129 0.5101 0.4873 0.4371 0.3475 0.1812
1.25 0.4416 0.4391 0.4184 0.3735 0.2944 0.1512
150 0.3868 0.3846 0.3659 0.3255 0.2552 0.1297
1.75 0.3437 0.3416 0.3247 0.2882 0.2250 0.1135
2.00 0.3090 0.3071 0.2916 0.2584 0.2011 0.1009
2.25 0.2805 0.2788 0.2646 0.2341 0.1818 0.0908
2.50 0.2567 0.2551 0.2420 0.2139 0.1658 0.0826
275 0.2366 0.2351 0.2230 0.1969 0.1524 0.0757
3.00 0.2194 0.2180 0.2066 0.1824 0.1410 0.0699
3.25 0.2045 0.2032 0.1925 0.1698 0.1311 0.0649
3.50 0.1914 0.1902 0.1802 0.1589 0.1226 0.0605
3.75 0.1800 0.1788 0.1694 0.1492 0.1150 0.0567
4.00 0.1698 0.1687 0.1597 0.1407 0.1084 0.0534
4.25 0.1606 0.1596 0.1511 0.1331 0.1025 0.0504
450 0.1525 0.1515 0.1434 0.1262 0.0971 0.0478
475 0.1451 0.1411 0.1364 0.1200 0.0923 0.0454
5.00 0.1383 0.1374 0.1301 0.1144 0.0830 0.0432
()| @
K (h)
afi~ 0 1 2 3 4 5
0.01 1.997893 1.985947 1.967330 1.944190 1.917860 1.889279
0.25 1668310 | 1.075528 | 0.771075 | 0596870 | 0.485663 | 0.408926
0.50 1.322459 0.673280 0.444054 0.330258 0.262630 0.217903
0.75 1.075528 | 0.485663 | 0.310307 | 0227599 | 0.179610 | 0.148302
1.00 0.899948 0.378389 0.238195 0.173507 0.136407 0.112364
1.25 0.771075 0.310307 0.193195 0.140155 0.109941 0.090436
150 0.673280 | 0.262630 | 0.162466 | 0.117450 | 0.092070 | 0.075666
1.75 0.596870 0.227599 0.140155 0.101210 0.079193 0.065041
2.00 0535683 | 0.200786 | 0.123225 | 0.088859 | 0.069475 | 0.057032
2.25 0.485663 | 0.179610 | 0.109941 | 0.079193 | 0.061881 | 0.050779
2.50 0.444054 0.162465 0.099240 0.714230 0.055783 0.045761
2.75 0.408926 0.148302 0.090436 0.065041 0.050779 0.041646
3.00 0.378889 | 0.136407 | 0.083066 | 0.059705 | 0.046598 | 0.038209
3.25 0.352922 0.126276 0.076806 0.055179 0.043054 0.035297
3,50 0.330258 | 0.117545 | 0.071423 | 0.052190 | 0.040010 | 0.032797
3.75 0.310307 0.109941 0.066745 0.047913 0.037368 0.030627
4.00 0.292614 | 0.103261 | 0.062642 | 0.044953 | 0.035054 | 0.028727
4.25 0.276818 | 0.097345 | 0.059014 | 0.042338 | 0.033009 | 0.027049
450 0.262630 0.092070 0.055783 0.040010 0.031190 0.025556
475 0.249819 | 0.087337 | 0.052887 | 0.037925 | 0.029561 | 0.024219
5.00 0.238195 | 0.083066 | 0.050278 | 0.036046 | 0.028093 | 0.023015
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D Has" AA 4

1, 2HEH
(1) ME M&
fou = R - 232 E ZANELUE
f, = 00 WP CEHE YNIEHEUT
G = 5.0 kN P EINE R ET
(2) (WA
q= 0,0 MPs : HEAMANE
.= 190 N =R S ETHEDR
Qe = 1000 kN N ER ST EE
f= 35,0 degres CEAHEE RO
f, = 30,0 degres : JIEFE 202
o= 0.0 e D I =R EaE
f= 0,60 sy =080 :tanb=0,60, th=10: 21
(3) Xl== 2 J|EL Y=gt
po= 75,0 kW Y - Y2
= 3,00 kN PESY - HANIF
g = 100 kil 29 CHIEE
H= 35,00 B ZOHN L EHEAD
d= 100 m HE EHZI=
d, = 100 mm D HA H20=
) W=Ran =
- AERE 22 I EHED)
- REZ2E A= o0
- BT M= o1mo0d (1.4
- MEE Hs= 01 21,4 = 0,154
= R GRG0, BEN 102
(o) SDI2H
- T A JE
- A=
- B32|E 2Z8H 2E
- g N2 WESANIE
-ZED 2HNE HE

} 232
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3.1 18sl=
1) BAFRE 0 2THY ProgranlilM AHESE E32IE AES DHE.
N HUEFE = A 50 kN (EWEEIE
3) WD DISIE N - T2 KN/ES
4 AL EE = 2,00 kN/EA
3.2 ¥alE
1 E8E BoSkE = 5000 kN
oy TEte HUSIE = 12,400 kN - A& 16,000 kN
13,700 kN - A8 17,700 kN
25,30 kN - A==
8,100 kN - SR 82 111,000 kN
3 EHDT BEE MG = 60,000 kN
4 MER BHE = 45,000 kN (ETEES
3354
3.3.1 E=x2M
HWL = 27,200 m
= Pass =¥, H
;HI = 10.m % 9.087 = 90,667
"
S P =Y. R
m
= 10,m % 18,133 = 189133
= = =¥, H
;_ H3 = 10,00 ¥ 27,0 = 272,000

kN

3RS

kN
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3.3 =9
3.3.2 Ab2lA
HWL = 2450 m

o Firs = ¥, H
E H = 10,00 0 2,450 = 24,500 kN
34 Y (F=SAE WE AN
13 S=2- FxLA
Fizg = A ror moe (&) Kizg/hg
= 0,154 X 10 * 3,14 x 3,400 ¢ ® 0,949
E: 53,076 kNm
Pizy oz =010 = Edt=s fxg 2R =2 kN

Aot ZHATFEMNEE HFAL D
= 22 CRIAEESS N

a g 9| 28 {m)
h o Fl=g 22
z2; 1 FlxdE HRENHSZEH Yy HBREMA =00 m)
ko H 2E HE bessel B
ah = 0,13 z/h = 0,00
Kiz:/he) = 0,949
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2} El- MR
Pz = A 1o mo+ (8r Kiz/hod
g 0154 x 10 x 3,14 % 3,400 3 x  O4E
= 23,56 KN
Fiz: 22 =0l &5l fig 22 SUS ki)
A o ENFENEE HdL o 1)
Te 29| CHY M EET kN )
& ¢ Fled 2 2YEm
h o Bl R Raaim
2 : FzE ARMBSZRH ZY FRENIMA =00m)
ko H 2E HE besssl| B
ah = 1.3 z/h = 0,00
Kiz,M:d = 0.HE
3.4 ZalE
- HEHIE (Page 1-12)
W= A g (kN
A HERS b= WE () q i EEY (3.0 kNAC)
ZN ZHINZE A2 (Page 48)
= GIRZ2TN =ES= EGHE (MpEle
FHE CHEY Z5E
5 o cas ZEE WM 0,75 % 1u‘f
Z3E HITHSHA 1,50 x 107
2w ZEE WEIA 1,50 x 10°
HEIE HIWEIA 5.00 % 10°
1) HEIJTEY Z5lE0 YTt =
d=2 E8E = 100,200 kN (ETWEEIED
2 SR MR EHE A HAM EEs= ZTE ME
251 MWElH0l= UHE S DHSHH M=20.5.L5 DASHH ZHEFCH
0,5,L (Ab==Rl) - o m (AI‘S—M‘E AN ESES Iz 23)
4R =R 2 23=E HIMEHA 28]
300 kwa® % O DE0 4 2 o+ 030 )
= 1,50 kN
SO Y A EWH ZEE HWSA HE) 1,500 kMAe
21 S ESlE ME TE £ 2HY SHHMES DAF SIEAE0 BFEEICR
2oy Besls 55y 3= ¥ W WY HHY MY BEE HPFHMNY EF a‘ji
I,
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309y
H Z0lHWLEE) = 720w
StE 75000 kWM (ESEM 0.7, JE2HSE 2.8TH0

Zr20 m

36 REE50lE
CRE20 YE SIEE EANM ZEEE ALT NBEER ANE W Z(200m) re3)
Poo= 001 - W v (kKD
W REEY ZTRN) - 10 kN 2E JFEECH

o 22y 332 WY

ek

Ik

2éT= FREN UE EEHELE |7
o x 10,00 ¥ .00 = 20,000 kN

CHBMAE DS AEFEAN, HES, M =E 2E.
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4, siEMst

4.1 o= Mol
1 DESE
LTS DFEE2 ZRO YU TIHE W
CITITE WREZE 1.0 kN S 0S8 F o= 3OSkt
Y| Fl= 2,000 kN/EL DA% F = 12000 gy

HEE DESEE 0 T450 kNAE

|

2) BEE
ZEM 2IdE - 5000 N
HEZIFTE BEES IEN HEH FESE WS

HUY| YUFF -

- AFE=8 12,400 KN/EA 12,400 kN / 0154 of =  #@WHE kNAF
- AE=8 16,000 kN/EA 16,000 kN / 0154 W = 106.TE kNAF
- AFE=E 13,700 kM/EA 15,700 kN / 0154 uf = B3.846 kNAE
- N4 =g 17,700 kN/Ea 17.700 kN / 0154 f = 11E.TH pnAf
- A =8 25,300 kNER 25,50 kN /S 0154 o = 1BA07F A
- Rl gxx=2 8,100 kNEA 8100 kN S 0154 i = 252 kN
- EHER 111,000 kN/EA 111,000 kN / 0154 F = TI9EE pnAd
WS DT BEE W= 0 6000 kN S 058 §F = 108 5T A
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3 =Y (E2AD

TIT1

S0.EET  kp S0.EET kN

181,888 kWt / \ 181,333 kn/w'

272,000 km,/ \2?2.030 kN

N F
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4.2 slEEe

A2 | sz | zas T EHE | 9y | zsdE| Hz
=g E=x8 b =
1 1.4 0,0 1.4 0.0 0,0 0.0 0.0 =8
? 1.4 0,0 0.0 1.4 0,0 0,0 0.0 M==2)
3 1.2 1.6 0 0.0 1.3 0.0 0.0 MEM
4 1.2 1.6 1.6 0.0 0,0 0,0 0.0 Ex8
5 1,2 1,6 0.0 1,6 0,0 0,0 0.0 M2
E 1.2 0,0 15 0.0 0.0 0.0 0.0 E0
7 1.2 0,0 0,0 1.6 0,0 0,0 0,0 A=2
3 1.2 1,0 15 0.0 1.3 0.0 0.0 ==L
3 1,2 1,0 0.0 1.6 1,3 0,0 0.0 M8
10 1.2 1.0 1.6 0.0 1,5 0.0 0,0 £
11 1.2 1.0 oo 1.6 13 0.0 0.0 M2
12 1.2 0,0 15 0,0 1.3 1,2 0,0 =Y
13 1,2 0,0 0,0 1,6 1,3 1,2 0.0 M2
14 0.9 0,0 15 0.0 1.3 0.0 1.0 =L
15 0,9 0,0 0,0 1.6 1.5 0,0 1.0 A=g
o MEH HE TE
= - =]
2| wmz | zas T 'i} o EO1E | ¥y | zssiE | HD
1 1.0 1.0 0.0 0,0 1.0 0,0 0,0 MEM
2 1.0 1.0 1.0 0,0 0,0 0.0 0,0 Y
3 1.0 1,0 oo 1.0 0,0 0.0 0.0 M8
4 1,0 0,0 1.0 0,0 0,0 0,0 0.0 =g
5 1.0 0,0 0,0 1.0 0,0 0,0 0,0 Mg
[ 1.0 1.0 1.0 0.0 1.0 0,0 0.0 52
7 1.0 1.0 0.0 1.0 1.0 0,0 0.0 Mz=g
3 1.0 1,0 1.0 0,0 1,0 0,0 0.0 E0
3 1.0 1.0 0.0 1.0 1,0 0.0 0.0 Mg
10 1.0 0,0 1.0 0,0 1.0 1.0 0,0 =3
1 1.0 0,0 on 1.0 1,0 1,0 0.0 M2
12 1.0 0,0 1.0 0.0 1,0 0,0 1.0 ExE
13 1.0 0.0 0.0 1.0 1.0 0.0 1.0 M2
3 AN SEEE
= P (=]
| mmz | zaz e irﬂ sxg | wy | mEss| HD
1 1.2 1.0 0.0 0,0 0,0 0,0 1.0 MEM
2 0.8 0,0 15 0,0 1,0 0.0 1,0 Z77
3 1.0 0.0 1.0 0.0 1.0 0.0 1.0 Mg
4 1.0 0,0 0.0 1.0 1.0 0.0 1.0 Mz
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5. XM

NFAHED
at=
T = e ] aue SETE H =
(kM) (kM) (kM m)
=== ) 15183,243 0,000 TS, 364 3 Mg
DOEF R 12451 B19 444 551 9789,124 =1 AEA
FIEA 18684, 713 3402, 517 TT24AT, FIEA
CHHAED
=
T+ =2 == A ooHE GIETE H &
(kN (kN (kN m}
=S F| 19820,095 0,000 4259 H1S cl =3
DHEFH 18639905 453,500 12704, 253 o3 MEA
RIEA 18684 713 3402 317 TT247, & RIELA
6 CiH AE
O il g
= N MEEIE
=2 = HE SHEIECH
w2 ST DU E (M m) | SEECHE (RN o) D= ()
w1 g 48,705 106 167 48, 295
B Ve 102,720 108,960 27.m3
: et 13,885 16,50 18,865
HH 2 =
Ve 57,982 10,07 £7.832
bt 78,37 20,228 78, %1
e 5 =
Ve 435,911 85,852 435,31
’ o |zEmazm asusz | wzpm | TSET
1 Mt | 45,0296 | 1590645 | 28551 |12 % 300 = 9650 | 300,000 | 510,79
a VEE [ 0z 720 | 214,425 | B10,T4 (22 = 200 = 1200,3| S00.000 | 32591
w2 Mt | 93,865 | 156,257 | S50 |16 =% 300 = @620 | 300,000 | 20244
a Ve | gTew | 24555 | ST (19 x 00 =965.0 | 300,000 | 34473
. Mt | 75,567 | 246,250 | 0989 |8 = 300 = @620 | 300,000 | 473,77
B VEE | 435371 | 1204677 | 1217.45 |28 = 300 = 3431.7| 300,000 | 37445
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L8y A
() BT CHE HEHSE
= | MrikW )| ModkM oy | WOkN) 5.F etm}  FHEEMM HlD
=S F [2aa17 991 | 628,780 | 4883770 | .65 0,447 1,900 3
EWMEZH| ;w7776 | 889.852 [ 1610135 10.314 0,855 1.900 3
RIEA | 12124259 7004372 | 2127.069 | 1,750 3.50% 5,800 i

- BENEN BESs S 20 25 RA=s THANS HIER E82E
S HPEEEDY 146 0L, RIEAIQ Z2EAMM = B S 22 1/30( L0 2LHOE FHCH
[ZZWU2HINE 56.2]

- Habh BT OBt HEREUE

- MEAN BIN e HEZHE

(2) ZZW Chet SR HE

= BXRMEY 2 oy Ol20l HOE T
= HZR2HEY 4 o 01=0IHOE '

2= WikH) Hu(kN) HikM) S5.F [HEWHE| HY
=S FH [ deas, 7m0 | 25w gEe | 0,000 = 1,500 i3
HHEZH]| 150,135 | 95,00 | 06 | HOWB 1,500 LS
AEIA | Z127.099 | 1276256 | 283,586 | 4.500 1.200 1S

- HENE HIEEM MY J AR E ISR Ofd =AY ASECHEE
DILHON 2ioiop =CH, [EE2W2H 2E 5.8.2]
QERE — 2hAGLS) RIEALGL2)

H,=C, A+V tan g,

i JEMEY SEHSEE ()
Y JEMEY S5 WIASSEN, O BES ¥ 2t2F FHCH
tanhb = ®Ut 2E32E AR tandb = 0,600 th = 0,000
(3) MRS s HEAHE
zhi= Yikh) H{kND eim) Omac{kPa) | GminikPa) | QalkPa) Hl
=S| 4283,770 | 23788, 7110 0,447 464 .13 S5, 408 2040000 18
BEMEZCH] 1610135 | 8287,917 0,853 2 624 Tr 855 2040000 14
RIELA 227,059 | 5119 ,866 3,593 673,005 0,00 3060 ,000 138

- EEIE HIEH MY BEXEEEE HSot) RIA R SA2HEERAF O
QMO FC}H, [EEREHINE 5.6,2]
B JE2 Z (11,4000}, M= Mr-Mo, & = B/Z — WY
-ol=2 FHEAUXI NP H HH U= S (MORIE 22)

o.=-2{1+%)o_  -¥f1-59)
&g T e T g e e
-5Te BEHNUI B O oy U= B2 (MuE ==
’);[-'
Qﬂ'&‘ L]:
% 1 3(B2-e) Lo &0
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3.2 FArEHd

3.2.1 AA At

7} A A L oF

H 2= ZE
T Omax(kN) Qu(kN) Qalkn) gl o
EEI| = 292.768 2766. 129 600 0.K

m o s
R Bl RHEE) SF g
e 587.768 1364, 334 2.321 0.K
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(1l
e

req'd use'd
Sl b d Mu ®Mn As As
mm mn kN .m KN.m | mo? mm?
i 1000 292 78.79 1 211.98 | 813.30 H19 2292 .00
-y
OF = 1000 292 269.77 | 353.75 |2982.79] H25 4053.60
xl 2k
L?j
1000 292 79.64 | 211.98 822,40 HI9 2292.00
& 1000 312 140.51 | 227.57 | 1377 .57} H19 2292 .00
&
=2 1
= & 1000 312 259,631 381.32 |2642.54] H25 4053.60
2l 2
=
1000 312 101.00 | 227.57 | 978.88 H19 2292 .00
2 1000 292 274,951 353.75 |3046.42] H25 4053.60
= 1
& =
9l 1000 592 164,79 | 445,77 | 828.82 H19 2292.00
2 1000 292 276.01 ] 353.75 |3059.47] H25 4053.60
= 1
= =
] 1000 | 592 |140.46| 445.77 | 705.15] H19 2202.00
Sl 20%
Se=ter| ABEdS | I | Z2ese =2t | 8z
1 R 1 784.0 1910.0 0.K 458.4 .0 0.K
& e 7 784.0 1910.0 0.K 810.7 A 0.K
@ = 3 784.0 1910.0 0.K 458.4 .0 0.K
1 A= 4 824.0 1910.0 0.K 458 .4 .0 0.K
=) =22 5 824.0 1910.0 0.K 810.7 .0 0.K
2 = 6 824.0 1910.0 0.K 458.4 .0 0.K
1 AR £ 784.0 1910.0 0.K 810.7 RLp: 0.K
= o= 9 1384.0 1910.0 0.K 458.4 40 0.K
i A2 10 784.0 1910.0 0.K 810.7 .0 0.K
= oHE 12 1384.0 1910.0 0.K 458.4 .0 0.K
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B oCEl 25

= g ove | w | owm |oeie reAqu - s “S:Sd i
- kN kN kN EA mn? mm mm?

/i q 5= 1 189.7 | 324.7 | 421.6 4.0 452 .5 H16 300.0 | 794.4 0.K
a ié} =2 2| 189.7 86.3 | 189.66| 4.00 = H16 300 794.40 0.K
L5 2= 3| 189.7 | 324.8 | 421.62]| 4.00 | 462.81 H16 300 | 794.40 0.K
2 i E= 4| 202.6 | 358.3 | 450.50] 4.00 | 498.85 H16 300 794.40 0.K
l = SLE 5| 202.6 93.8 | 202.65]| 4.00 = H16 300 794.40 0.K
?H 2t = 6| 202.6 | 358.3 | 450.50| 4.00 | 498.81 H16 300 794.40 0.K
i 1 AR 7| 189.7 | 124.8 | 189.66| 4.00 - H16 300 794.40 0.K
j = o= g | 3845 228.7 | 384.52| 4.00 = H16 300 794,40 0.K
= | 1 ot 101 189.7 | 161.1 | 189.66] 4.00 = H16 300 | 794.40 0.K
j = ot = 12| 384.5 | 180.2 | 384.52] 4.00 = H16 300 | 794.40 0.K

=2A4 :\g%

(GC.7T.G. 125 mm )

= - 2520l = 2oz | mon | 2
h M A . plEABEaY e o =3 | &
. E= 1 202 H19 - B.0EA 125 7816.810 0.K | 62.534
=
Ot & == il 292 H25 - B8.0EA 125 207.870 0.K 1.663
x| =
o

2= |3| 20 H19 - 8.0EA 125 | 7819.689 | 0.k |62.558
- = 4 312 H19 - B.0EA 1256 683. 118 0.K 5.465
&}
=1 1
=& SeE 5 312 H25 - B.0EA 125 256.521 0.K 2.052
o | 2
=l

== || a2 H19 - 8.0EA 25 680.348 | 0.k | 5.443
s AR 7 292 H25 - B.0EA 125 199.832 0.K 1.599
=
s =
7 ot g 502 H19 - 8.0EA 125 763,206 0.K 6.106
% &= 10 282 H25 - B.0EA 125 198.219 0.K 1.586
=
Al ot& 12 592 H19 - B.0EA 125 765.178 0.K 6.121
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(f
(E
(f
(E

ck)
)
)
)

C
¥
]

2ef,

)
]

(ABE A

(NS H =

=8g)

3.4M

26.00
21.80
23.00
10.00

KN/ m?
kN /m?
kN /m?
KN/ m®

= 27

= 27804
= 400

= 200000

MPa
MPa
WPa

sE Aol SABY

2 oo
A, Eg R gErEel

= 20,0 KkN/m?
1.0 KkN/m?

1.400)
0.110)

= 10,000 kN/m?

20.0

Wl =
(P o)
(#)

(ko) =

35.0°
1-sind =

X 34M, AR
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kh/m*
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1) 2HXE
5.306 x 25.00

2) &Y &=

- ASPHALT &5t

0;

1
L

16
Fo)

I
>
Q'ﬂ
Es
sl
i

CHet otelE Fs = 1.2
CHEt QrEHIATAL 1 HIA
(BIAET H=10.844 m Ol CHEI0 2 E)

(R/B)
IS =00t

0.500
0.500
9.794
9.794
0.050

J

4.184
4.184
4.184
4.184
4.184

x  23.00
x  20.00
x  11.00
x 10.00
x  21.50

4) sS0EY
[=:

=
A
T

5) 2
u

= 4.184 X
= 587.768

6) HEEE
Fs = R/U
= 1087 .644

= 1.850 >

12| E2004( =8t

= B X hs x yw
14,048 x

kh/m

/

1.200

HHE FE FEAE soel =8 0

\p.170) ]

587.768

0K

=+
=

H52 MEte 8

(0J1M ,hs=m2 2 ==0| + E0| DXl &t
10.000
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l
o

132.65  kN/m
48.116  kN/m
41.840  kN/m
450.759  kN/m
409.781  KkN/m

4.498  KkN/m
954.994  kN/m
I SAISCH
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v}, XA

T

gl vk

h

A (B

1) FHISE - Z2IAUHAM RS AL

2) DH5E

@ DAEGIE (NI g2 842)
- ASPHALT HA5IE 0.500 x 23.00 = 11.500 kN/m?
- E At 10.204 x  20.00 = 205.880 KkN/m?
-8 A 0.050 x 21.50 = 1.075  kN/m?
" Total Wd1 = 218.455 kN/m?
® DH5IE (( Kal=2=It U2 22 1 6L =-1.000m )
- ASPHALT H&5tZ= 0.500 x 23.00 = 11.500 KkN/m?
- S(X5t=2 014t 0.500 = 20.00 = 10.000 kN/m?
- S(XI5t=2 0lat) 9.794 = 11,00 = 107.734 kN/m?
. TES 0.050 x 21.50 = 1.075  KkN/m?
- Total Wd2 = 130.309 kN/m?
3) #als
- 55 (B-24 HE)
@ M2 =20 286t 51F (W) - E0) 4 014
- W1 o= 10.000 KN/m?
® =50 225 51 W2)
- W2 = 4.260  |N/m?
4) Egt (Xatedt glg BR)
Wh(Z) = (0.500 x 23.00 +7x 20.000 ) x 0.426
5) Egt (X5t4d}t AS ER)
Wh(Z) = ( 0.500 x 23.00 + 0500 x 20.000 +Z x 11.000 )
6) Xat+e ( XI5l : & =-1.000m )
-W(Z) = Z x 10.00
T 25 92 £E02 XN
< 2~ =
AL AR Al (A A =B A2 F)
1) XIEHEHEH20 &HE
# HET (A% @ 103.046 ~ 92.310m)
- Vo (EJ|AEY CHDF =5) =80 x NM1/3) = 80 x 35%(1/3) = 261.7 m/sec
- Vs (BUYN4ZC BE HE) =0.8 x Yo = 0.8 x 261.7 = 208.4 m/sec
-Gd (MEEETI2) =w /g x Vs (w: B0 HAEY, =22 )
=20 /9.810 x 200.4® = 89395.0 KN/m
SEd (BFEH2) =2 x (14 v ) x Gd( v : 59 Zot& Hl )

2 x (1+0.27)

X 89305.0 = 227063.3 kN/m?
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U (A% ¢ 92,310 ~ 82.310m)

- Vo (EJIAE) EEHIF &) =80 x NA(1/3) = 80 x 50%(1/8) = 294.7 m/sec

- Vs (SUYNSEY @EO L) =0.8 x Vo = 0.8 x 284.7 = 235.8 m/sec

-6d (HEEEAE) =w/ g x Vs* (w: &S BRAEY g EFH=* )
=22 /[ 9.810 x 235.8% = 124603.0 kN/m?

SEd (BEAS) =2 x (14 v ) x G (v 8 EOe H )

2 x (1+0.27)

x 124893.0 = 316720.2 kN/m®

2) Xgreri 42 arF
(1) amaye - HIEZ oo
@ SRR X R
B
(0.5 2.l = 15.000
o = 2,L = 15.000m
K(EXL) :K(ExB)XT
Bv = Y(B xB) = ([ 4.184 x 4.184 ) 4 1841
Kvo = 1/08 x o x Ed = 1/0.3 x 2 x 316720.2 2111488.00 kN /n?
Kv(BxB) = 2111468.000 x ( 4.184 / 0.3 )M -3 [ 4 } 29267128 KN/
Kv(BxL) = 0.76 x Kv(BxB) = 0.76 x 292571.280 = 220854 17 KN/m®
@ ™G X gHERE
Ksb = A x Kv = 1/3.0 x 222354170 = 74118.06 kN/m®
(2) otE&dE © HHES |, ¢
O HRErEr T2 Y
B
(HO'SZ) 2.l = 15.000
_ o = 2,L = 15.000m
Koy =K pagy ® 15
Bv = J(B xB) = N 4.184 x 4.184 ) = 4.184
Kvo = 1/08 x o x Ed = 1/0.8 x 2 x 316720.2 = 2111468.00 KN/
Kv(BXB) = 2111468.000 x ( 4.184 / 0.3 )~ -3 / 4 ) = 292571.28 KN/mP
Kv(BxL) = 0.76 x Kv(BxB) = 0.76 x 292571.280 = 22088417 KN/
@ HGF XBHERE Y
Ksb = A x Ky = 1/3.0 x 222354.170 = 74118.06 KN/
(3) 22 : HIES , o
@ +BLE e
H
U= 2.l = 15.000
o = 2,L = 15.000m
K(HXL) :K(HXH)X 15
Bh = J({HxH] = W ( 4.204 x 4.204 ) = 4.204 m
Kho = 1/0.3 x o xEd = 1/0.3 x 2 x 316720.2 = 2111488.00 kN/m®
Kh(BxB) = 2111468.000 x ( 4.204 / 0.3 )A( -3 [ 4} - 291526.75 kN/m®
Kn(BxL) = 0.76 x Kn(BxB) = 0.76 x 291526.750 = 21550.33 KN/mP
@ ™G X gHERE
Kes = A x Kh = 1/3.0 x 221560.330 = 7385344 k[P
(4) Bg X pHdre -
- ARse
EEEEE A& A EEEEE]
Ky Kvx (0.421/2 + 0.421/2) = Q3611 KN/m
29,31~36,38
Ksh1 Ksbx (0.421/2 + 0.421/2) = 31204 kN/m
- =g
K] BHERE ] 2 A sk A e 28
Khi Kho (0.422/2 + 0.422/2) = Q3498 Ki/m
16,18~23,25,42,44-49,51
Kss1 Kssx (0.422/2 + 0.422/2) = 31166 kN/m
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]
R B oot A e HE
Ky Kvx (0.421/2 + 0.421/2) = 93611 ki/m
3,510, 12
Ksb1 Ksbx (0.421/2 + 0.421/2) = 31204 kN/m
- @as
e B 1 4] I e BE
Ky Kvx (0.302/2 + 0.421/2) Q0387 KkN/m i
Ksb Khix (0.422/2 + 0.412/2) = 92391 Ki/m '
Kv2 Kvx (0.421/2 + 0.802/2) 90387 kN/m s i
Ksb2 Khx (0.422/2 + 0.302/2) Q0175 kN/m )
3) NE & HH
@ [A"EE A= (1)
—- fEHs SX
S0l s 4w =1 7
RS =T = °
501 E==;
& 100 ==
H
A 2004 s s=2
&
5001 ==
24004 S &=
- SIEE K
HEL=D] () B0 100 200 500
B = H =, | 0.40 0.57 0.73 1.00

@ M@ H=(2)
- AETe A=

e

Se

< 15

gk — p— D=3 E

N2 quz=o a3 Ao =& ZE2UAE Hibl+m B2 E

= (/) I Su(kra)
(blow/foot)

Sa EREED 1500 % I

Sb EEESE 7800114 1500

S xoa
So th BE EA 3600 A 780 > 50 > 100

< 50

Sf

of =4

EE

b 2-5= A
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@ K&K Ca, Gv

6) XIgtet ( XI5t=9 : 6 =-1.000 m )
10.00

-Ww(Z) = Z x

=S AR0 =HL2E HE
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X & H ==
PR TR NEEZ B2
Ca Cv
Sa 0.08 0.08
Sie] .11 0.1
1 Sc 0.13 0.18
& 0.18 0.23
Se 0.22 0.37
Sa 0.06 0.06
Sb 0.07 0.07
2 Se 0.08 0.1
&d 0.1 0.16
Se 0.17 0.23
@ 4 =2 NEH = (KH)
- NEHY 4 +BAUAN YL (SULNLE) c KH=1 x Ga=1.40 x 0.18 = 0.224
=] = A A
of. T A (ZA)
1) PHIS - Z2IAUHUAM RSAH L
2) DH&E
@ DEEE ( Xst==It g8 &2=2)
- ASPHALT Z&GtS 0.500 x 23.00 = 11.500 KkN/m?
- E A 10.294 x  20.00 = 205.880 kN/m?
- & 0.050 x  21.50 = 1.075 kN/m?
<. Total Wd1 = 218.455 kN/m®
@ DEEE ( Xot=It US 22 1 6L =-1.000 m )
— ASPHALT Z &GS o 0.500 x  23.00 = 11.500 kN/m?
- B(Xot=2 014 0.500 x 20.00 = 10.000 KN/m®
- F=(X5t=% Olat 9.794 x 11.00 = 107.734 kN/m?®
- g 0.050 x 21.50 = 1.075 KkN/m?
- Total Wd2 = 130.309 kN/m?
3) &at=E
- -0 #5lE (0B-24 X 8)
@ A2 SHEN XEst= &HE (W) - E0 4m 0] &t
- W1 = 10.000 KkN/m?
@ =20 X2t 5tE WI2)
- W2 = 4.260 KkN/m?
4) E2t (X6t42} els 3=2)
Wh(Z) = ( 0.500 x 23.00 +7Z x 20.000 ) x 0.426
5) E&t (X5t42t AS ER)
Wh(Z) = ( 0.500 x 23.00 + 0.500 x 20.000 +Z x 11.000 )




2L st AR (AR -5 A RAFF)

1) DRFII(Tg)

Y 4Hi
L= —
= Vsi

Xl gt Hi (m) Vsi (m/sec) ¥ (kN/m® ) Tg' (sec)

SETH 10.736 209.400 20.000 0.205

kel 19.264 235.800 22.000 0.327

A 0.532

Tg=1.25Tg"' = 1.25 x 0.532 = 0.665 sec

2) SH=I(Ts)
Ts=Cv/ (2.5 x Ca) =0.230 / (2.5 x 0.160) = 0.575 sec
To=0.2 x Ts =0.2 x 0.575 = 0.115 sec

@ ds4az=g 2HE(h)
- SUYNLE h=0.2
EEPES L5
@ T = +0.5 = 0.667
408 +1
4) JISE SHABE (Sa) - SUYLEEA(HBED] 10008 X L)

-0 <Tg < To2m
Sa = [Cat(2.5xCa—Ca)/ToxTgl xgx | xCd

-To < Tg < Ts LI
Sa = 2.5xCaxgx|xCd

-Tg = Ts 2
Sa = Cvxgx | xCd/Tg

= 3.168 m/s?

5)

g

T SHABEH(Sv) - SLX=ZA(HS T 10004 X )

Sv =Tg/2m x Sa =0.665/ 2m X 3.168 = 0.335 m/s

6) HISE SHAREY

Salm/sec?) AR e = Sv{m/sec) EREES
420 0.36

0.18
1.80
0.12
1.20
0.06
0.60] B—
.00 0.00
05 10 15 20 25 30 35 40 45 Tisec) 00 05 10 15 20 25 30 35 40 45 T(sec)
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3
[
I
113
o
s
=
e
rE
=]
on
of

o =N = 1.040m

- siRsYE A = 1482w

- JlErer AT (H) = 30.000 m
U(Zu) =2 / 12 x 0.335 x 0.665 x cos(mx 11.040 / (2 x 30.000)) = 0.037809
U(Zb) =2 / 1% x 0.335 x 0.665 x cos(m x 14.842 / (2 x 30.000)) = 0.032184

Po = Ksb,top x (U(Zu) - U(Zb))
= 74118.060 x (0.037809 - 0.032184) = 416.914 kN/m?

8) &8 X|HHY &5
X

9) =8 HFge
Uhl =1 /(mxH) x Sv x Tg x sin(m xZu/(2 x H))
Uh2 = 1 /(mxH) x Sv x Tg x sin(x xZb/(2 x H))
Vu = Gd x Uht
Vb = Gd x Uh2
Vs = (Vu+ Vb) / 2

10

=

TH 2Hy
fi =Ai x rcon'c x KH x (1-0.015 x Zi)

2) CASE2 - N2 IFES : XI5t (PAVE)

3) CASE3 - &R H3IE : XI5k44 (PAVEW)
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5) CASE5 - BHTH &SSO 28t & 5+S (LIVEFUH) 6) CASE6 - LEQ @ XI5t+#(S0ILBO)

s anaws s

—_—

7) CASE7 - LEY : X &t2=#(S0ILBOW) 8) CASE8 - 2=2F(WATER)

sm0 oo eam msm s sse e sam s

Q) CASEQ - ®iX| XIEH (= Xl ) (COLWALL) 10) CASE10 - 72X & (SHYX)(COLINER)
w e e ges e .

- 181 —



eH @ B0l SR OGS HELE otEHv0ll CHEE 28
h <20m0l CHeHA, aH = 1.0
h >20mH ChaHA, aH=1.05-0.025h (= 0.875) = 0.875, h = 10.844 n

1) A4+5tE
T D Hy B Hh F I‘Céj>
Lot | 1.400 | 1.400
ez | 1.200 | 1.400 | 1.800 | 1.600
163 | 1.200 1.000
Lc4 | 1200 | 1.400 | 1.800 | 0.800
L5 | o.goo | 1.400 1,600
Los | 1.400 | 1.400 1.400 ®
167 | 1.200 | 1.400 | 1.800 | 1.600 | 1.200 ®
Los | 1.eo0 | 1.400 | 1.800 | 0.800 | 1200 [
oo | o.goo| 1.4m0 1.600 e
2) A«+35HE BN
=
= 2] Hy L Hh F Jggigr
Lot | 1400 | 1.4m0
ez | 1200 | 1.400 | 1.800 | 1.800
1c3 | 1.200 1.000
164 | 1.200 | 1.400 | 1.800 | 0.800
Les | o.goo | 1.400 1.600
Los | 1.400 | 1.400 1.400 @
Loz | 1200 | 1.400 | 1800 | 1800 | 1200 [
tcg | 1.200| 1.400 | 1.800 | o.800 | 1.200 e
Log | o.goo | 1.400 1.600 []
3) ALZSIE
T
= = D Hy L Hh F gﬁﬁgﬁ
Lol | 1.oo0 | 1.000
ez | 1.o00 | 0.875 | 1.000 | 1.000
163 | 1.000 1.000
164 | 1000 | 0875 | 1.000 | 0.500
Les | 1000 | 0.875 1.000
Los | 1.000 | 1.000 1.000 [
167 | 1000 | oers | 100 | 1.oon | 1000 ®
Lcg | tooo | o875 | 1.oo0 | o500 | 1000 ®
tcg | 1.000| o878 1.000 [ ]
4) RTA(SURK SEF)
=pom
= = D Hy L Hh F E }¥5f£;r
Lot | 1200 1.000 1.000
ez | o.goo | 1.400 1.600 1.000
163 | o.oooo| 1.4m0 1.000 1.000
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1) B3 =

H4ohs . >
e E | DoE | ®MeE [ =
kN.m kN kN mm mm
e |1 EH= 1| 7.41 | 34,70 808, 1000.00] 392 00
of’\; jg, z=or=2 | 2 |2s0.77] 86.27 | 508. 1000.00] 302,00
= s 3| 7.40 | ae4.80] 808, 1000.00| 282,00
; B 4| 84.02 | 358.29 | 521. 1000.00] 412 .00
:gﬁj #2| =gz |5 |s0.63] 24.31 | 463. 1000.00| 412,00
= = S 5| 83.85 | 358.28 | 521. 1000.00| 412.00
= |1 At 7 | 274.95| 26.27 | 710. 1000.00| 382,00
82X (= ot 9 | 140.74] 180.30 | 875. 1000.00| 692,00
e [ At 10| 276.01] 26.40 | 710, 1000.00| 382 .00
HH | & B 12| 140.46] 180.23 | 875. 1000. 00| 692.00
2) L6
H+otE " .
Fe meel] =
il kN mm mm
e | B 1 304,70 | 843, 1000.00] 892,00
of’\; jg, =05 |2 0.45 | 30.47 1000.00| 392.00
24 EES 3 324 .80 | 344,42 1000.00| 302.00
B 1 B 4| 33.08 | 307.35] 128,17 1000.00| 412.00
fgﬁj 2| =92 |5 |e2s0.83| 0.01 | 7.41 1000.00| 412,00
|2 == 6| 33.22 [207.34] 128. 1000.00[ 412.00
= |4 A 7 | 274.95| 11.92 | 870. 1000.00| 392,00
BH = Gl 9 | 140.33| 18.56 | 654. 1000.00f 692,00
2= | 1 A= 10| ere.01)] 12.24 | 870 1000.00| 382,00
S5H | B ] 12| 140.07| 18.04 | B52. 1000.00f 682.00
3) Lc2
H>5tE . "
e 9 SHE | 5= | =2
KN.m kN kN mm mm
e | B 1| 7.41 | 150.66] 548 1000.00| 39200
Of‘,‘; zal =22 | 212238 0.04 |88 1000.00[ 392.00
S EE 3| 7.40 | 150.49] 548 7000, 00] 392,00
| = 4 | 67.33 | 340.88 | 264. 1000.00[ 412.00
;’;HL za|l =o=2 |5|163.38| 0.00 |e62. 1000.00[ 412.00
- s 6 | 67.55 | 34087 | 365. 1000.00] 412.00
= | 1 L 7 | 115.44| 24.14 | 704. 1000.00f 382,00
sy | = Gt o | 133.10] 125.97 | 656 1000. 00[ 68200
== iy 10| 115.90)] 24.32 | 705 1000.00[ 392,00
gy |2 B 12| 182.88] 127.06 | 856 1000.00| 682.00




H==olE AEEHE
e E 2ZE | BeE| == il i i
KN.m KN kN kN.m mm i
e | = 1| 066 | 19.75 | 25.03 0.52 | 1000.00] 392,00
of’\; jﬁ %:ot? 2 1{7.86 0.08 | 810 \”6.64 1000.00| 382,00
e 2= 3| 0.68 | 19.76 | 26.00 0.52  |1000.00| 382.00
i e 4| 6,54 | 3202 | 21.22 4.91 1000.00f 412,00
EQHL Al s2¢2 |5| 22| 0w]| 872 19.44  |1000.00| 412.00
- 2 == 6| 5.56 | s2.02 | 21.30 4.9 |1000.00] 212.00
o= |1 A 7| 1997 | 2.10 | 55.18 17.28 | 1000.00[ 392.00
SA | s &= g| 14.72] 5.07 | 89.78 12,93 |1000.00| 692.00
= e 10| 20.04 | 2.05 | 55.21 i7.45  |1000.00[ se2.00
8X | = gied 12| 14.70 | 5.11 | 69.67 12.91  |1000.00] 692.00
5) Lc4
HA5HE ANEDE . H
= 9 A FHE| &z | == crell=
KN.m KN kN kN.m M m
R E = 1| 7.23 | 240,79 457.09 434 |1000.00| 392.00
of’\; ﬁ g:gf? 2 | 198.60 u.247 216.66| 126.80 [1000.00| 382.00
o = 3| 7.28 |240.01]457.96 4.34  |1000.00| 892.00
i B 4 | 51.27 | 320.93 | 252.51 32.85  |1000.00| 412.00
g;ﬁ z2| =22 |s5|21442| 002 [ 13165 13753 [1000.00[ 412.00
2 = 6| 51.46 |se0.92 | es2.28| 8296  |1000.00[ 412.00
= | i 7 | 1o7.45| 1875 | 70118 126,84 [1000.00] 302.00
s = o= g | 138.08| 56.22 | 866.19| 89.11  [1000.00] 692.00
2= |1 A 10| 198.23] 18.09 | 701.62| 127.14 [1000.00| 382.00
9Hi | B B 12| 138.74| 56.53 | 665.37 88.95 |1000.00| 682.00
8) LC5
H4otS AE25HE
= E oHE | mpE | == 2EE § i
K. m kN kN kN.m mm mm
e |1 = 1| 7.81 | 187.93] 520.79 4.25  |1000.00] 392.00
of’@ jé» za= |2 [i11.70] 0.08 |871.48] 7473 |1000.00] s92.00
= 2= 3| 7.30 |138.05] 521.26 4.25  |1000.00| 382,00
1 B 4| 84.02 | 319.57 | 521,32 B4.89  |1000.00[ 412.00
3051 al =22 |s5|5052| 0.0 |es2.11| 10021 [1000.00[ 412.00
= o5 6| 83.85 | 219.56 | 521.30| 54.48  |1000.00[ 412.00
= | A 7 | 104.45| 23,85 | 862 04| 70.94 |1000.00f 892.00
sy | & EES g | 12400 121.07 ] 613.41 81.48 [1000.00| 602,00
== A 10| 104.87| 24.00 | 663.21 71.23  |1000.00| 392.00
8y | = = 12| 123.88] 12204 812.78|  81.85 |1000.00] 692.00
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H==otE Al2ots
o= CI =2eE lgeE]|li==] =EE i
KN.m KN kN kM. m M
" E A= 1| 6.84 | i72.65] 531.84 480 |1000.
of'\; jﬁ z=a= | o[ 140.22] 86,27 | 3s0.80| 100,16 |1000.
= SE 3| s6.84 | 172.68]530.43 489 |1000.
] i B 4| 63.04 | 358.01 | 406,80 4508 [1000.
;éf; 2| zo= |s5|176.42] 2431 |3ee.s4| 126,01 |1000.
2 == 6 | 63.26 [358.00[ 40768 4518 [1000.
= | 1 A= 7 | 136.43| 21.00 | 719.22] 97.45  [1000.
2| = s 9 | 140.74| 116,52 675.18| 100.58  [1000.
2= || A= 10| 136.98] 21.30 [ 71957 o785 |1000.
Do = =] 12| 140.46] 116.66 | 675.32] 1o0.33  [1000.
8) LC7
H=06tE AEotE g
S E e | gE=] == ZHUE
KN . m kN kN kN.m mm
e | 5 1| 7.0 | 83.56 | 608.68 4.8 1000.
e ﬁ za= |26 ]| 011 |50 11| 387 1000.
o == 3| 7.00 | 83.71 | 608 97 4.80  |1000.
N 5 4| 78,90 [e8.20| 405,08 6.2 [1000.
oF—+ -
Sapo jﬁ %%‘% 5 | 124.18 o:os 463.28| 8355 |[1000.
= o= 6| 77.15 | 35828 407 02| s6.46  [1000.
= | 1 = 7| .71 | 26.27 | 7or.34]| 3183|1000
sy | = e 9| 131.87| 180.20] 648.90| e3.64 [1000.
e= |1 i 10| 55.96 | 26.40 | 707.52 31.88  [1000.
82X | = 2= 12| 131.14] 1so.2z | es0.22|  ez.46  |1000.
9) LC8
H=otE A2 :
e E HHE | mps | == HEE
KN.m KN kN kN.m mn
e |1 e 1| 6.08 | i33.20] 558.68 4.7 1000.
e ﬁ %9;% 2 | 107.19 ufo‘, 41254  e4.96  [1000.
o o= 3| 6.92 | 133.43] 559. 12 474 |1000.
se | EHE 4| o8.08 |352.26] 434.33| s0.76  [1000.
ot+ P = =
P jﬁ %%‘% 5 15_2.24 ?.o‘j 391_.57 101,10 | 1000
& o= 6| o831 |ss2.e5] 485,27 s0.88 [1000.
= | 1 o 7 | 10082 23.30 | 705,36 e0.02 [1000.
Sl o= g | 1346114130 684.35| 9586 |[1000.
ez |1 s 10| 101.24] e3.47 | 706.63| s0.28 |1000.
sy | = o= 12| 134.36] 141.44] e54.95] o548 |71000.
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10) LC9

H+5E At2EHE .
28 f A DuE|seE| == il
KN . m kN kN kN. m mm
™ = 1| 4.08 | 9493 | 305.34 224 |1000.00
of’\; jﬁ za2 |2 7778 0.04 |2os.22| s3.46  |1000.00
2t 2= 3| 4.08 | 94,03 | 305.34 2,24 |1000.00
e B 4| 37.59 | 196.50 | 200.41 24,83  |1000.00
goéHL z| =22 |[s5]|9ews| oo || 6838 |[1000.00
12 == 6 | 37.72 | 196.50 | 200.94| 24.97 |1000.00
= | 1 = 7| 7459 | 1200 |405.42| 228 [1000.00
BH | B ol g | 77.80 | 66.88 | 382.09 52,55 [1o00.00
2= |1 e 10| 7a.80 | 13,01 | 405.61 52,49 |1000.00
aud | = g 12| 77.67 | 86.95 | 3se. 17| 52047 [1000.00
o dWY Ag (AQA-RAPASF)
1) BEE Ha
HAGHE = .
e 2 A EEE EEE EEE HD
KN.m KN kN m mm
R E = i |78.70 | 36.34 [300.68 [1000.00f 202 00 ]Lct,
of’\; jﬁ =z | o 870 [s6.19 |333.56 [1000.00] 300 00 L2,
& == 5| 70.64 |59.76 |405.63 |1000.00] 892,00 |Lce,
B ] = 4 |140.51 [256.23 |258.14 | 100000 412 .00 |Lce,
Eéi‘ z| =22 |5]e2s.63 | o381 |207.94 |1000.00f 412,00 |Lcz,
- S 6 |107.00 |107.85 |217.80 | 1000.00] 412.00 |6,
an= | 1 A 7 | 28.92 |124.70 |345.52 | 1000.00 302.00 |Lc2,
gxd | = B 9 [164.79 |228.67 |241.10 |1000.00] 692.00 |LC2,
= |4 A 10| 16.24 |161.00 [363 48 [1000.00[ 392,00 |Lcz,
Hil | & ot 12 [117.47 |133.30 |281.22 |1000.00] 662.00 |LCt,
2) Lt
HA45HE 5 i
e 2 QHE | Bt | = HD
KN.m KN kN mm ]
Tk = 1 [75.70 |26.34 | 4653 [1000.00] 30200
of’\; ﬁ =2 | 2| 1,37 [|s6.19 | 7.64 [1000.00] 302.00
o g= 3| 76.45 |ae.06 |58.38 [1000.00] 392.00
j | EE 4 |105.65 [124.04 | 20,43 |1000.00] 412.00
féi‘ z| =22 |5 244 |o3.80 | 6.98 [1000.00] 412.00
= s 6 |101.00 [107.85 | 11.88 [1000.00] 412.00
= | 1 e 7| 13.23 [i24.70 | 3.87 |1000.00] s02.00
i B 9 [123.95 [140.39 | 5.93 [1000.00] 692,00
o= | 4 i 10| 18.61 |1e4.51 | 21.78 |1000.00] 802.00
Hi | & [o=] 12 [117.47 |133.30 | 45.13 |1000.00] 692.00
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n
(2
(g
)
=
El

1) 2sams (k. m)
DE ElE AEA T Al EEFIEE
E 3= ] 7.41 78.79 78.79 +
e ] z=o2 o] =077 8.79 260.77 +

4l == 3| 7.0 79.64 79.64 =
E B= 4| B0z 140.51 140.51 =
_OQHL al =22 [s5] =06 28.63 259.63 +
- 2 e= 6| 83.85 101.00 101.00 +
= | 1 A= 7| eraes 28.92 274.95 =
=M= o= 9 140.74 164.79 184.79 -
o= | | a=  |1o| 276.01 16.34 276.01 -
gy |2 5= 2| 4040 117.47 140.46 =
2) e (kN)
== ElES A T Al EEFIEE
; 5= 1| sear0 36.34 32470
A T
e gor [e] e 56. 19 86.27
U o= 3| se4.80 59.76 32480
1 5= 4| 358.28 256.23 358.29
féﬁj al =22 |s| e 93.81 93.81
- 2 o= 6| 358.28 107.85 358.28
o= | 1 P 7| 2627 124.79 124.79
w31 |2 o= 9| 18080 228.67 228.67
o= | a2 [ o540 161.09 161.09
gy |&[ 3= [12] 180.28 133.30 180.23
3) =3 (kN)
= ERE] AEA FEL EEET
E = 1| e0s.88 300.68 608.68
= 2 zoz [of sms.11 333.56 506.11
L = 3| e08.97 405.63 608.97
: 3= 4| st 258. 14 521,30
:gfﬂ al za= [s] w2 207.84 463.28
a 2 o= 6| set.a0 217.30 521.30
5= | 1 = 7| 79z 345.52 719.23
gy |z 3= a| 6.8 241.10 675.16
o= | a= || 77 363.48 719.57
sy |2 == [i12] emee 291 22 675.52
4) MBIZME (kN.m)
Se ERE ALA EI m=ar | b
: B 1 480 4.50
&% |z =22 [2] woese 192.69
oz | S ——
A EEE 3| 4.0 4.80
NE 5= 4| s6.08 56.28
S|z == 5] s 185 45
- 4 e= 6| 86.46 56.46
= | A 7| 1960 196.39
sy |s 5= 9| 10053 100.53
e= | a= [ 1975 197.15
HA | = o2 12 100.33 100.33




a %
9HdE 9 A2F 4HA
(1) =82 Q9
req'd use'd
b d Mu (ol )}
= =1 SR As BAR As | S.F
mm mn kN.m kN.m | mm? mm?
At = 1 1000 292 78.79 | 211.98 | 813.3 H19 - 8.0FA 2202.0] 2.69
=
= 1
at = S 2 1000 292 | 269.77 | 353.75| 2982.8| H25 - 8.0FA | 4053.6 ] 1.31
X 2t
i o= 3 1000 292 79.64 | 211.98 | 822.4 H19 - 8,0FA 2202.0| 2.66
&t = 4 1000 312 140 .61 | 227.57 | 1377 .6 H19 - 8.0FA 2292.0] 1.62
=
e 1
= & =2F 5 1000 312 259,631 381,32 | 2642.5 H25 - 8,0FA 4053.6 | 1.47
2l 2t
= = 6 1000 312 101.00 | 227.57 | 978.9 H19 - 8.0FA 22920 2.25
i 1 s 7 1000 202 | 274,95 353.75| 3046.4| H25 - 8.0FA | 4053.6| 1.29
o =} =
;“ = o= 9 1000 592 164.79 | 445.77 | 828.8 H19 - 8.0FA 22020 2.1
[}
; 1 A= 10| 1000 292 276.01 1 353.75 | 3059.5 H25 - 8.0FA 4053.6] 1.28
[ =} =
;“ = gt 12| 1000 597 140.46 | 445.77 | 705.2 H19 - 8.0FA 2292.0] 38.17
(2) dctaz Qo
req'd use'd
" Ve vu ovn | Ciel= s
0 L ne | oan ps | w D
kN kN kN EA mm? mm mm?
af 9 A= 1 189.7 | 324.7 | 421.62| 4.00 | 462.47 H16 300 794 .4 0.K
=
a = SAR 2| 189.7 86.3 | 189.66| 4.00 = H16 300 794 .4 0.K
%l s = 3| 189.7 | 324.8 | 421.62| 4.00 |462.81 H16 300 794 .4 0.K
St q &= 4 | 202.6 | 358.3 | 450.50 ] 4.00 | 498.85 H16 300 794 .4 0.K
=
l = =42 5| 202.6 93.8 | 202.65] 4.00 - H16 300 794 .4 0.K
24 2 f= 6| 202.6 | 358.3 | 450.50| 4.00 | 498.81 H16 300 794 .4 0.K
Ji il AL 7| 189.7 | 124.8 | 189.66| 4.00 = H16 300 794 .4 0.K
;1 = o= g | 384.5 ] 228.7 | 384.52| 4.00 = H16 300 794 .4 0.K
; 1 A2 10| 189.7 | 161.1 | 189.66| 4.00 o H16 300 794 .4 0.K
;1 = ot 12| 384.5 | 180.2 | 384.52| 4.00 = H16 300 794 .4 0.K
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HHHE 2 EHOHE

fok = 27 WPa, fy = 400 WPa, ki1 =0.85, &f =0.85, ®v =0.75
B(mm) H{mm) d(mm) I = (mm) Mu (KN . m) Vu(kN)
1000.0 392.0 202.0 100.0 78.8 34,7

LA (@) oA

T=As x fy = 2292.0 x 400 = 916800 N

=08 xfck xaxb=0.8 27 xax 10000 = 22950 x a
T=CO0E2=Z,a= 3.9 m,c= 399 / p1= 39.9 / 0.85 = 47.0  mm
gy = fy / Es = 400 / 200000.00 = 0,0020

€1 =0.003 x (dt - ¢) / ¢ =0.003 x ( 292.0 - 4.0 )/ 4.0 = 0.01564

et = 0.00500 0|12= QUMAIBHEHHOICI, @ = 0.85 S HEECH

Ll ME
Mu/ @ =As x fy x (d-a/2) ———————————— (@D
a=Asx fy [/ (0.85 x fck x b) ——————— @
AR@E A0 CHYotH 0IXLBASZ AsE ATHCH
fy 2 Mu
As® - fy xdx As + = 0, As =813.3 mm?
2x0.85x fck xb 0]
AMEEZZ = 2202.0 m® , [AMEE = 2.82 ]
LI H 19 - 80 EA (= 2202.0 m® )
EHJHl 2 &
omin : 1.4/ fy = 0.0035
0.25 «/fck / fy = 0.00325 , pomin = 0.0085 H=
pmax = 0.714 x Pb = 0.714 x k1 x ®x (fck / fy) x {600 / (600 + fy)} 0.02089
puse = As / bd = 0.00785
pmax = puse Zpmin — EZH 2rF, 0K
o Oist 25
®hn = 0,85 x 2292.0 x 400 x { 292.0 - a/2) = 211,98 KkN.m
;a=Asx fy / (0.85 x fck x b) 39.9 mm
=2 MW 0K [PHEE = 2.69 ]

Y CHEr Z2E (d =292 mm)
®Ve =0.75/6 x Y fek x b x d

=0.75/6 x {27 x 1000.00 x 292 = 189.7 K
Vu = 324.7 kN
dVe < Vu, HHEL 28
Av_req =1 324.7 - 189.7 ) %x 300/ (@ x 400 x 292 ) x 1000 = 462.5 mn’
Avuse = 7944 m® (D16 - 4 EA, C.T.C 300 mm)
Vs = 7944 x 400 x 292 [ 300 x 1000 = 309.3 kN
Vs Max = 2/3 x 4 27 / 3 x 1000.00 x 292 x 1000 = 1011.56 kN = Vs S 0K
®Vn = 0.75 x ( 252.9 + 309.3 )= 4216 = Vu e 0LK
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m TITLE @ A20tX 2 S5
* CHHHE L AH0tA
fck = 27 WMPa, fy = 400 MPa, k1 =0.85 Of =0.85, ®v =0.75
B(mm) H(mm) d(mm) 11 = (mm) Mu (KN, m) Vu(kN)
1000.0 392.0 292.0 100.0 269.8 86.3
* AT AN (o) AA
T=~As x fy =4053.6 x 400 = 1621440 N
C=0.8xfckxaxb=085 27 xax 1000.0 = 22050 x a
T=C02%,a= 7.7 mm,¢c= 70.7 [/ B1= 707 / 0.85 = 83.1 mm
ey ="fy [/ Es = 400 / 200000.00 = 0.0020
st =0,003 x (dt -¢) / ¢ =0.003 x { 292.0 - 83.1 )/ 8.1 = 0.00754
gt = 0.00500 0|22 QIATIUHHHOIH, @ = 0.85 E HESICY.

» WeEd MA
Mu / @ =As x fy x (d - a/2) ——————————— @D
a=Asxfy /(0.8 x fck xb) -—————— @
A@E MDY Yot CIXHEACZ AsE 2ot
Ty 1? Mu
— As? - fy xdxAs+ = 0, As = 2982.8 mm®
2x0.85x fck xb ]
* AMsEle 4053.6 mm® |, [AMEE = 1.36 ]
Lz H 25 = 8.0 EA (= 4053.6 mn® )
*» EdH ZE
pmin : 1.4/ fy = 0.0035
0.25 y/fck / fy = 0.00325 , omin = 0.0085 &
pmax = 0.714 x Pb = 0.714 x k1 x ®x {(fck / fy) x {600 / (600 + fy)} 0.02089
puse = As / bd = 0.01388
pmax = puse 2 pmin — HF2H 2E, 0K
* 20 et HE
OMn = 0.85 x 4053.6 x 400 x ( 292.0 - a/2) = 353.75 KN.m
;a=As x fy / (0.85 x feck x b) 70.7 mm
= My - 0K [GHEE = 1.31 ]
* HTO CHEt 25 (d =292 nm)
®Ve = 0.75/6 x v fek x b x d
=0.75/6 x 427 x 1000.00 x 292 = 189.7 KN
Vu = 86.3 kN
OVe = Vu , MHEZ 22HQ
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m TITLE : AR0IAE(2S)
* CHHHE L AH0tA
fck = 27 WMPa, fy = 400 MPa, k1 =0.85 Of =0.85, ®v =0.75
B(mm) H(mm) d(mm) 11 = (mm) Mu (KN, m) Vu(kN)
1000.0 392.0 292.0 100.0 79.6 324.8

C YTUAN (@) ME
X1y

T=~As x fy =2202.0 x 400= 0916800 N

C=08xfok xaxb=0.8 2/ xax 10000 = 22950 x a
T=CO0EB=,a= 3.9 m,c= 3.9 / pt= 399 /0.85 = 47.0  mm
ey="fy [ Es = 400 / 200000,00 = 0.0020

gt =0.003 x (dt -¢) /¢c=0.0083x (2020 - 4.0 )/ 4.0 = 0.01564
et = 0.00600 0|2= QIAXIGHEIRIO0IH, @ = 0.85 S HESH(S.

» WeEd MA
Mu / @ =As x fy x (d - a/2) s ()
a=Asx fy /(0.8 x fck xb) -—————— @
A@E MDY Yot CIXHEACZ AsE 2ot
Ty 1? Mu
As® - fy xdxps+ = 0, As =824 mn
2x0.85x fck xb ]
x AP2EI22 = 2202.0 mm® |, [AI=RE = 2.79 ]
Lz H 19 - 8.0 EA (= 22020 m® )
*» EdH ZE
pmin : 1.4/ fy = 0.0035
0.25 y/fck / fy = 0.00325 , omin = 0.0085 &
pmax = 0.714 x Pb = 0.714 x k1 x ®x {(fck / fy) x {600 / (600 + fy)} 0.02089
puse = As / bd = 0.00785
pmax = puse 2 pmin — HF2H 2E, 0K
* 20 et HE
OMn = 0.85 x 2292.0 x 400 x ( 292.0 - a/2) = 211.98 KkN.m
;a=As x fy / (0.85 x fck x b) 39.9 mm
> M 0K [RHEE = 2.66 ]

* MY ChEt 2= (d =292 mm)
dVe = 0.75/6 x y fck x b x d

=0.75/6 x ¥ 27 x 1000.00 x 292 = 189.7 KN
Vu = 324.8 kN
Ve < Vu, HEER e
Avreq=1( 3248 - 189.7 ) x 300/ (@ x 400 x 292 ) x 1000 = 462.8 mn’
Av_use = 7944 m® (D16 - 4 EA, C.T.C 300 mm)
Vs = 7944 x 400 x 202 [ 300 x 1000 = 309.3 kN
Vs Max = 2/3 x 4 27 / 3 x 1000.00 x 292 x 1000 = 10115 kN = Vs . 0.K
OVn = 0.75x (2629 + 309.3 )= 4216 = vVu .. 0K
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® TITLE : StEZUE(ES)
* CHHHE L AHItA

fck = 27 WMPa, fy = 400 MPa, k1 =0.85 Of =0.85, ®v =0.75
B(mm) H(mm) d(mm) 11 = (mm) Mu (KN, m) Vu(kN)
1000.0 412.0 312.0 100.0 140.5 358.3

dedad=(o) &4
x 1y

T=~As x fy =2202.0 x 400= 0916800 N

C=08xfck xaxb=0.8 2/ xax 10000 = 22050 x a
T=CO0EB=,a= 3.9 m,c= 3.9 / pt= 399 /0.85 = 47.0  mm
ey="fy [ Es = 400 / 200000,00 = 0.0020

gt =0.003 x (dt -¢) /¢c=0.08x (3120 - 4.0 )/ 4.0 = 0.01692

€t = 0.00500 0|22 QIEXIBHEHHOICI, @ = 0.85 & HESIL.

» WeEd MA
Mu / @ =As x fy x (d - a/2) s ()
a=Asx fy /(0.8 x fck xb) -—————— @
A@E MDY Yot CIXHEACZ AsE 2ot
Ty 1? Mu
As® - fy xdx ps+ = 0, As = 1377.6 mm?
2x0.85x fck xb ]
* AEEI2 = 22020 m® , [AEE = 1.66 ]
Lz H 19 - 8.0 EA (= 22020 m® )
*» EdH ZE
pmin : 1.4/ fy = 0.0035
0.25 y/fck / fy = 0.00325 , omin = 0.0085 &
pmax = 0.714 x Pb = 0.714 x k1 x ®x {(fck / fy) x {600 / (600 + fy)} 0.02089
puse = As / bd = 0.00735
pmax = puse 2 pmin — HF2H 2E, 0K
* 20 et HE
OMn = 0.85 x 2292.0 x 400 x ( 812.0 - a/2) = 227.57 KN.m
;a=As x fy / (0.85 x fck x b) 39.9 mm
> M 0K [RHEE = 1.62 ]

» HEY

et ZE (d =312 mm)
®Ve = 0.75/6 x Vfek x b x d

=0.75/6 x {27 x 1000.00 x 312 = 202.6 KN
Yu = 358.3 kN
dVe < Vu, HHEd 28
Av_req =1 358.3 - 2026 ) %300/ (@ x 400 x 312 ) x 1000 = 498.8 mn’
Avuse = 7944 m® (D16 - 4 EA, C.T.C 300 mm)
Vs = 794.4 x 400 x 312 [/ 300 x 1000 = 330.5 kN
Vs Max = 2/3 x 4 27 / 3 x 1000.00 x 312 x 1000 = 1080.8 kN = Vs .. 0K
®Vn = 0.75 x ( 270.2 + 3305 )= 450.5 = Vu e DK
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® TITLE : StEsclE 5245
* CHHHE L AH0tA

fck = 27 WMPa, fy = 400 MPa, k1 =0.85 Of =0.85, ®v =0.75
B(mm) H(mm) d(mm) 11 = (mm) Mu (KN, m) Vu(kN)
1000.0 412.0 312.0 100.0 259.6 93.8

YT AATE(0) ME
X1y

T=~As x fy = 4063.6 x 400 = 1621440 N

C=08 xfok xaxb=0.8 2/ xax 10000 = 22950 x a
T=C0B=,a= 70.7 mm, c= 70.7 / Bp1= 70.7 /0.85 = 83.1 mm
ey="fy [ Es = 400 / 200000,00 = 0.0020

gt =0.003 x (dt -¢) / ¢c=0.003 x (3120 - 8.1 )/ 83.1 = 0.00826
et = 0.00600 0|2= QIAXIGHEIRIO0IH, @ = 0.85 S HESH(S.

» WeEd MA
Mu / @ =As x fy x (d - a/2) ——————————— @D
a=Asxfy /(0.8 x fck xb) -—————— @
A@E MDY Yot CIXHEACZ AsE 2ot
Ty 1? Mu
— As? - fy xdxAs+ = 0, As = 2642.5 mm®
2x0.85x fck xb ]
x AI2E 22 = 4053.6 mm® |, [AI=RE = 1.53 ]
Lz H 25 = 8.0 EA (= 4053.6 mn® )
*» EdH ZE
pmin : 1.4/ fy = 0.0035
0.25 y/fck / fy = 0.00325 , omin = 0.0085 &
pmax = 0.714 x Pb = 0.714 x k1 x ®x {(fck / fy) x {600 / (600 + fy)} 0.02089
puse = As / bd 0.01299
pmax = puse 2 pmin — HF2H 2E, 0K
* 20 et HE
OMn = 0.85 x 4053.6 x 400 x ( 312.0 - a/2) = 381.32 KkN.m
;a=As x fy / (0.85 x feck x b) 70.7 mm
= My - 0K [GHEE = 1.47 ]
* M CHE 2= (d =812 mm)
dVe = 0.75/6 x y fck x b x d
=0.75/6 x V27 x 1000.00 x 312 = 202.6 kN
Vu = 93.8 kN
Ve = Vu A2 =22R
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m TITLE : StESUE(RS)
* CHHHE L AHItA

fck = 27 WMPa, fy = 400 MPa, k1 =0.85 Of =0.85, ®v =0.75
B(mm) H(mm) d(mm) 11 = (mm) Mu (KN, m) Vu(kN)
1000.0 412.0 312.0 100.0 101.0 358.3

dedad=(o) &4
x 1y

T=~As x fy =2202.0 x 400= 0916800 N

C=08xfck xaxb=0.8 2/ xax 10000 = 22050 x a
T=CO0EB=,a= 3.9 m,c= 3.9 / pt= 399 /0.85 = 47.0  mm
ey="fy [ Es = 400 / 200000,00 = 0.0020

gt =0.003 x (dt -¢) /¢c=0.08x (3120 - 4.0 )/ 4.0 = 0.01692

€t = 0.00500 0|22 QIEXIBHEHHOICI, @ = 0.85 & HESIL.

» WeEd MA
Mu / @ =As x fy x (d - a/2) s ()
a=Asxfy /(0.8 x fck xb) -—————— @
A@E MDY Yot CIXHEACZ AsE 2ot
Ty 1? Mu
As® - fy xdx ps+ = 0, As =978.9 mm
2x0.85x fck xb ]
* AEEI2 = 22020 m® , [AEE = 2.34 ]
Lz H 19 - 8.0 EA (= 22020 m® )
*» EdH ZE
pmin : 1.4/ fy = 0.0035
0.25 y/fck / fy = 0.00325 , omin = 0.0085 &
pmax = 0.714 x Pb = 0.714 x k1 x ®x {(fck / fy) x {600 / (600 + fy)} 0.02089
puse = As / bd = 0.00735
pmax = puse 2 pmin — F2H pHE, 0K
* 20 et HE
OMn = 0.85 x 2292.0 x 400 x ( 812.0 - a/2) = 227.57 KN.m
;a=As x fy / (0.85 x fck x b) 39.9 mm
> M 0K [RHEE = 2285 ]

» HEY

et ZE (d =312 mm)
®Ve = 0.75/6 x Vfek x b x d

=0.75/6 x {27 x 1000.00 x 312 = 202.6 KN
Yu = 358.3 kN
dVe < Vu, HHEd 28
Av_req =1 358.3 - 2026 ) %300/ (@ x 400 x 312 ) x 1000 = 498.8 mn’
Avuse = 7944 m® (D16 - 4 EA, C.T.C 300 mm)
Vs = 794.4 x 400 x 312 [/ 300 x 1000 = 330.5 kN
Vs Max = 2/3 x 4 27 / 3 x 1000.00 x 312 x 1000 = 1080.8 kN = Vs .. 0K
®Vn = 0.75 x ( 270.2 + 3305 )= 450.5 = Vu e DK
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® TITLE : ESHA AR
* CHHHE L AH0tA

fck = 27 WMPa, fy = 400 MPa, k1 =0.85 Of =0.85, ®v =0.75
B(mm) H(mm) d(mm) 11 = (mm) Mu (KN, m) Vu(kN)
1000.0 392.0 292.0 100.0 275.0 124.8

YT AATE(0) ME
X1y

T=~As x fy = 4063.6 x 400 = 1621440 N

C=08 xfok xaxb=0.8 2/ xax 10000 = 22950 x a
T=C0B=,a= 70.7 mm, c= 70.7 / Bp1= 70.7 /0.85 = 83.1 mm
ey="fy [ Es = 400 / 200000,00 = 0.0020

gt =0.003 x (dt ~¢) / ¢c=0.003 x (202.0 - 8.1 )/ 83.1 = 0.00754
et = 0.00600 0|2= QIAXIGHEIRIO0IH, @ = 0.85 S HESH(S.

» WeEd MA
Mu / @ =As x fy x (d - a/2) ——————————— @D
a=Asxfy /(0.8 x fck xb) -—————— @
A@E MDY Yot CIXHEACZ AsE 2ot
Ty 1? Mu
— As? - fy xdxAs+ = 0, As = 3046.4 mm®
2x0.85x fck xb ]
x AI2E 22 = 4053.6 mm® |, [AI=RE = 1.33 1]
Lz H 25 = 8.0 EA (= 4053.6 mn® )
*» EdH ZE
pmin : 1.4/ fy = 0.0035
0.25 y/fck / fy = 0.00325 , omin = 0.0085 &
pmax = 0.714 x Pb = 0.714 x k1 x ®x {(fck / fy) x {600 / (600 + fy)} 0.02089
puse = As / bd = 0.01388
pmax = puse 2 pmin — HF2H 2E, 0K
* 20 et HE
OMn = 0.85 x 4053.6 x 400 x ( 292.0 - a/2) = 353.75 KN.m
;a=As x fy / (0.85 x feck x b) 70.7 mm
= My - 0K [GHEE = 1.290 ]
* HTO CHEt 25 (d =292 nm)
dVe = 0.75/6 x y fck x b x d
=0.75/6 x ¥ 27 x 1000.00 x 292 = 189.7 KN
Vu = 124.8 kN
OVe = Vu , MHEZ 22HQ
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® TITLE : E=HA o8
* CHHHE L AH0tA

fck = 27 WMPa, fy = 400 MPa, k1 =0.85 Of =0.85, ®v =0.75
B(mm) H(mm) d(mm) 11 = (mm) Mu (KN, m) Vu(kN)
1000.0 692.0 592.0 100.0 164.8 228.7

YT AATE(0) ME
X1y

T=~As x fy =2202.0 x 400= 0916800 N

C=08xfok xaxb=0.8 2/ xax 10000 = 22950 x a
T=CO0EB=,a= 3.9 m,c= 3.9 / pt= 399 /0.85 = 47.0  mm
ey="fy [ Es = 400 / 200000,00 = 0.0020

gt =0.003 x (dt -¢) / ¢c=0.003 x (592.0 - 4.0 )/ 4.0 = 0.03479
et = 0.00600 0|2= QIAXIGHEIRIO0IH, @ = 0.85 S HESH(S.

» WeEd MA
Mu / @ =As x fy x (d - a/2) ——————————— @D
a=Asx fy /(0.8 x fck xb) -—————— @
A@E MDY Yot CIXHEACZ AsE 2ot
Ty 1? Mu
— As? - fy xdxAs+ = 0, As =828.8 mm®
2x0.85x fck xb ]
x AP2EI22 = 2202.0 mm® |, [AI=RE = 2.77 1]
Lz H 19 - 8.0 EA (= 22020 m® )
*» EdH ZE
pmin : 1.4/ fy = 0.0035
0.25 y/fck / fy = 0.00325 , omin = 0.0085 &
pmax = 0.714 x Pb = 0.714 x k1 x ®x {(fck / fy) x {600 / (600 + fy)} 0.02089
puse = As / bd = 0.00387
pmax = puse 2 pmin — HF2H 2E, 0K
* 20 et HE
OMn = 0.85 x 2292.0 x 400 x ( 592.0 - a/2) = 445,77 KN.m
;a=As x fy / (0.85 x fck x b) 39.9 mm
= My - 0K [GHEE = 22 |
* MO CHEt 2= (d =496 mm)
dVe = 0.75/6 x y fck x b x d
=0.75/6 x 27 x 1000.00 x 496 = 322.2 KN
Vu = 228.7 kN
Ve = Vu 2 22R
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® TITLE : 2=
* CHEHE L

fck = 27 WMPa, fy = 400 MPa, k1 =0.85 Of =0.85, ®v =0.75
B(mm) H(mm) d(mm) 11 = (mm) Mu (KN, m) Vu(kN)
1000.0 392.0 292.0 100.0 276.0 161.1

dedad=(o) &4
x 1y

T=~As x fy = 4063.6 x 400 = 1621440 N

C=08 xfok xaxb=0.8 2/ xax 10000 = 22950 x a
T=C0B=,a= 70.7 mm, c= 70.7 / Bp1= 70.7 /0.85 = 83.1 mm
ey="fy [ Es = 400 / 200000,00 = 0.0020

gt =0.003 x (dt ~¢) / ¢c=0.003 x (202.0 - 8.1 )/ 83.1 = 0.00754

€t = 0.00500 0|2= QIEHXIBHEHOIC, @ = 0.85 & HESIC.

» WeEd MA
Mu / @ =As x fy x (d - a/2) ——————————— @D
a=Asx fy /(0.8 x fck xb) -—————— @
A@E MDY Yot CIXHEACZ AsE 2ot
Ty 1? Mu
As® - fy xdxps+ = 0, As = 3059.5 mm?
2x0.85x fck xb ]
* AMsEle 4053.6 mm® |, [AMEE = 1.32 ]
Lz H 25 = 8.0 EA (= 4053.6 mn® )
*» EdH ZE
pmin : 1.4/ fy = 0.0035
0.25 y/fck / fy = 0.00325 , omin = 0.0085 &
pmax = 0.714 x Pb = 0.714 x k1 x ®x {(fck / fy) x {600 / (600 + fy)} 0.02089
puse = As / bd = 0.01388
pmax = puse 2 pmin — HF2H 2E, 0K
* 20| CHEH HE
OMn = 0.85 x 4053.6 x 400 x ( 292.0 - a/2) = 353.75 KN.m
;a=As x fy / (0.85 x feck x b) 70.7 mm
= My - 0K [GHEE = 1.28 ]
* MY ChEt 2= (d =292 mm)
dVe = 0.75/6 x y fck x b x d
=0.75/6 x ¥ 27 x 1000.00 x 292 = 189.7 KN
Vu = 161.1 kN
OVe = Vu , MHEZ 22HQ

- 197 -



® TITLE : 2= ot
* CHHHE L AH0tA

fck = 27 WMPa, fy = 400 MPa, k1 =0.85 Of =0.85, ®v =0.75
B(mm) H(mm) d(mm) 11 = (mm) Mu (KN, m) Vu(kN)
1000.0 692.0 592.0 100.0 140.5 180.2

YT AATE(0) ME
X1y

T=~As x fy =2202.0 x 400= 0916800 N

C=08xfok xaxb=0.8 2/ xax 10000 = 22950 x a
T=CO0EB=,a= 3.9 m,c= 3.9 / pt= 399 /0.85 = 47.0  mm
ey="fy [ Es = 400 / 200000,00 = 0.0020

gt =0.003 x (dt -¢) / ¢c=0.003 x (592.0 - 4.0 )/ 4.0 = 0.03479
et = 0.00600 0|2= QIAXIGHEIRIO0IH, @ = 0.85 S HESH(S.

» WeEd MA
Mu / @ =As x fy x (d - a/2) ——————————— @D
a=Asx fy /(0.8 x fck xb) -—————— @
A@E MDY Yot CIXHEACZ AsE 2ot
Ty 1? Mu
— As? - fy xdxAs+ = 0, As =705.2 mm®
2x0.85x fck xb ]
x AP2EI22 = 2202.0 mm® |, [AI=RE = 3.25 ]
Lz H 19 - 8.0 EA (= 22020 m® )
*» EdH ZE
pmin : 1.4/ fy = 0.0035
0.25 y/fck / fy = 0.00325 , omin = 0.0085 &
pmax = 0.714 x Pb = 0.714 x k1 x ®x {(fck / fy) x {600 / (600 + fy)} 0.02089
puse = As / bd = 0.00387
pmax = puse 2 pmin — HF2H 2E, 0K
* 20 et HE
OMn = 0.85 x 2292.0 x 400 x ( 592.0 - a/2) = 445,77 KN.m
;a=As x fy / (0.85 x fck x b) 39.9 mm
= My - 0K [GHEE = 3.17 ]
* MO CHEt 2= (d =496 mm)
dVe = 0.75/6 x y fck x b x d
=0.75/6 x 27 x 1000.00 x 496 = 322.2 KN
Vu = 180.2 kN
Ve = Vu He2d 2ER
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Y. s83Z HE
1) AR 1 5=
@  BReq's As = B X H x 0.0020 (< 1800 m® )[2.4 5.7.2]
= 1000 X 392 x 0.0020 = 784.0 mm?
UsedAs = H 19 - 6.7 FA = 1910.0 mm? = 784.0 Yo 105
® Req's As = AE FE2 X 20%
= 2292.0 x 0.20 = 458.4 mm?
S UsedAs = H 19 - 33 FA = 955.0 mm? = 458 4 w 10
2) A201E 8 : BYS
@ BReq's As = B x H x 0,0020 (< 1800 mm?® )[2.4 5.7.2]
= 1000 X 392 x 0.0020 = 784.0 mm?
SoUsedAs = H 19 - 6.7 FA = 1910.0 mm? = 784.0 f 10
@ Req's As = A8 FE2H X 20
= 4053.6 X 0.20 = 810.72 mm?®
S UsedAs = H 19 - 33 FA = 955.0 mm? > 810.7 % 0.
3) HR0IRE 25
@ Req's As = B X H x 0.0020 (< 1800 m? )[2.4 5.7.2]
= 1000 X 392 x 00020 = 784.0 mm®
S UsedAs = H 19 - 6.7 FA = 1910.0 mm? = 784.0 v 10
@ BReqg's As = AR Ao X 20%
= 2292.0 x 0,20 = 458.4 mm®
LUsedAs = H 19 - 33 EBA = 955.0 mm? > 458.4 .
4) BtRE=UE @ &=
@ Req's As = B x H x 0.0020 (< 1800 m® )[=.& 5.7.2]
= 1000 X 412 x 0,0020 = 824.0 mn?
S lUsedAs = H 19 - 6.7 FA = 1910.0 mm? = §24.0 i ol
@ BReq's As = Al FEI™ X 20%
= 2292.0 X 0.20 = 458.40 mm?
SoUsedAs = H 19 - 3.3 FA = 955.0 mm? = 458.4 0,
5) oREdE  EUR
@ HReq's As = B X H x 0.0020 (< 1800 mm® )[2.& 5.7.2]
= 1000 X 412 x 0.0020 = 824.0 mm®
SoUsedAs = H 19 - 6.7 FA = 1910.0 mm® = 824.0 % 1,
@ Req's As = AtE FEIE X 20%
= 4053.6 x 0.20 = 810.7 mm®
S UsedAs = H 19 - 3.3 EA = 955.0 mm® = 810.7 0.
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6) StEENE @ 25
@ Reg's As = B X H x 0.0020 (< 1800 mm* )[2.4 5.7.2]
= 1000 x 412 x 0,0020 = 824.0 mm®
. UsedAs = H 19 - 67 EFA = 1910.0 mm? = 824.0 . 0.K
@ PReq's As = AE FEI2E X 20%
= 2292.0 x 0.20 = 458.4 m?
SolUsedAs = H 19 - 3.3 EA = 955.0 mm? > 458.4 . 0.K
7) E=Hg 0 AR
@ Req's As = B X H x 0.0020 (< 1800 mm® )Y[=.4 11.3(3)]
= 1000 X 392 x 00020 = 784.0 mm®
*“UsedAs = H 19 - 6.7 FA = 1910.0 m? = 784.0 0K
@ Req's As = AIE FTE2 X 20%
= 4053.6 X 0.20 = 810.7 mm?®
. UsedAs = H 19 - 33 FA = 955.0 m? = 810.7 . 0.K
9) A== : otE
@ PBReq's As = B X H x 0,0020 (< 1800 mm® }[2.& 11.3(3)]
= 1000 x 692 x 0,0020 = 1384.0 mm®
“UsedAs = H 19 - 6.7 EFA = 1910.0 m? = 1384.0 0K
@ PReq's As = AE FE2E x  20%
= 2292.0 X 0.20 = 458.4 mm?
SolUsedAs = H 19 - 33 EA = 955.0 mn? > 458.4 0K
10) SSHA 0 AR
@ Req's As = B X H x 0.0020 (< 1800 mm®* )[2=.£ 11.3(3)]
= 1000 x 392 x 0.0020 = 784.0 pmm?
Used As = H 19 - 6.7 FA = 1910.0 mm? = 784.0 QK
® PReq's As = AE TE2Y X 20%
= 4053.6 X 0.20 = 810.7 m?
“UsedAs = H 19 - 3.3 EFA = 955.0 mm® = 810.7  0.K
12) 2=HH : otF
@ Reg's As = B X H x 0.0020 (< 1800 mm® )[Z.& 11.3(3)]
E: 1000 x 692 x 0,0020 = 1384.0 mm®
“UsedAs = H 19 - 6.7 EA = 1910.0 m? = 1384.0 0K
@ PReq's As = AME FEIE x 20%
= 2292.0 x 0.20 = 458.4 m?
. UsedAs = H 19 - 33 EFA = 955.0 mm? = 458.4 . 0.K
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o. A4 (FE) A& (23 E FE2AA7IE -4 6.3.3(4))

(C.T.C. 125mm )

] o5 ] oz | oz | &
; 271 9% (E;m)o‘ CIEAIRE DY i A f[Hnm) jﬂ% S.F
. a= (1] oo H19 - 8.0FA 125 7816.810 | ok |60.534
=]
Ot & SHE P 292 H25 - 8.0EA 125 207.870 0.K 1.663
x|z
L

2= 3 292 H19 - 8.0EA 125 7819.689 0.K 62 .558
_ g= |4 a2 H19 - 8.0FA 125 683.118 | 0.k | 5.465
2
=
=& =AU 5 312 H25 - 8.0EA 125 256.521 0.K 2.052
o | 2t
=

2= 6 312 H19 - 8.0EA 125 680,348 0.K 5.443
= AREt I 292 H25 - 8 .0EA 125 199.832 0.K 1.599
=
o | =
7| ot& o] 592 H19 - 8.0EA 125 763.206 0.K 6.106
F e 10 292 H25 - 8.0EA 125 198.219 0.K 1.586
=| 1
| =
2 CER PY H19 - 8.0FA 125 765.178 | ok | e6.121
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1) &=0tx|=

® 58 &

X
=

fs = M/[As x (d - x/3)] = 4.9 X 10M / 12292.0 x ( 292.0 - 8.1 [ 3)]
= 8.06 Mpa
x = -nAs/b + nAs/b+ [1 + 2bd/(nAs)]
== 7 x 22920 / 1000 + 7 x 2202.0 / 1000
x AL+ 2% 1000 x 2020 J( 7 x 2292.0 )]
= 82.1 mm
MEEIZ = 2202.0 mm® (E2T4 0 100.0 m)
1&H @ H19 - 8.0FA
@ 22 I =42t
Cc= 100.0 - 19 /2= 90.50 mm
HIIM Co i CIREZOILE 2EIE EHY 2H2E EHAOE S (mm)
Smin : 375 x (210/fs) - 2.5 x Cc = 375 x (210, 8.06 ) - 2.5 90.50 = 9544.76 nm
300 x (210 / fs) = 300 x (210 ; 8.06 ) = 7816.81 mm
Sa= &2 g2 7816.81mm E EE
S =1000.00 ; 8.00 Ea-= 125,00 < Sa (= 7816.8 mm) ~ 0.K
2) MAROIXE SR
® 89 oA
fs = W/ [As x (d - x/3)] = 192.7 x 10°6 / 14063.6 x ( 292.0 - 103.4 [/ 3)]
= 184.59 Mpa
X = -nAs/b + nAs/by [1 + 2bd/(nAs)]
=- 7 x 4053.6 / 1000 + 7 x 4053.6 / 1000
x NI(1+2x 1000 x 2920 /( 7 x 4053.6 )]
= 103.4  mm
AMEEIZ = 4053.6 mm® (EZT4A 0 100.0 mm)
1 @ H25 - 8.0EA
@ =22 =M B42HH
Cc = 100.0 - 25 /2= 87.50 mm
HIIM Cc ; QAEIZ0ILE 2 &2 S 23J2E ZHAR0IS S H (mm)
Smin @ 375 x (210/fs) - 2.5 x Cc = 375 x (210;184.59 ) - 2.5 x 87.50 = 207.87 nm
300 x (210 / fs) = 300 x (210 ; 184.59 ) = 341.296 mm
Sa= &2 g2 207.87 nm E HE
Fa = 125.00 < Sa (= 207.9 mm) - LK

9 =

1

000.00 ; 8.00
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O 22 AR

fs = M/[As x (d - x/3)] = 4.9 x 1076 / 12292.0 x ( 292.0 -
= 8.06  Mpa

X = -nAs/b + nAs/b+ [1 + 2bd/(nAs)]
=- 7 x 22020 / 1000 + 7 x 2202.0 / 1000

¥ NI(1+2x% 1000 x 2920 J( 7 x 2292.0 )]

= 82.1 mm
AP2EIZ = 22020 m® (2254 @ 100.0 mm)

1% H19 - 8.0EA

@ #22 z0 S42HH
Cc= 100.0 - 19 /2= 90.50 mm
HIIM Co 3 CIEEIAO0ILE A& HEHY 2HUE HHAMOIE SH (mm)
Smin @ 375 x (210/fs) - 2.5 x Cc = 375 x (210; 8.06 ) - 2.5 x R
300 x (210 / fs) = 300 x (210 ; 8.06 ) = 7819.69 mm
SaE A2 g0 7819.69 m E NE
S =1000.00 ; 8.00 FEa = 125.00 < Sa (= 7819.7 mm)

fs = M/[As x (d - x/38)] = 56.3 x 10%6 / 12292.0 x ( 312.0 -
= 86.60 MWpa
X = -nAs/b + nAs/b+y [1 + 2bd/(nAs)]
== 7 x 22920 [/ 1000 + 7 x 2202.0 / 1000
x 4 [(1+2x 1000 x 3120 /( 7 x 2202.0 )]
= 85.3 mm
AMEBEIZZ = 2202.0 m* (EZ2TA 1 100.0 m)
1%+ @ H19 - 8.0EA

@ #2322 20 sS4zt

Gc = 100.0 - 19 /2= 90.50 mm

G2IA Co 5 PIEEI0ILE 2IEAHS B Z32E EMAMOIS M (mm)

Smin @ 375 x (210/fs) - 2.5 x Cc = 375 x (210, 86.60 ) - 2.5 x 90.50
300 x (210 / fs) = 300 x (210 ; 86.60 ) = 727.495 mm

Saz= A2 gl 683.118mm E HE

$ =1000.00 ; 8.00 Ea = 125,00 < Sa (= 683.1 mm)

- 203 —

82.1

50 =

0K

85.3

~ 0.k

/3]

9548 .36 mm

/3]

683. 118 mm



@ E22 3 242t

Cc = 100.0 - 19 /2 = 90.50 mm

HIIM Cc ; QAEIZ0ILE 2 &2 S 23J2E ZHAR0IS S H (mm)

Smin : 375 x (210/fs) - 2.5 x Cc = 375 x (210, 86.86 ) - 2.5 x 90.50
300 x (210 / fs) = 300 x (210 ; 86.86 ) = 725.278 mm

Sa= X2 g0 680.348 mm E EE

S =1000.00 ; 8.00 Fa = 125.00 < Sa (= 680.3 mm) - LK

204 -

29 4S8
fs = M/[As x (d - x/3)] = 185.5 x 1076 / 14053.6 x ( 312.0 - 107.7 [ 3)]
= 165.70 Mpa
x = -nAs/b + nAs/b+/ [1 + 2bd/(nAs)]
== 7 x 4053.6 / 1000 + 7 x 4053.6 / 1000
x L1+ 2% 1000 x 3120 /( 7 x 40683.6 )]
= 107.7  mm
AMEEIZ = 4053.6 mm® (E2T4 : 100.0 m)
1&H @ H25 - 8.0FA
@ 22 I =42t
Cc= 100.0 - 25 /2= 87.50 m
HIIM Co i CIREZOILE 2EIE EHY 2H2E EHAOE S (mm)
Smin : 375 x (210/fs) - 2.5 x Cc = 375 x (210, 165.70 ) - 2.5 x 87.50 = 256.521 mm
300 x (210 / fs) =300 x (210 ;165.70 ) = 380.217 mm
Sa= &2 ge 256.521mm E EE
S =1000.00 ; 8.00 Ea-= 125,00 < Sa (= 256.5 mm) s DLk
6) StRE=diE 2=
® 89 oA
fs = M/[As x (d - x/3)] = 56.5 x 10%6 / 12282.0 x ( 312.0 - 85.3 [ 3)]
= 86.86 WMpa
X = -nAs/b + nAs/by [1 + 2bd/(nAs)]
=- 7 x 2292.0 [/ 1000 + 7 x 22920 / 1000
x NI +2x 1000 x 3120 /( 7 x 2292.0 )]
= 85.3 mm
AMEEIZ = 2202.0 m® (EZT4 0 100.0 mm)
1%t @ H19 - 8.0EA

680,348 mm



fs = M/[As x (d - x/3)] = 196.4 X 107 / 14053.6 x ( 292.0 - 103.4 /[ 3)]

= 188.14 Mpa
x = -nAs/b + nAs/b+/ [1 + 2bd/(nAs)]

== 7 x 4053.6 / 1000 + 7 x 40536 / 1000

x L1+ 2% 1000 x 2020 /( 7 x 4063.6 )]

103.4 mm

AMEEIZ = 4053.6 mm® (E2T4 : 100.0 m)
11:

= @ H25 - 8.0EA

@ &#2¢& 20 B4t

Cc= 100.0 - 25 /2= 87.50 m

HOIM Go ; QIXMEZ0ILE 21 &g EHD 232 E FHAIZ =H (mm)

Smin : 375 x (210/fs) - 2.5 x Cc = 375 x (210, 188.14 ) - 2.5 x 87.50 = 199.832 mm
300 x (210 / fs) = 300 x (210 ;188.14 ) = 334.866 mm

Sa= A2 g0 199.832 m E E2

S =1000.00 ; 8.00 Ea-= 125,00 < Sa (= 199.8 mm) 0K

fs = MIAs x (d- x/3)]1 = 100,56 x 10%6 / |2292.0 x ( 592.0 - 122.7 [ 3)]
= 79.59 MWpa
X = -nAs/b + nAs/by [1 + 2bd/(nAs)]
=- 7 x 2292.0 [/ 1000 + 7 x 22920 / 1000
x A [(1+2x 1000 x 592.0 J( 7 x 2292.0 )]
= 122.7  mm
AMEEIZ = 2202.0 m® (EZT4 0 100.0 mm)

|
15 1 H19 - 8.0EA

@ E22 3 242t

Cc = 100.0 - 19 /2 = 90.50 mm
HIIM Cc ; QAEIZ0ILE 2 &2 S 23J2E ZHAR0IS S H (mm)
Smin : 375 x (210/fs) - 2.5 x Coc = 375 x (210 79.59 ) - 2.5 x 90.50 = 763.206 mm

(
300 x (210 / fs) = 300 x (210 ; 79.590 ) = 791.565 mm
SaE= A2 @R 763.206mm S HE

S =1000.00 ; 8.00 Fa = 125.00 < Sa (= 763.2 mm) S0k

mr
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fs = M/[As x (d - x/3)] = 197.2 X 107 / 14053.6 x ( 292.0 - 103.4 /[ 3)]

= 188.86 Mpa
x = -nAs/b + nAs/b+/ [1 + 2bd/(nAs)]

== 7 x 4053.6 / 1000 + 7 x 40536 / 1000

x L1+ 2% 1000 x 2020 /( 7 x 4063.6 )]

103.4 mm

AMEEIZ = 4053.6 mm® (E2T4 : 100.0 m)
1&H @ H25 - 8.0FA

@ &#2¢& 20 B4t

Cc= 100.0 - 25 /2= 87.50 m

HOIM Go ; QIXMEZ0ILE 21 &g EHD 232 E FHAIZ =H (mm)

Smin : 375 x (210/fs) - 2.5 x Cc = 375 x (210, 188.86 ) - 2.5 x 87.50 = 198.219 nm
300 x (210 / fs) = 300 x (210 , 188.86 ) = 333.5/5 mm

Sa= A2 g2 198.219m E E2

S =1000.00 ; 8.00 Ea-= 125,00 < Sa (= 198.2 mm) 0K

fs = M/[As x (d - x/8)] = 100.3 x 10° / |2292.0 x ( 592.0 - 122.7 [ 3)]
= 79.43  Mpa

X = -nAs/b + nAs/b~ [1 + 2bd/(nAs)]
=- 7 x 2292.0 [/ 1000 + 7 ox 2920 / 1000

x 4 [(1+2x 1000 x 592.0 /( 7 x 2292.0 )]
= 122.7 m
AMEEDE = 22020 m® (E2=4 : 100.0 mm)

150 0 H19 - 8.0EA

@ B2 x| s42H4

Cc = 100.0 - 19 /2 = 90.50 mm

OJIM Cc 3 SIEEI0IL: 2A&MEY EHY 22I2UE EHAMOIL] ZH (mm)

Smin : 375 x (210/fs) - 2.5 x Cc = 375 x (210, 719.43 ) - 2.5 x 90.50 = 765.178 mm
300 x (210 / fs) =300 x (210 ; 79.43 ) = 793.143 mm

Sa= &2 g2 765.178mm E HE

S =1000.00 ; B8.00 Ea-= 125.00 < Sa (= 765.2 mm) S 0.K
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. 71z AAH

- 2HAE = 155238 / 4.184 = 37.103 kN/m?
- AEHAGE = 218,455 K/m®  (XIBt=9 0 DAl

2) gots
-E2 - 855 = 10.000 KkN/m?

- LHUHRSS = 27.200  kN/m?
(2) 18 XNX™E FE
ZCH A 8t

Qmax = 37.10 + 218.46 + 10.00 + 27.20
= 292.76 kN/m?

2) Xetel i EAHAXIXIZE : Terzaghidl A2
Qu=a cNc+qgNg+ B r1B' Nr

Qu : otE9 BAIS Ot ABtel ZEX R (k)
c i Alble m=i=iE (kN/m )
q T AJHBIE (KN/m? ), g = 12 x Df
ri,r2 TORIAIAIRE 2 Z2URIPY THRAEZ (kN )
Ctgt, Xot=R0IotlHME =SHASSE AIESILE,
B i J2IES =(m)
of @ JIx=9 RE=2Y 2ol(m
a,B D=9 A (HAFLE, o =1+0.38'/L, B=05-0.18"/1)
Nc,Ng,Nr @ XIAIZ2 A==
¢ = 0.000 KkN/m? ri = 11.000 kN/m? r2 = 11.000 KkN/m?
Df = 1.000 m B = 4,184 n q = 11.000 kN/m?
L = 15.000 m
® = 15+ 12N = 39.49 , N= 50
Ng = a® / ( 2cos® (45+®/2) ) = 75.67 ,a=e"[(0.75m-®/2) tan®] = 5.248
Ne = (Ng-1) cot@ = 90.60
Nr = tan®/2 x (Kprfcos® ® - 1) = 87.17

Qu = 1.084 x 0.000 x 90.509 + 11,000 x 75.671 + 0.472 x 11.000 x 4,184 x 88.997
Qu = 1.087 x 0.000 x 00.60 + 11.000 x 75,67
+ 0.4721 x 11,000 x 4,184 x 87.17
= 2726.46  KN/m?
Qa=0Qu /3= 908.82 kN/m B 600.000 kN /m?

Qa' = 600.00 kN/m®* > Qmax = 292.76 KkN/m? 0.K
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33 AFE-HTE

331 U8 #294A AA A+d

7} A A L oF

G- —1—Q©
©— -— @
© @ ®
B = 3=
= Omax (kN) Qu(kN) Qa(kN) gl
&&= 21.576 1383.047 1000, 000 0.K
0 == 2=
o Bl =) BB 22 ) SF Hl 1!
&&= 360.4 457,415 1,269 0.K
B o F &7
b d mi | omn | 799 g
= 2 A AS BAR As SiF
mm ] kN.m | kN.m | om® mn’
- = 11 1000 667 |[579.46]|673.53]2648.10| H22 - 8.0EA |3096.80| 1.16
o
= 1
= = Z=ored 2| 1000 500 |270.91]|374.07]11640.51| H19 - 8.0FA |2292.00] 1.38
2l 2t
=l
2= 3| 1000 667 |5H84,75|673.53]2673.18| H22 - 8.0FA |3096.80] 1.15
H19 - 4 0EA +
It =otg 3
= 1 =EHSF 41 1000 447 |1 249.38|387.87]1697.52 H22 — 4.0EA 2694.40| 1.56
% |5
H gH2 51 1000 667 |518.98|673.53]2362.57 | H22 — 8.0FA |3096.80] 1.30
H19 - 4.0EA +
e =0ty !
= 1 == 61 1000 447 |249.39]387.87]1697.61 H22 - 4.0EA 2694,40| 1.56
= [
T oHe 7| 1000 667 |5b21.48|673.53]2374.35| H22 — 8.0FA |3096.80] 1.29
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|
_ CHed & | =HD 20%
= S S R R = — .
= = HD |2osaz|sssoz| HD
i 3= 1| 1200.0 1986.0 0.K 619.4 1324.7 0.K
==
;’QHT:, = == 2| 1200.0 1086.0 0.K 458 4 13247 0.K
& 2= 3| 1200.0 1986.0 0.K 619.4 1324.7 0.K
= | 4 =k 4| 1093.8 1986.0 0.K 538.9 1324.7 0.K
=H (= 5t 5| 1179.2 2647 .3 0.K 619.4 1324.7 0.K
o= | q =g 6| 1093.8 1986.0 0.K 538.9 1324.7 0.K
g3 (= C 7| 11792 2647.3 0.K 619.4 1324.7 0.K
W ocE2 HE
= i ove | w | ovn |creis] read s | used
-z = As BAR As H o
KN kN kN EA mm’ mm mm?
atl RE= 1| 4e7.1] 119.8 |550.49] 2.00 - H13 | 600 [253.40 | 0.K
=
N sord 2| a87.1| 24.7 |550.49] 2.00 - H13 | 600 | 253.40 | 0.K
alz o= 3| 4e7.1| 113.1]550.49] 2.00 - H13 | 600 | 253.40 | 0.K
i 1 =gk 4| 290.3 | 162.5 |346.87| 2.00 - H13 | 600 | 253.40 | 0.K
|5 GiE 5| 324.8 | 221.6|388.11] 2.00 - H13 | 600 | 253.40 | 0.K
[ sorg 6| 200.3 | 162.5 |346.87] 2.00 - H13 | 600 | 253.40 | 0.K
é = 5t 7| 324.8| 223.7 |388.11] 2.00 - H13 | 600 | 253.40 | 0.K
B a8
(1) 22 AE  (2IRIE FXEHIIE - 614 6.3.3(4))
(C.T.C. 125 um )
= - f5=0| - . 2o | sz | as
= QI A AR E 2f i
= Al (mm) “ (mm) (mm) 274 Bl
8 A= 1 667 H22 - 8.0EA 125 202,560 | 0.k | 1.620
o
211
=2 5= |2 500 H19 - 8.0EA 125 205.415 | 0K | 1.643
2|2t
=)
o= 3 667 He2 - 8.0EA 125 199.350 | 0.k | 1.595
— + =
ER) =22 | 4 447 H19 4;10'3& He2 125 334,933 | 0.k |2.670
=1 :
2| =
Al 5t 5 667 He2 - 8.0EA 125 241250 | 0.k | 1.930
- + -
o zo= |6 447 HI9 = 4.00A + H2e 125 334,833 | 0.k | 2.679
2|4 4.0EA
2ls
| 5t 7 667 H22 - 8.0EA 125 232932 | ok |1.9n
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U, AAZA

-
2H (LS : 20M x 6.0M, AFZH : 907 )

1)
- U

o 4

2) Xist+9l
- GL O ~-4.700 m

3) Wz ¥

-E@223R5(w,) = 24.5 K/m
- & (V) = 28.00 KN/’
- X &= (r,) = 1000 kN/m

4) 229 2

- 23RIE ¥R (fek) = 27 MPa
- 23elE E4H () = 28693 WMPa
- &2 (S0400) (fy) = 400 MPa
- 229 &A= (Es) = 200000  MPa

5) ELHL AIBEE &2 SHASH

D YUSHIEOl ¢St B, Xy, 2 Y 2pHA

- g B (7,) = 19.0 K/m®
-5 (7,,) = 10.0 Ki/m®
6) X&H%

-UESE ¢ IS (REE H= : 1.200)
- AERE 0| 2Y (AE2EH = 1 0.110)
- APEE b

- ENUNLFE

7) E M

- O ZE UREY (1) = 19.0 Kime
-9 £5 ¢9syT  (y,,) = 10.0 Ki/m
- 29 YROEY @ - 0.0

- SO OpEY = 0.0

8) &gy

- YDA SO CHEE (SHE, s, 2,
- slESE ANY : AIBS ZE (HE, 0, B

9) AlZZ2Y SAP2000

10) 2#DE28
- 2delE AXREHDIE. HE v
&

- 20 SHIIE n A
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o

g7k

6.000

£00X500

00,

4.600

aolw zool

8.400

100

100 oi 20.000

21.200

. FEFE
220 g ¢EE Fs = 1.2 (R/B)
SO ChEt OHEIMAl JHAIED SHOEY, SAUXE S85E0S D
1) IS
- otRsdE r 21.200 x 0.600 x 245 311.640 KkN/m
- "N : 0,350 x 6,000 x 24.5 51.450  kN/m
0.250 x 6.000 x 1/2 x 24.5 18.375 kN/m
- B2 0.350 % 6.000 x 24.5 51.450  kN/m
0.250 x 6.000 % 1/2 x 24.5 18.375 kN/m
- Sx 1 0.500 x 0.500 x 1/2 x P2EA x 24.5 6.125  kN/m
LY 457 .415  kN/m
3) 2
U =B x hs x yw(W2JIAM hs=2EXE =0+ 51 I-Xat==H)
= 21.200 < 1.700 x 10.000
= 360,400 KkN/m
4) EAS
R = 457.415 KN/m
Fs =R/ U

= 457,415 / 360.400
= 1.269 > 1.200 ~0K
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oSN Ed 2 g

1) Modsling

2 AXSW 48 Kot HAs BHUHFOE SYF ME0 BIE - UBHUERE
Wetd PEolldE ZZ 1201 SAP20002 Ol 20t 22 BRAE AsSot
SitCt, oifd SEUAM ctEEcES KBl Hote 222 Nlink2azs 2E2
AHO S0 =0T MEotl Q&M= MectAl Rotdl =0l 08 o
L= Hetst= GAP SAS 0I28tH 283 &t
OletzE 2gst JIHe otRsdHES NAREE &
= HE BEF(Beams on Elastic Foundation) Analogy0fl HIES 1 RUCEH.

=g
]
o
0z
H

3

41 ~ 35
l <
=

26 ~ 32

1 2~ 24 25
/D G G G SN G G D S0/ D G G O G G G G G
4277437 447 45" 48" 47" 48" 49" 50" 517 52" 53" 547 55 567 577 58" 597 60" 61 62

3@0 18@1.030=18.540 2@0

@T : ®
® ; @

(D-Cd

s
e

oo

P
%
30 r

T m

O

=
>

HMZ 220 aisdct |g XLz, 1 0ES
Q

5.250

@J@M@ 5@1.050

3

5.250

cthuo 5@1.050

D S S D D D G S0 . S S D D D S0 S D D
@ () @ @ 6 @ @@ &6 @ ® 66 E M

18@1.030=18.540

2) CeHg

NO A (m? ) | (m* ) = M
1 1.100 x 1,000 =1.100 0.11002 1,25,40
2 0.600 x 1.000 = 0.600 0.01800 3~23

3 0.850 x 1.000 = 0.850 0.05118

4 0.579 x 1.000 = 0.579 0.01619 27,40
5 0.569 x 1,000 = 0.569 0.01533 28,39
6 0.525 x 1,000 = 0.525 0.01206 29,38
& 0.481 x 1,000 = 0.481 0.00929 30,37
8 0.438 x 1.000 = 0.438 0.00698 31,36
9 0.394 x 1.000 = 0.394 0.00509 32,35
10 0,350 x 1,000 = 0.350 0.00357 34
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NO Section{Tapper ) = M

11 SEC 1 ~ 2 2

12 SEC 2 ~ 3 24

13 SEC 1~ 4 26

14 SEC 4 ~ 5 27

15 SEC 5 ~ 6 28

16 SEC 6 ~ 7 2

17 SEC 7 ~ 8 30

18 SEC 8 ~ 9 31

19 SEC 9 ~ 10 32

20 SEC 10 ~ 9 33

21 SEC 9 ~ 8 3

22 SEC 8 ~ 7 35

23 SEC 7 ~ 6 36

24 SEC 6 ~ 5 37

25 SEC 5 ~ 4 38

26 SEC 4 ~ 1 39

3) CEHEH
=

H2HES X Z il X P4
1 0.000 0.500 32 20.600 5.750
2 0.300 0.500 33 20.600 6.800
3 0.800 0.500 34 0.000 6.800
4 1.030 0.500 35 0.000 5.750
5 2.060 0.500 36 0.000 4.700
6 3.090 0.500 37 0.000 3.650
7 4,120 0,500 38 0.000 2.600
8 5,150 0,500 39 0.000 1.550
9 6.180 0.500 40 0.000 1.300
10 7.210 0.500 1 0.000 0.800
11 8.240 0.500 42 0.000 0.000
12 9.270 0.500 43 1.030 0.000
13 10. 300 0.500 44 2.060 0.000
14 11.330 0.500 45 3.090 0.000
15 12.360 0.500 46 4.120 0.000
16 13.390 0.500 47 5.150 0.000
17 14.420 0.500 48 6.180 0.000
18 15.450 0.500 49 7.210 0.000
19 16.480 0.500 50 8.240 0.000
20 17.510 0.500 51 9.270 0.000
21 18.540 0.500 62 10.300 0.000
22 19.570 0.500 53 11.330 0.000
23 19.800 0,500 54 12.360 0.000
24 20,300 0,500 55 13.390 0.000
25 20,600 0.500 56 14.420 0.000
26 20,600 0,800 57 15,450 0.000
27 20.600 1.300 58 16.480 0.000
28 20.600 1.550 59 17.510 0.000
29 20.600 2.600 60 18.540 0.000
30 20.600 3.650 61 19.570 0.000
31 20.600 4,700 62 20.600 0.000
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B -1/2
) ) K, =K,,| =
- AEES0 SHE B2 v =Koo| 53
_3/4
BV
- NEES HMEQ E8E0 AS A=Kyl 5 g
B =1
- BEES0| RAE B2 KV=KVO[OV3]
o - Fo o MEEHN e DEA~
Fo - TBte Bt

- LRSS XIERE A2 (Kv)

—3/4
B
Ky =Ky -
0.3
O 21 AL, 1
o = ——xXaxE,
0.3
Fo @ XIEFERSA4 (kN/m® )
a =1
Eo = 2800 x N = 2800 x 20 = 56000.000 kN/m’
By = (B x L) = 4/ (21.200 x 20.000) = 2059 m(L<B)
Kvo = 1/ 0.3 x 1 x 56000 = 186670.00 kN/m®
Ky = 186670.000 x (20.591 / 0.3)*( -3 / 4 ) = 7828.04 KkN/n®
| EHeked ol HooA A ot 248
Ky Kvx (0.600/2 + 1.030/2) = 6380 kN/m 1,25
Kv2 Kvx (1.030/2 + 1.030/2) = 8063 kN/m 422
Kh 1610 kN/m  (2Er24A) 13
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< GEDIE Aere s >
-1/2
K =K, |2
- MEES0 SHE 22 r=Kn| 03
-3/4
BV
- ANEES BAEY 2550 BO K, =K, +
B -1
- BHEZS0| 28 BS K, =KV0[0”3)
@ - Eo o AEUH0 Cat 2& A4~

Eo = Xlgtel Bt A=

- GIEEE TR (Kv)

B —3/4
KV =KV0 (_Vj

0.3
Ik 1
O21IM, o =——=XaxE,
0.3
Eo : XIBIEFE A== (kN/m® )
o =2

Eo = 2800 x N = 2800 x 20 = 56000.000 kN/m”

By = V(B xL) = 4 (21.200 x 20,000) = 20.59 m(L<B)
Kvo = 1/ 0.3 x 2 x 56000 = 373330.00 kN/m?
Kv = 373330.000 x (20.591 / 0.3)"( -3 / 4 ) = 15655.67 kN/m’

| PHEEE ] Ho A A oiet 28
Kv1 Kvx (0.600/2 + 1.030/2) = 12759 kN/m 1,25
Kv2 Kvx (1.030/2 + 1.030/2) = 16125 kN/m 422
Kh 1E10 kN/m (RS2 H) 13
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AL s ALY (A

1

~—

FHNE - Z2I-E-UOIM TiSAHL

2) E2 (Xidt=D1 glE ER)

Wh1 = 0.500 x 23.000 x 0.500

Whe = 5.750 + 0.350 x 19.000 x 0.500
Whd = 9.075 + 1.050 x 19.000 x 0.500
Wha = 19.050 + 1.050 x 19.000 x 0.500
Whd = 29.025 + 1.050 x 19.000 x 0.500
WhGé = 39.000 + 1.050 x 19.000 X 0.500
Wh7 = 48.975 + 0.250 x 19.000 % 0.500
Wh8 = 51.350 + 0.500 x 19.000 x 0.500
Who = 56.100 + 0.300 x 19,000 x 0.500

3) B2 (XatDt U ER)

Wh1 = 0.500 x 23.000 x 0.500

Wh2 = 5.750 + 0.350 x 19.000 x 0.500
Wh3 = 9.075 + 1.050 x 19.000 x 0.500
Whd = 19.050 + 1.050 x 19.000 x 0.500
Whb = 20.025 + 1.050 x 19.000 X 0.500
Wh6 = 89.000 + 0.600 x 19.000 x 0.500
Wh7 = 44.700 + 0.450 x 10.000 x 0.500
Whe = 46.950 + 0.250 x 10.000 x 0.500
Who = 48.200 + 0.500 x 10.000 x 0.500
Wh10 = 50.700 + 0.300 x 10.000 X 0.500

4) XNgt=e ( Xst4=2 : 6L =-4.600m )

@ ==0l #=2st= 6t&

Ww 1 = 0.450 x 10.000
Ww2 = 4.500 + 0.250 x 10.000
Ww3 = 7.000 + 0.500 x 10.000
Wwd = 12.000 + 0.300 x 10.000
@ otR=HE0 At2cts ofF
- Wb = (6.400 - 4.600 ) x 10.000
5) 283
- 259 s22 £ 100 ¢ st
- 2O2E ¥ #28 2EEN s a = 0.00001 22
6) AX4

- 15" ¢2 2kotEez HE &,

ES e=15x10"°
A= a=1.0x10"°
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50F50

9.075

19.050
20.025
39.000
48.975
51.350
56.100
58.950

5.750

9.075

19.050
29.025
39.000
44.700
46.950
48.200
50.700
52.200

4,500
7.000
12.000
15.000

18.000

kN/m?
kN /m?
kN/m?
KkN/m?
kN/m?
KkN/m?
kN /m?
kN/m?
kN/m?

KN/ m?
kN/m?
kN/m?
kN/m?
KkN/m?
kN /m?
kN/m?
kN/m?
kN/m?
kN/m?

kN/m?
kN/m?
kN /m?
kN/m?

kN/m?



of. &AL (AWA-BATAFF)

o = FMEFY W20 30.0007
o = IIHS=Y At : 0.000°
B = HHHHL SAXMEHO OIR=2 1 2.386°
§ = S 0.000°
kh = &H==823E 1 0.132
6 = tan-1{kh/(1-kv)) kv = 1 7.520
6' = tan-1(kh/{1-kv)xysub/yt) kv = : 3.974
cos’(¢— 60— )
=" in(@+0) si o |
sin(¢+ 0) sin{p—ax—
cosfcos” B-cos(5+B+0)|1+ (o) snig )
cos(a— f)-cos(d + 5 +6)
= 0.436
2
K o= cos“(p—0'- )

EA T

e . [sing+o0)sin(g—a—y |
cos@'cos” COS(5+ﬁ+(9)|:1+VCOS((Z—ﬁ)-COS(5+ﬁ+(9')

= 0.302

2) RATE - ZZIOBUHA ISAH Y

3) E2 (XatDl & &82)

Wh1 = 0.500 x 23.000 x 0.436 = 5004 KN/ m?
Wh2 = 5.014 + 0.350 x 19.000 x 0.436 = 7.913 kN/m®
Wh3 = 7,913 + 1.050 x 19.000 x 0.436 = 16.612 KN/ m®
Whd = 16.612 + 1.050 x 19.000 x 0.436 = 25.310 KN/ m®
Whb = 25.310 + 1.050 x 19.000 X 0.436 = 34.008 KN/ m?
Wh6 = 34.008 + 1.050 x 19.000 X 0.436 = 42.706 KkN/m®
Wh7 = 42.706 + 0.250 x 19.000 x 0.436 = M7/ kN/m?
Whe = 44.777 + 0.500 x 19,000 x 0.436 = 43.919 KN/ m?
Who = 48.919 + 0.300 x 19.000 x 0.436 = 51.404  KkN/w®

4) EY (Xdt==It U= &)

Wh1t = 0,500 x 23,000 x 0.436 = 5.014 KN/ m?
Wh2 = 5,014 + 0.350 x 19.000 x 0.436 = 7.913 KN/ m®
Whd = 7.913 + 1.050 x 19.000 x 0.436 = 16.612 KN/ m?
Wh4a = 16.612 + 1.050 x 19.000 % 0.436 = 25.310 KN/ m?
Whb = 25.310 + 1.050 x 19.000 % 0.436 = 34.008 KkN/m?
Whe = 34,008 + 0.600 x 19,000 x 0,436 = 38.9/8 kN/m®
Wh7 = 38.978 + 0.450 x 10.000 x 0.392 = 40.742 KN/ m®
Whe = 40.742 + 0.250 x 10.000 x 0.392 = 4§1.722 KN/ m?
Who = 41.722 + 0.500 x 10.000 x 0.392 = 43.682 KN/ m?
Wh10 = 43.682 + 0.300 x 10.000 x 0.392 = 44.858 kN/m®
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5) A A&
fi =Ai % rcon'c X KH

D StE=HE

fb = 0.600 X 24.500 x 0.132 = 1.940

@ =4
11=0.350 x 24.500 % 0.182 = 1.132
f2-0.394 x 24.500 % 0.132 = 1.273
f3=0.438 x 24.500 x 0.132 = 1.415
4= 0.481 x 24,500 x 0.132 = 1.556
15 = 0.525 x 24.500 x 0.132 = 1.6
16 = 0.569 x 24.500 % 0.132 = 1.839
f7 = 0.579 x 24.500 % 0.132 = 1.873
8 = 0.600 X 24.500 x 0.132 = 1.940
9= 0.600 x 24.500 x 0.132 = 1.940

#. stF A s E (A

1) CASE1 - RRIXI S (SW)

KN/ m?

kN/m?
KN/ m?
KN/ m?
kN/m?
kN/m?
kN/m?
KN/ m?
KN/ m?
kN/m?

2) CASE2 - HE Q) ; XIBt+4%(S01LBO)

219 -




4) CASE4 - BERH (&) : XSt==#(SOILRI)

5) CASES - 2E 2t : XI5t44 (SOILBOW)

¢ X1 8k==45 (SOILLEW)

7) CASE7 - BHERH(SE) : TSt=4 (SOILRIW)

8) CASEB - == ==t (WATERH)

{780

12.000
15.000
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9) CASE9 - 5 (BUOYANCY)

iNSSSESSRERENSRRENNI

10) CASE10 - 2ZHBH+) +10° G(TEMPPLUS)

o o e e o e e e e

11) CASE11 - 2Z B 8H(-) —10° G(TEMPMINU)

b o e e =

12) CASE12 - 2 E= -15° C{SHRINK)

e e o N e e T e R R e s e e e e e e
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Zt AT (RNFAA] - BALYXFF)

1) CASE1 - X XHZ(SW)

2) CASE2 - XA E(H=)(SOILEALE)

4) CASE4 - XIZAIE(2%)(S0ILEORI)

5) CASE5S - XITAIEA(SS) : XI5t+=# (SOILRIWE)
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6) CASEG - == =2t (WATERH)

{8
12,000

7) CASE7 - 53 (BUOYANCY)

iISSNESRERERRNRERNI

8) CASES - 4| 2t& 3 (S22 X )(COLINER)

1
188
10240 1,95 1,240 1,240 1940 1240 1940 1940 1o 240 040 o240 1040 o240 1240 1,953 1,053 1,245
1.940

9) CASEQ - 1| 2td 3 (S1'Y X )2(COLINER2)

1.940

- 223 -



7t A 2 seEd

aH @ E012 FH0 E HAa2eat
h < 2.0m 0 CHSHAL,

aoH
h > 20m0 CHefM, aH=1.05- 0.025h (= 0.875) = 1.000, h =-0.200 m

1) A==85

= Xl &t==
Fel o | w | L wm]T B,
Lct | 1.400 [ 1.400

Lc2 | 1.200f 1.600] 1.600f 1.600 | 1.200

Lc3 | 1.200 1.000

Lc4 [ 1.200f 1.600] 1.600 | 0.800] 1.200

Lc5 | 0.900 | 1.600 1.600

Los | 1.400 ] 1.400 140 @
Lc7 | 1.200]1.600] 1.600| 1.600 | 1.200] 1.200 | @
Lc8 | 1.200[1.600] 1.600{0.800| 1.200] 1.200( @
Lco | 0.900 | 1.600 1.600 ®
2) A+5E HaFg

- X8l
Sl IV I, VA I I | E ‘z}a
Lot | 1.400 ] 1.400

Lc2 | 1.200f 1.600] 1.600 1.600] 1.200

Lc3 | 1.200 1.000

Lc4 [ 1.200f 1.600] 1.600f 0.800] 1.200

Les | 0.900 1.600 1.600

Los | 1.400 | 1.400 140 @
Lc7 | 1.200] 1.600] 1.600{ 1.600| 1.200] 1.200 | @
Le8 | 1.200] 1.600] 1.600{0.800| 1.200] 1200 @
Lc9 | 0.900] 1.600 1.600 ®
3) ASEE

K ak==

Zel o | w | L |mwm]T E ‘1;
Lct | 1.000 | 1.000

Lc2 | 1.000 | 1.000] 1.000 1.000] 1.000

Lc3 | 1.000 1.000

Lc4 | 1.000f 1.000] 1.000 0.500| 1.000

Les | 1.000 | 1.000 1.000

o6 | 1.000 | 1.000 1000 @
Lc7 | 1.000f1.000] 1.000{1.000| 1.000] 1.000 @
Lcs | 1.000]1.000] 1.000{0.500 | 1.000] 1.000 @
Lco | 1.000 f 1.000 1.000 [
4) NEA(SWBTI+F)
=0 | w | L | Hwm]T F E
Lot | 1.200 1.000 1.000
Lc2 | 0.900 | 1.600 1.600 1.000
Lca | 0.000f 1.600 1.000 1,000
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2.648-0.059

0.840-0.401
0.000-6.453

0.0001.863

kN.m)

: kN)
kN

Z O &£HT(A.F.D) - Unit

2O 8 TUET(B.M.D - Unit
|0 HMHHT(S.F.D - Unit

gy A3 (A

—70.8980.004

-0.0342.677

-0.7630.416

1) A=8t3 FEA
2) A=813 AEA
3) A=5tE AEA

ORI 6

e
O

%.‘,

21 4E IEmanene-
076's e q -
omm.meOwo c0e-
0888 | .

ez fwmowo 20g-
€22 L] =
_.o,‘.mwmomo 20g-
Lo eg— g
26559090 206~
268 v .

1 1 Gef 090 206
W/ Sg— - o
mew..mm”omo coe:
185 92 o e o
Pmﬁ.nm”owo coe:
{12 s ! .
mofmmmgo c0e-
0¥ Lgr—090'20E-
P8Z 895/ BBZ—
82 82— .
NNO.@NM@@N 662-
e 8 z
wmv.hmmmmh 82—
PE¥ Lo .
mmm.ommmmh 82—
489 92— 5
et B
985S =
mmf.wwmmmm 66¢—
€91 ¥ .
omm.mwmmmm 66¢—
08¢" ¢ .
wi.owmmmm B66¢c—
21170 . _
mm#.tummm 66T
mmmmwmmﬁmw
e B8
KO 1y

O MO &)

0.001-12.238

0.000-1.165

kN.m)

O 8 DUET(B.M.D - Unit
— 225 —

-12.2340.001

4) A8sts FEA



5) g FHa

o o = 9 @®E
= P 52 5 2 8 &%
— =] o o S S ¢ o0 & Qo
St = ST c - & @ W Z,/RQ
T3 77 i
T ls] o = —
el =0 Bl Bl Bl B2l By S _H ™ @mm:M Lhioaz—
1218 |e|=|g|=|= 5o 2 S
b EHEEEEREE oo ‘e ipee
clglelZlIe|E|e 96.°6 11755898~
sl=l=l=lslal= 262G IReS 0Le-
EB B E=1 =1 E=] E=] k=Y k=1 K= ZT_ 1622118522~
S(8(8]8]8|8|8 =
sl sl A_I = 69476 fHors v2a-
= .
| ol=|lv|lolx|e|~ —_— = s 1 Yve e
= ] R B S R i 2 X = = =
&l A BEIEIEIEIR G i - = = 082' 0¥ 8le—
bl S I Rl I B I e =0 5 - ws vesqrve08e
=1 - (- a
‘I_ﬂ = - =
i = m m % <4 W p W - __U 5 W 29 1fzve zaz-
DD || o oY Hl B . * -
dE HEENEERE H*o = o ' s e ovg vee-
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4) ¢ed 32

H==at= . p
ke & X = BES =E ul e
KN.m kN KN mn mn
j i A= 1] 530.43 | 90.79 | 265.14 | 1000.00 | 766.67
sﬁfﬁ 2| s2= | 2| 2427 11,96 | 284.54 | 1000.00 | 600.00
|1 == 3| 530.76 | 85.94 | 265.14 | 1000.00 | 766.67
= | 1| su2 | 4| 22.44 | 148.51 | 62.30 | 1000.00 | 546.88
=X (s st= 5| 477.74 | 201.47 | 87.47 | 1000.00 | 766.67
o= || 2= |6| 282.44 | 148.51 | 62.30 | 1000.00 | 546.88
A 15| &= 7| 477.74 | 201.47 | 87.47 | 1000.00 | 766.67

(R

ol
El

1) SERUE (kN.m)
Al
== E < = i ==z |win
20 3D =7 =
1 A= 1| -579.46 E -530.43 = -579.46
=l
;QHL gl s2= |2] 200 - 2427 - 270.91
2= T3] -se4.75 - 530,76 - -584.75
m= [ 1| B2= | 4| -240.38 - -232.44 - -249.38
SE (B &= 5| -518.98 - ~477 .74 - -518.98
c= | 1| B2= |6 -240.30 - 232 .44 - -249.39
=M (2] st= 7| -521.48 - -477 .74 - -521.48
2) Mk (kN)
ALA| Al ELA
= S zza | dD
20 D =1 =
1 F= 1] -119.79 - -00.79 - -119.79
==
AOQHT:' z| z2= |2 260 = 11,06 = 24.69
2 o= |3l 113.06 - 85.04 - 113.06
s= (1| =22 | 4] 162.46 - 148.51 . 162.46
SH (S]] st= 5| 22157 - 201.47 - 221.57
c= | 1| s2= |6| -162.47 - -148.51 = —162.47
A 15| &= 7| -223.72 - -201,47 - -003.72
3) & (kN)
APA| X &A|
=i 2 Haa | uz
20 30 =7 =
1 B= 1| -200.76 - -265.14 = -299,76
ﬁgHt' | s | 2| -29.76 - -084 .54 - -209.76
2 2= |3 -s0e.06 - -265.14 = -302.06
= 1| 22 |4]| -72.70 - -62.30 - -72.70
=M (=] st= 5| -102.07 - -87.47 - -102.07
o= | 1| B22 |6| -72.77 - -62.30 - —72.77
SHE| sE 7| -102.17 - -87.47 - -102.17
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A.

4) AHERRUE (kN.m)
ALA| Al EAl
= < \ S22 | g2
20 30 =1 Jls
. NIEEE NS - - - -353.86
5*‘:"7 A Fot->g = = s
2o ; Scif 2 193.51 193.51
= 2= 3| -356.55 - = - -356.55
m= | 1| 22 | 4] 15585 - - = -155.85
=AM [E] s= | 5| -324.34 - - - -304.34
o= [1] B2= |s| -155.88 - - = -155.68
HA 1B &= 7| 825.97 — = -325,97
GHAE 2 HZF AR
(1) F82 2
N b d Mu @ | req'd As use'd As
2 S # & BAR S.F
i m kN.m | KN.m i’ mm®
= I= 1] 1000 667 |579.46|673.53] 2648.10 | H22 - 8.0EA | 3096.80 | 1.16
= |
= & Z=arel 2| 1000 500 |270.91]|374.07] 1640.51 | H19 - 8.0EA | 2292.00 | 1.38
2= 3| 1000 667 |584.75|673.53] 2673.18 | H22 - 8.0EA | 3096.80 | 1.15
2 1 =L 41 1000 447 |1 249.38|387.87] 1697.52 H;gg_-%r(.)gé/: 2694.40 | 1.56
[==1 =
;ﬂ . oH= 51 1000 667 |518.98|673.53| 2362.57 | H22 - 8.0EA | 3096.80 | 1.30
; : == 6| 1000 447 |249.39]387.87] 1697.61 H:lgg__ltfgg; 2694.40 | 1.56
{=z1 =
;ﬂ . oH= 7| 1000 667 |521.48|673.53] 2374.35 | H22 - 8.0EA | 3096.80 | 1.29
(2) dct@l g
= o _ Ve Vu @Vn |Ct2l==] req'd As ] use'd As
i =T 2l BAR bl D
- k| [ e | e | e
of 9 = 11487.1 ] 119.8 1550.49] 2.00 > H13 600 253.40 0.K
i 2 Sk 214871 | 24.7 |550.49] 2.00 = H13 600 253.40 0.K
EEH o 2= 3|487.1 ] 113.1[550.49] 2.00 = H13 600 253.40 0.K
i 1 =Y 41290.3 | 162.51346.87| 2.00 - H13 600 253.40 0.K
E = ot= 51324.8|221.61388.11] 2.00 = H13 600 253.40 0.K
; 1 S 6]290.3| 162.51346.87| 2.00 = H13 600 253.40 0.K
E = ol= 71324.8|223.71388.11] 2.00 = H13 600 253.40 0.K
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m TITLE : 2=
=1

» MR

fck =27 WPa, fy =400 MPa, k1 =0.85, @f =0.85, Qv =10.75
B(rm) H(mm) d(mm) 1) = () Mu(kN.m) Vu(ki)
1000.0 766.7 666.7 100.0 579.5 119.8

» LA (0) ME
X Ty

T =As x fy = 3096.800 x 400.00 = 1238720.000
C=0.85x fck x a x b=0.85x 27.00 x a x 1000.000 = 22950.000 x a
T=CO0l2=, a=53975mm, ¢c=53.975/ B1=053.9/5/ 0.85= 63,500 mm

sy = fy / Es = 400.00 / 200000.00 = 0.0020
£t =0.00300 x (dt - ¢) / ¢ = 0.00300 x (666.67 - 63.500) / 63.500 = 0.02850
et = 0.00500 0I1E2= UL HOIH, @ = 0.85 E HEEHL.

» EREIY MM
Mu/ @ =As x fy x {(d-a/2) —————————— (B
a=Asxfy /(0.868x fck xb) -———-—— @
A@E A0 CHYSHH OIXIUEAMOZ AsS SABICH
fy 2 Mu
— As? - fy xdx As+ = 0, As = 2648102 mm®
2x 0.8 x fck xb D
* APBE2Z = 3096.8 mm* (EZ2TA @ 100.0 mm) , [AFEE = 1.169]

15 @ H22 - 8.0 EA (= 3096.8 mm* )

» HAH HE
pmin : 1.4 / fy = 0.00350
0.25 +/ fck / fy = 0.00325 s pmin = 0.00350 8=
pmax = 0.71 x Pb = 0.71 x k1 x ®x (fck / fy) x {600 / (600 + fy)} = 0.02089
puse = As / bd = 0.00465

pmax = puse = pmin — EZH|l BHE, S 0.K

* S0 Chet 2=
®Mn = 0.85 x 3096.800 x 400 x (666.67 — a/2) = 673.526 kN.m
;a=As x fy / (0.85 x fck x by = 53.975 mm
= Mu (= 579.459 kN.m) L0K [eHEE 1.162]

* FCHOI CHEE HE (d = 500.00 mm)
dVe = 0.75 x 0.25 x «fck x b x d
=0.75 x 0.25 x 27 x 1000.00 x
= VYu

00

500,00 = 487,139 kN
= 119.788 kN) , AEHEL 2R
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m TITLE : SR EHE E2UR
* CIHAE 2 AHOrA
fok =27 WPa, fy =400 MPa, k1 =0.85, ®f =0.85, ®v = 0.75
B(rm) H{mm) d{(mm) I/ = (mm) Mu (kN .m) Vu(kN)
1000.0 600.0 500.0 100.0 270.9 24.7

T =~As x fy = 2292.000 x 400.00 = 916800.000

C=0.85x%fck xaxb=0.85x 27.00 x a x 1000.000 = 22950.000 % a
T=COI2=Z, a=39.948 mm, ¢ =39.948 / B1=239.948 / 0.85 = 46,997 mm
gy = fy [/ Es = 400,00 / 200000.00 = 0.0020

£t =0.00300 x (dt - ¢) / ¢ = 0.00300 x (500.00 - 46.997) / 46.997 = 0.02892
et =2 0.00500 0|2= /A XIBHHHOIOI, @ = 0.85 E HSEHLt.

* HQEI2 ALY
Mu / @ =As x fy x (d - a/2) e ()
a=Asx fy /(0.85x fck xb) =———————————— @
A@E A0l CHYBHH OIXUBACE AsE FptLE
fy 2 Mu
— As? - fy xdxAs+ = 0, As = 1640.511 mm®
2x 0,8 x fck xb 0]
* APBEIZ = 22020 mm® (E2EA @ 100.0 mm) , [AFEE = 1.397]
15t H1I9 - 8.0 EA (= 2202.0 mm* )
* EIH Z2E
pmin : 1.4 / fy = 0.00350
0.25 +/ fck / fy = 0.00325 s pmin = 0.00350 8=

pmax = 0.71 x Pb = 0.71 x k1 x ®x (fck / fy) x {600 / (600 + fy)} = 0.02089
puse = As / bd = 0.00458
pmax = puse =pmin — EHZH 2U=H, 0K
* 20 st 2=
@M = 0.85 x 2292.000 x 400 x (500.00 - a/2) = 374.075 kN.m
;a=As x fy / (0.85 x fck x b) = 39.948 mm
> Mu (= 270.913 kN.m) L0K [2HEE 1.381]

* HEO Chet HE (d = 500.00 mm)
Ve = 0.75 x 0.25 x v fck x b x d
=0.75 x 0.25 x 27 x 1000.00 x 500.00 = 487.139 kN

> Vu (= 24,688 kN) , dEHEZ EZ2.,
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m TITLE : 2=
=1

» MR

fck =27 WPa, fy =400 MPa, k1 =0.85, @f =0.85, Qv =10.75
B(rm) H(mm) d(mm) 1) = () Mu(kN.m) Vu(ki)
1000.0 766.7 666.7 100.0 584.7 113.1

» LA (0) ME
X Ty

T =As x fy = 3096.800 x 400.00 = 1238720.000
C=0.85x fck x a x b=0.85x 27.00 x a x 1000.000 = 22950.000 x a
T=CO0l2=, a=53975mm, ¢c=53.975/ B1=053.9/5/ 0.85= 63,500 mm

sy = fy / Es = 400.00 / 200000.00 = 0.0020
£t =0.00300 x (dt - ¢) / ¢ = 0.00300 x (666.67 - 63.500) / 63.500 = 0.02850
et = 0.00500 0I1E2= UL HOIH, @ = 0.85 E HEEHL.

» EREIY MM
Mu/ @ =As x fy x {(d-a/2) —————————— (B
a=Asxfy /(0.868x fck xb) -———-—— @
A@E A0 CHYSHH OIXIUEAMOZ AsS SABICH
fy 2 Mu
— As? - fy xdx As+ = 0, As = 2673.177 mm®
2x 0.8 x fck xb D
* APBE2Z = 3096.8 mm* (EZ2TA @ 100.0 mm) , [AFEE = 1.158]

15 @ H22 - 8.0 EA (= 3096.8 mm* )

» HAH HE
pmin : 1.4 / fy = 0.00350
0.25 +/ fck / fy = 0.00325 s pmin = 0.00350 8=
pmax = 0.71 x Pb = 0.71 x k1 x ®x (fck / fy) x {600 / (600 + fy)} = 0.02089
puse = As / bd = 0.00465

pmax = puse = pmin — EZH|l BHE, S 0.K

* S0 Chet 2=
®Mn = 0.85 x 3096.800 x 400 x (666.67 — a/2) = 673.526 kN.m
;a=As x fy / (0.85 x fck x by = 53.975 mm
= Mu (= 584.747 kN.m) 0K [eHEE 1.152]

* FCHOI CHEE HE (d = 500.00 mm)
dVe = 0.75 x 0.25 x «fck x b x d
=0.75 x 0.25 x 27 x 1000.00 x
= VYu

00

500,00 = 487,139 kN
= 113.064 KN) , BSHEL 2UQ
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W TITLE @ A=A =22
&

+ BENE L &0t

fck =27 WPa, fy =400 MPa, ki1 =10.85, ®f =0.85, ®v =0.75

B(mm) H{mm) d(mm) 1] = ()

Mu(kN.m)

Yu(kn)

1000.0 546.9 446.9 100.0

249.4

162.5

fy = 2694.400 x 400.00 = 1077760.000
=0.85 x fck x a x b = 0.85 x 27.00 x a x 1000.000 = 22950.000 x a

T=CO0I2=, a=46.961 mm, ¢ = 46,961 / B 1= 46,961 / 0.85 = 55,248 mm
sy = fy / Es = 400.00 / 200000.00 = 0.0020
£t =0.00300 x (dt - ¢) / ¢ = 0.00300 x (446.88 - 55.248) / 55.248 = 0.02127

et = 0.00500 0I12= AUEATHOIN, @

2

Mu /

i
» 8 Iu

2 aE

=

=As x fy x (d-a/2)

]

hs x fy /{0.85 x fek x b) ————————

A@E A0 HYSHH OIIFUEAMCE AsS FBILH

z

fy

As? - fy xdx A
2 x0.85 x fck x b

* APBEIZZ = 2694.4 mm® (HEZ2TA 100,

15 2 H19 - 4.0 EA, H22 - 4.0 EA

» HIH HE
pmin : 1.4 / fy = 0.00350
0.25 +/fck / fy = 0.00325 s
pmax = 0.71 x Pb = 0.71 x k1 x ®x (fck /
puse = As / bd = 0.00603

pmax = puse = pmin — EZH|l BHE,

» 20l et 3=

= 0.85 & HZsMLt,
———————e (D)
@
Mu
s + 0, As =
D
0 mm) = 1.587]
(= 2694.4 mm® )

pmin = 0.00350 &&

fy) x

- 0.K

®Mn = 0,85 x 2694,400 x 400 x (446.88 — a/2) = 387.870 kN.m

;a=As x fy / (0.85 x fck x b) = 46.961
= Mu (= 249.379 kN.m) 0K [er

* FCHOI CHEE HE (d = 446.88 mm)
dVe = 0.75 x 1/6 x yfck x b x d
=0.75 x 1/6 x 427 x 1000.00 x 446.8

> Vu (= 162.464 kN) , HTt22 =2

232

mm

HE 1.555]

g =

té

290.254 KN

1697.523 nm®

{600 / (600 + fy)} = 0.02089



m TITLE : &==2H %
* HEMUE Y AHOE
fck =27 WPa, fy =400 MPa, k1 =0.85, @f =0.85, Qv =10.75
B(rm) H(mm) d(mm) 1) = () Mu(kN.m) Vu(ki)
1000.0 766.7 666.7 100.0 519.0 221.6

» LA (0) ME
X Ty

T =As x fy = 3096.800 x 400.00 = 1238720.000
C=0.85x fck x a x b=0.85x 27.00 x a x 1000.000 = 22950.000 x a
T=CO0l2=, a=53975mm, ¢c=53.975/ B1=053.9/5/ 0.85= 63,500 mm

sy = fy / Es = 400.00 / 200000.00 = 0.0020
£t =0.00300 x (dt - ¢) / ¢ = 0.00300 x (666.67 - 63.500) / 63.500 = 0.02850
et = 0.00500 0I1E2= UL HOIH, @ = 0.85 E HEEHL.

» EREIY MM
Mu/ @ =As x fy x {(d-a/2) —————————— (B
a=Asxfy /(0.868x fck xb) -———-—— @
A@E A0 CHYSHH OIXIUEAMOZ AsS SABICH
fy 2 Mu
— As? - fy xdx As+ = 0, As = 2362.572 mm*
2x 0.8 x fck xb D
* APBE2Z = 3096.8 mm* (EZ2TA @ 100.0 mm) , [AFEE = 1.311]

15 @ H22 - 8.0 EA (= 3096.8 mm* )

» HAH HE
pmin : 1.4 / fy = 0.00350
0.25 +/ fck / fy = 0.00325 s pmin = 0.00350 8=
pmax = 0.71 x Pb = 0.71 x k1 x ®x (fck / fy) x {600 / (600 + fy)} = 0.02089
puse = As / bd = 0.00465

pmax = puse = pmin — EZH|l BHE, S 0.K

* S0 Chet 2=
®Mn = 0.85 x 3096.800 x 400 x (666.67 — a/2) = 673.526 kN.m
;a=As x fy / (0.85 x fck x by = 53.975 mm
= Mu (= 518.978 kN.m) 0K [eHEE 1.208]

* FCHOI CHEE HE (d = 500.00 mm)
dVe = 0.75 x 1/6 x yfck x b x d
=0.75 x 1/6 x 427 x 1000.00 x 500.

= Vu (= 221.574 kN) , B2 24

<

0 = 324,760 kN

to
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m TITLE : RSHH 2=

* HEMUE Y AHOE
fck =27 WPa, fy =400 MPa, k1 =0.85, @f =0.85, Qv =10.75
B(rm) H(mm) d(mm) 1) = () Mu(kN.m) Vu(ki)
1000.0 546.9 446.9 100.0 249 .4 162.5

* AT A () A
x Ty

o D

= 2694.400 x 400.00 = 1077760.000
.85 x fck x a x b =0.85 x 27.00 x a x 1000.000 = 22950.000 x a
0|2=, a = 46,961 mm, ¢ = 46,961 / B1 = 46,961 / 0.85 = 55,248 mm

sy = fy / Es = 400.00 / 200000.00 = 0.0020
£t =0.00300 x (dt - ¢) / ¢ = 0.00300 x (446.88 - 55.248) / 55.248 = 0.02127

et = 0.00500 O0|12= AUAHAHTHOIN, @ = 0.85 E

2

Mu /

(]

o O 1l

2 aE

=

]

As x fy x (d - a/2)

As x fy / (0.85 x fck x b)

A@E A0 HYSHH OIIFUEAMCE AsS FBILH

z

fy

2 x0.85 x fck x b

* APBEZ2Z = 2694.4 mm® (EZ2TA : 100.0 mm) ,
2

15 T H19 - 4.0 EA, H2

» EIH HE

pmin : 1.4 / fy = 0.00350

0.25 yfck / fy = 0.

pmax = 0.71 x Pb = 0.71 x k1 x ®x (fck / fy) x

puse = As / bd = 0.00603

pmax = puse = pmin — &2

» 20l et 3=

Bl et=x,

- 0.K

X250t

e =

®Mn = 0.85 x 2694.400 x 400 x (446,88 — a/2) = 387.870 kN.m
;a=As x fy / (0.85 x fck x by = 46.961 mm

= Mu (= 249.392 kN.m)

* FCHO CHE AE (d = 446.88 mn
dVe = 0.75 x 1/6 x « fck x b x

=0.75 x 1/6 x +27 x 1000.00 x 44
= 162.469 kN) , B =

= VYu

)
d

Q0

to

0K [2HEE 1.555]

- 234 -

8 = 200.254 kN

@
@

Mu
As? - fy xdx As+ 0 . As =
(0]
[AFEE = 1.587]
- 4.0EA (= 2694.4 mm* )
00325 pmin = 0.00350 8=

1697.612 nm®

{600 / (600 + fy)} = 0.02089



m TITLE : =%H o=
* HEMUE Y AHOE
fck =27 WPa, fy =400 MPa, k1 =0.85, @f =0.85, Qv =10.75
B(rm) H(mm) d(mm) 1) = () Mu(kN.m) Vu(ki)
1000.0 766.7 666.7 100.0 621.5 223.7

» LA (0) ME
X Ty

T =As x fy = 3096.800 x 400.00 = 1238720.000
C=0.85x fck x a x b=0.85x 27.00 x a x 1000.000 = 22950.000 x a
T=CO0l2=, a=53975mm, ¢c=53.975/ B1=053.9/5/ 0.85= 63,500 mm

sy = fy / Es = 400.00 / 200000.00 = 0.0020
£t =0.00300 x (dt - ¢) / ¢ = 0.00300 x (666.67 - 63.500) / 63.500 = 0.02850
et = 0.00500 0I1E2= UL HOIH, @ = 0.85 E HEEHL.

» EREIY MM
Mu/ @ =As x fy x {(d-a/2) —————————— (B
a=Asxfy /(0.868x fck xb) -———-—— @
A@E A0 CHYSHH OIXIUEAMOZ AsS SABICH
fy 2 Mu
— As? - fy xdx As+ = 0, As = 2374.347 mm®
2x 0.8 x fck xb D
* APBE2Z = 3096.8 mm* (EZ2TA @ 100.0 mm) , [AIEE = 1.304]

15 @ H22 - 8.0 EA (= 3096.8 mm* )

» HAH HE
pmin : 1.4 / fy = 0.00350
0.25 +/ fck / fy = 0.00325 s pmin = 0.00350 8=
pmax = 0.71 x Pb = 0.71 x k1 x ®x (fck / fy) x {600 / (600 + fy)} = 0.02089
puse = As / bd = 0.00465

pmax = puse = pmin — EZH|l BHE, S 0.K

* S0 Chet 2=
®Mn = 0.85 x 3096.800 x 400 x (666.67 — a/2) = 673.526 kN.m
;a=As x fy / (0.85 x fck x by = 53.975 mm
= Mu (= 521.482 kN.m) L0K [eHEE 1.202]

* FCHOI CHEE HE (d = 500.00 mm)
dVe = 0.75 x 1/6 x yfck x b x d
=0.75 x 1/6 x 427 x 1000.00 x 500.

= Vu (= 223.724 kN) , B2 Y 24

<

0 = 324,760 kN

to
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P
FHEAZ AE
SHREEHE  1E82HES)
@ PReq's As = B X H % 0.0020 (< 1800 mm* )[2.& 5.7.2]
= 1000 x 600 x 0.0020 = 1200.00 mm*
. Used As = H16 - 10EA = 1986.000  mm? = 1200,000 . 0.K
@ PReq's As = AR FEHIZ x 20%
= 3096.800 x 0.20 = 619.36 mm®
" Used As = H16 - 6.7FA = 1324.662  mm? > 619.360 . 0.K
SIEEE - B
A Req's As = B X H X 0.0020 (< 1800 mm? )[2.& 5.7.2]
= 1000 x 600 x 0.0020 = 1200.00 mm®
" Used As = H16 - 10EA = 1086.000  mm? > 1200.000 . 0.K
@ FReq's As = AR FEIZ x 20%
= 2202000 x 0.20 = 458.40 mm®
. Used As = H16 - 6.7FA = 1324.662  mm? = 458,400 0.K
SlREHE  1EHHRS)
@ FReq's As = B X H x 0,0020 (< 1800 mm® )[2.& 5.7.2]
= 1000 x 600 % 0.0020 = 1200.00 nm?
" Used As = H16 - 10EA = 1986.000  mm? = 1200.000 . 0.K
@ FReq's As = A FEI2 x 20%
= 3006.800 x 0.20 = 619.36 mm®
" Used As = HI6 - 6.7FA = 1324.662  mm? = 619.360 0.K
A=Y : LR
O Req's As = B X H x 0,0020 (< 1800 mm® )[2.4 11.3(3)]
= 1000 x 547 x 0.0020 = 1093.75 mm®
Used As = H16 - 10EA = 1986.000  mm? = 1093.750 * 0.K
@ Req's As = A2 FEIZ2ZF x 20%
= 2604,400 x 0,20 = 538.88 mm®
" Used As = HI6 - 6.7FA = 1324.662  mm? = 538.880 * 0.K
A== o ol
D FReq's Ass = B x H x 0,0020 (< 1800 mm® )[=.& 11.3(3)]
= 1000 x 590 x 0,0020 = 1179.17 mn®
. Used As = HI16 - 13.3EA = 2647 .338  mm® = 1179.167 . 0.K
@ PReq's As = AE FEIZZ x 20%
= 3006,800 x 0,20 = 619,36 mm®
" Used As = HI6 - 6.7FA = 1324.662  mm? = 619.360 0.K
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6) RSHEH 2=
@ Rea'shs = B x H x 0.0020 (< 1800 mm? )[2.& 11.3(3)]
= 1000 x 547 % 0.0020 = 1093.75 mn?
. Used As = H16 - 10EA = 1986.000 mn® > 1093.750 L 0K
@ FReq's As = AR FEIZ x 20%
= 2694.400 % 0.20 = 538.88 mi?
" Used As = H16 - 6.7EA = 1324.662 mm® > 538.880 L 0K
7) 2EUH B
@ Reag'shs = B x H x 0.0020 (< 1800 mm® )[2.& 11.3(3)]
= 1000 x 500 % 0.0020 = 1179.17 mn?
. Used As = H16 - 13.3EA = 2647338 wn® > 1179.167 . 0.K
@ Req's As = AIE FEIZ2ZF x 20%
= 3006.800 x 0.20 = 619.36 mn?
" Used As = H16 - 6.7EA = 1324.662 nm® > 619.360 0.K
B
o, 37 HE
1) ar=gs
| | - CON'C HIADIEZE - fck = 27 MPa
o 600 500 - ED S=22UC @ fy =400 MPa
i (2 ‘ & - A2 Qe D Mu = 376.508 KN.m
‘ | - HEEZ ZOME : Mo = 376.508 kN.m
\ \ — &
O
‘ ‘ S| <
=S
| ! (T1xB + T2xA + AxB
P*ﬂ N (A +B)
y s
\, 45" ‘ B =
[t RN i — =1202.082 mm
®ASH YDUE BUHE
- ZER PREIY Q0T BE
5 % Mo 5 x 376.51 % 10°%¢
Ftmax = e = 1.303 MPa > 0.13+ fok (=0.675)
R xW 1202.0822 x 1000
HESE BLED IR I
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1
B
19]
et
=

o
i

As =

Asb

I

o 0

POl CH

2 X Mo 2 x 376.51 x 107

st FE D2 (As)

2 esEES

R X fsa

0.000 mm®

Req'd As =

As = H22

As - Asb

3480. 147 nm®
3480. 147 nm*

1202.082 x 180

- 0.000 mm*

- BEA , H22 - BEA

o Total As = 6193.600 mm?

EN

=

g
k

> Req'd As (= 3480.147 mm® )

= 3480.147 mr

[*"n=7]

-7 x 0.0017190 + ~ (2 x 0.0120 + (0.0120)% ) = 0.144
1-k/3 = 1-0.144 /3 =0.952
Mo / (As x d x j) = 4810187.000 / (1146.000 x 666.667 x 0.952)
6.612 MPa
Thl = fs x Ac = 6.612 x 1146.000 = 7577.922 N
M W= ti2e ==28 @ 794.4 i
-np + Y (2 x np + (np)? ) [“'n=7]
-7 x 0.0011916 + + (2 x 0.0083 + (0.0083)? ) = 0.121
1-k/3 = 1-0.121 /3 =0.960
Mo / (As x d x j) = 4810187.000 / (794.400 x 666.667 x 0.960)
9.465 MPa
Th? = fs x Ac = 9.465 x 794.400 = 7518.758 N

4 (Th1?
59.306

+ The? ) = fsa x AeT @ CH
“B2T Fo AR

+Th2* ) / fsa = + (7577.922°

Th

s

H13 @ 250, 2%t

= 1018.600 mt
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2) =50
| | - CON'C £ HI1Z2: fok = 27 WPa
500 [l 600 |4 - ®2 S=US : fy - 400 WPa
® ‘ (72 ‘ A DHE W = 2370.651 Kil.m
! ! - BM2 Z0NE;: Mo = 379.651 kil.m
— \ \
O —~
K \ \
! ! (TIXB + T2xA + AxB
— c— N 2 V2
| / (A +B)
o = R /
=) ‘ \A5°
R e — =1202.082 m
O 2=0a E2HE BHHE
- EER QA2 ZQHE A
5 x Mo 5 % 879.65 x 107
Ftmax = = = 1.314 WPa > 0.134 fck (=0.675)
RoxW 1202,082% x 1000
HES DUED EQ I
EE s
/s Q1A CHet 22 & 22 (As)
2 x WMo ? x 370.65 x 107
As = = = 3500.199 m
R x fea 1202.082 % 180
Asb = 0.000 mm?
Req'd As E As - Asb
e 3509.199 tm? - 0.000 mn’
= 3509. 199 mm?
- MEBUED
Use'd As = H22 - BEA , H22 - BEA
o Total As = 6193.600 mm®* > Req'd As (= 3509.199 mm* ) ———————— > 0K 111
@ U=0E SDUNE SUHE
- =EHE S0 22 =222 2202 i
kK = -np+ (2xnp+ (np)?) [ n=7I
= -7 x0.0034380 + + (2 x 0.0241 + (0.0241)% )} = 0.197
j =1-k/3 = 1-0.197 /3 =0.934
fs = Mo/ (As x d x j) = 4163951.000 / (2292.000 x 666.667 x 0.934)
= 2.016 WPa
OIZtd Thl = fs x Ac = 2.916 x 2202.000 = 6684.043 N
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>

bl

v}

- HARI SO ti2E =82  794.4 s
k +

= -np+ (2 xnp+ (np)?) [ n=71
= -7 x0.0011916 + + (2 x 0.0083 + (0.0083)2 ) = 0.121
j = 1-k/3 = 1-0.121 /3 =0.980
fs = Mo/ (As xdx j) = 4163951.000 / (794.400 x 666.667 x 0.960)
= 8.193 MPa
OI&IE Th? = fs x Ac = 8.193 x 794.400 = 6508.633 N
- 2YE2Y 4B
T = (Th® +The® ) = fsa x AeT @ CHZIH 2@9 Qi
Th : B2 = A2 ME5= AEH
As' = A (Th1® + Th2? ) / fsa = + (6684.043% + 6508.633% ) / 180.0

As® = 51.830 mr

MBEDZ : HI3 @ 250, 28 = 1013.600 m 0K
A7) HE (E29E F2HAA7+ A4 6.3.3(4))

( C.T.C. 125 mm

B ] sa=0l | ] Eoor | @ | 2e
| RF =R 2F
Y I B o SR s B3 ||
. m= 1| es7 He2 - 8.0EA 125 | 200560 | 0.k | 1.620
[o]
=| 1
zlz| z2= |2] 50 H19 - 8.0FA 125 | 205.415 | ok |1.643
2| 2t
=
o= |3| e Hee - 8.0EA 125 | 199.350 | ok |1.5%5
& zmom 4| a4y WO ABALHZ A or | agn 033 | 0k [2.670
=1 4.0EA
ne
3 a2 5| a7 Hoz - 8.0EA 125 | 2a1.250 | 0.k |1.920
—_ + _
= =oc (gl a4 |18 - %O0BAHHR 125 | 334838 | ok |2.67
= 4 4.0EA
o | =
1 a2 7| ee7 Hoz - 8.0FA 125 | 23.03 | ok |1.011

fe =M/ [As x (d - x/3)] = 353,861 x 1000000 / [3006.800 x (666.667 — 149.709/3)]
= 185.268 WPa

X = -nAs/b + nAs/b~ [1 + 2bd/(nAs)]
= —7x3096.800/1000.0 + 7x3096.800/1000.0 x ~ [(1 + 2x1000.0x666.7/(7x3096.800) ]
= 149,709 mm
AMEBEHIZZF = 3096.8 m* (E2=2 : 100.0 mm)

1Bt 1 H22 - 8.0 EA (= 3096.8 mm® )
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@ #F29 FHO S42HA
Cc = 100.00 - 22/2 = 89.00 mm
GIIA Co ; QUAEIO0ILL 2AETHO EEHY 2H2IE BHAMOIE SH (nm)
Smin : 375 x (210 / fs) - 2.5 x Cc = 375 x (210 / 185.27) - 2.5 x 89.00 = 202,56 mm
300 x (210 / fs) = 300 x (210 / 185.27) = 340.05 mm
Sa= A= &l 202.56 m E HE

S =1000.00 / 8.00 Ea = 125.00 < Sa (= 202.56 mm) S 0K

fe =M/ [As x (d - x/3)] = 193,509 x 1000000 / [2202,000 x (500,000 - 111.633/3)]
= 182.433 WPa

X = -nAs/b + nAs/b~ [1 + 2bd/(nAs)]

—7x2292 .000/1000.0 + 7x2292.000/1000.0 x + [{1 + 2x1000.0x500.0/ (7x2292.000)1

= 111,633 mm

AEEZ2Z = 2202.0 mm® (E2Z4 1 100.0 mm)

12h 2 HI9 - 8.0 EA (= 2292.0 nm® )

® EZ29 30 =42
Cc = 100.00 - 19/2 = 90.50 mm
OOIAl Co ; QUAEI20ILE 21&He EHHN 2H2E BHA0IS SH (nm)
Smin @ 375 x (210 / fs) - 2.5 x Cc = 375 x (210 / 182.43) - 2.5 x 90.50 = 205.41 mm
300 x (210 / fs) = 300 x (210 / 182.43) = 345.33 mm
Sa= &2 &l 20541 mm E HE

S =1000.00 / 8.00 Ea = 125,00 < Sa (= 205.41 mm) S 0K

fs =M/ [As x (d - x/3)] = 356.546 x 1000000 / [3096.800 x (666.667 — 149.709/3)]
= 186.674 WPa

x = -nAs/b + nAs/b+y [1 + 2bd/(nAs)]

-7x3096.800/1000.0 + 7x3096.800/1000.0 x + [{1 + 2x1000.0x666.7/(7x3096.800)1

= 149,709 mm

ABEI2Z = 3096.8 mm* (E22=2 @ 100.0 mm)

1 @ H22 - 8.0 EA (= 3096.8 mm* )

@ #2229 O s42+4
Cc = 100.00 - 22/2 = 89.00 mm
HIIM Co 3 AUFHI20ILE 21ETHSY ERHW 2IeIE BHAOIS S (nm)
Smin @ 375 x (210 / fg) - 2.5 x Cc = 375 x (210 / 186.67) - 2.5 x 89.00 = 199.36 mm
300 x (210 / fs) = 300 x (210 / 186.67) = 337.49 mm
Sa= A= gl 199.36 mm £ HE

S = 1000.00 / 8.00 Ea = 125.00 < Sa (= 199.36 mm) S 0.K
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fs =M/ [As x (d — x/3)] = 155.847 x 1000000 / [2694.400 x (446.875 - 112.336/3)]

= 141.273 WPa
X = -nAs/b + nAs/b+ [1 + 2bd/(nAs)]
= =7x2694,400/1000.0 + 7x2694,400/1000.0 x « [{1 + 2x1000.0x446,9/(7x2694,400)]

= 112.336 mm
AMBEI2Z = 26044 m* (E2=2 @ 100.0 mm)
1% 1 H19 - 4.0 EA, H22 - 4.0 EA (= 2694.4 nm® )

@ #29 U F42HA
Cc = 100.00 - 22/2 = 89.00 mm
GIIA Co ; QIAEIO0ILE ZIMRS HE ZH2lE HEHEAMIS SH (nm)
375 x (210 / fs) - 2.5 x Cc = 375 x (210 / 141.27) - 2.5 x 89.00 = 334.93 mm
300 x (210 / fs) = 300 x (210 / 141.27) = 445.95 mm
Sa= A2 g0 334.93m £ H=

S =1000.00 / 8.00 Ea = 125.00 < Sa (= 334.93 mm) 2 0.K

Smin :

fs =M/ [As x (d - x/3)] = 324,339 x 1000000 / [3096.800 x (666.667 — 149.709/3)]
= 169.811 MPa

x = -nAs/b + nAs/b+ [1 + 2bd/(nAs)]

-7x3096.800/1000.0 + 7x3096.800/1000.0 x + [{1 + 2x1000.0x666.7/(7x3096.800)1

= 149,709 mm

ABEI2Z = 3096.8 mm* (E22=2 @ 100.0 mm)

1 @ H22 - 8.0 EA (= 3096.8 mm* )

@ #2229 O s42+4
Cc = 100.00 - 22/2 = 89.00 mm
HIIM Co 3 AUFHI20ILE 2IEIHS ERHN 2HeIE BHAIS SH (nm)
Smin @ 375 x (210 / fs) - 2.5 x Cc = 375 x (210 [/ 169.81) - 2.5 x 89.00 = 241.25 mm
300 x (210 / fs) = 300 x (210 / 169,81) = 371.00 mm
Sa= A= gl 241.26m E HE

S = 1000.00 / 8.00 Ea = 125.00 < Sa (= 241.25 mm) S 0K

fs =M/ [As x (d = x/3)] = 155.875 x 1000000 / [2694.400 x (446.875 - 112.336/3)]

= 141,298 MPa
x = -nAs/b + nAs/b+ [1 + 2bd/(nAs)]
= -7x2694.400/1000.0 + 7x2694.400/1000.0 x + [(1 + 2x1000.0x446.9/(7x2694.400)]
= 112.336 nm
AMEEZ2Z = 26944 m? (EZ2T2 @ 100.0 mm)
12t H19 - 4.0 EA, H22 - 4.0 EA (= 2694.4 nm® )
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@ #E29 HO s47+H
Cc = 100.00 - 22/2 = 89.00 mm
GOIAl Co ; UZEI20ILE 21XTHS M 2HIE BHAMOIS SH (nm)
375 x (210 / fs) - 2.5 x Cc = 375 x (210 / 141.30) - 2.5 x 89.00 = 334.83 mm
300 x (210 / fs) = 300 x (210 / 141.30) = 445.87 mm
Sa= A2 &C 334.83 mm E HE

S =1000.00 / 8.00 Ea = 125.00 < Sa (= 334.83 mm) 0K

Smin :

=7 5=

10

7)

e

=9 A

fs =M/ [As x (d - x/3)] = 325.968 x 1000000 / [3096.800 x (666.667 — 149.709/3)]
= 170.664 WPa

X = -nAs/b + nAs/b+ [1 + 2bd/(nAs)]
= =7x3096.800/1000.0 + 7x3096.800/1000.0 x + [{1 + 2x1000.0x666.7/(7x3096.800)1
= 149,709 mm
ABEI2Z = 3096.8 mm* (E22=2 @ 100.0 mm)

1 @ H22 - 8.0 EA (= 3096.8 mm* )

@ #29 U F42HA
Cc = 100.00 - 22/2 = 89.00 mm
GIIA Co ; QIAEIO0ILE ZIMRS HE ZH2lE HEHEAMIS SH (nm)

Smin @ 375 x (210 / fs) - 2.5 x Cc = 375 x (210 / 170.66) - 2.5 x 89.00 = 238.93 mm
300 x (210 / fs) = 300 x (210 / 170.66) = 369.15 mm
Sa= A2 g0l 238.93m £ HE

S = 1000.00 / 8.00 Ea = 125.00 < 8a (= 238.93 mm) 2 0.K

12 AAY A&

- THXE = 457,415/ 21.200 = 21.576 kN/m?

(2) ol XXE HE
1) EICH Xlgh ure
Omax = 21,58
= 21.578 kN/m®
2) X plEssr rE
Qa = 1000.000 kN/m*

w XPHEAN 2IM HE

— 243 -



ol
it

ry
BN

)
H

He

Hig

CYCLE-1{@250)

()

His

|

CYCLE-2(@250)

() s

|y

Hz2

— 244 —

H22




A2 E F2AA7

r=
) N

, 2007),

o ZAESHE],  2007),

332 9

e Jo ®- m o 3 B X o A %0 Te
v TO = . i
TN MI_%(_/E ~ ﬂdlemzm ﬁaomro
R A T
M MATH% T WA ®T o T o W
B Mﬂmar T o =X N %%_%ﬁ
0 3 = 0
R R R I R g.oﬁhzd..siﬂri
o T il o < KT 0 = o
o LETE o Ry ogmcile
3 - o A=) o L7
= 3 o e 2 TEETE T E A
oo Smed 2 oM T
20 N X2 <P — ol Y hy
ﬂ J| S T = o A+ R
Wao KM L LW W o W .
T i ray b FeldEaeluT g
o - B = oy W Eo TN W
N R ##@%Wﬁﬁ%iﬁi
N T o W No— W AR ol
WK< hal H- Hx oz AU
w R ol B R W T & op
- i} W o _ . ~
e PPel TrleIdTolsuygn
wn N 2@2 auwM ol iﬁn‘-ﬂ%ot]@ o o
R A R A R e
Mom " xS o= N = I I
. _— X <= K — N ¥ Ty =0
o g - B S B T o Mo T < =
W Wy BT ow o Mg A
R TR P R E R A
= ﬂgu o TN \H.OI = Wﬁ ZT_ = oE — ) Ay £} O_E
o Rl oo 2R A 2 g
"N ofp xb_amﬂﬂu.a_. paﬂ imoao_d,_mn
PRT R FR B T A PR -
~ X0 K BRI — B 9 = = IH i H X do
PTRPTET R g RN e A B
o " FRNBTH YT TR 4T L oy
TE T OB ddw o ® e Ho Ak o T

3

3

— 245 —

T2 (R FE 2012), 9 20.3.4






A2 (F) FLHA 222
85 871718 48 2 B




— 248 -



7}of |

4

[m]

.I

B+
=

7471

4

AL
o

R 5% () SO A

| 4%

Jo

FllM= 5

&

el

Al

ki3

el HE
7l Aol

3

3

Dz

sh4l

]
LA

24

=
ol
=

=

37171
7}l A
3 7}

]

L

Ry

-
[¢)

(e}

71 A 2 A A Sl - 9] WA

=]

Ry

o

-

3

st Wx7d

S

[}

]

5 ¥

1

.

Ed g2 AA A

el
i

wal

e
)

Fll A W=l

<]

T A A 7] =(2011), 2 (1241 AAA

=

suz, RoAde WAEFE A5A) A

SR EIPARE

(abutment)
dl 2} F-oj Al A o]

= &)
Lﬂﬁ*o“%f

}

-

I
N

o]:o
q) %

I

[e)

9

™o oz
sk glofok

5]
<]

SEDE

A = 2
ox

o
=

D
T

A" (AH)
o]

el A, 71z

O
o
A&

.

7]
oF

wK

H Q2 A (Beam element)Z,

Njo

—_
10

=K

(2012)ll AAE AT =

ZLAYEF R

Fof -

S

o

ojo

"

ofp

=]

8

fF, 2012)5 2] 20.3.4
— 249 —

o

TEE(HE



4.1.1 4REAE

A A 715 (2011) ol A

o

o

o

ol

—
fIfe)

pzA

—_—
10

7T
]
]

=
fu

ﬁo

Jo

puze]

re

o

-
,__Iﬁﬂ

)

w

Fel A= sl A el

=

Tor

50

3

el

it
<
3

vl Al

H71 13

d|

sfe}

i
-
e
Il
~K

el
)
8o

G

)

2 ®ol AHEH

o7 3tk

- 250 —



¢+
ﬂﬂ

In

ol
gl
v

412 99

4121 Hs& A4

)
ol

<
750

3

D AE-00

4) 2= A A

1
jan(

oy
Nd

12.600

2.800

5.000

2.800

o

=

009 005 '€
0082 7 005 '€ 0052 ﬁoa
1|
=
A
1k
g
rpa.
Lo
R=6, ] ‘
[
Po
N G
¥ ©a
—
bop |
ooel_ | oezT
00p'e

<2¥ 4.1.2-1>

— 251 —



av
rd

H

F"ﬂ EL: 203.00m
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Eb9) EL - 283.00m

M18 M4F EL 275 00m

(D =0.6m 4

=

=

=

M2E S+ EL 265.00m

(O=106ml

a1 oog

e

—_—

L! IZ H4FEL 254 00m
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i D =3.5m)
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N
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16000
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oo
Nd

jant

24
=

Az &4

.

1) 23E

. fu= 2T MPa

. E,= 8,500 {/f., = 26,702 MPa

@ &A=

fur Af =27+4=31MPa

0.167

fCU
v

o
_(H

2]

24.5 kN/m?

T g,

@ &

a2

2)

: SD400 ©]

=
T

Mo

=

D E,=2.0x10° MPa

© &A= -

e

N

=)

3) A

19.0 kN/m?

e

FHYEY

Al

@

K,=1— sin¢= 0.50

Q@ AAE}AF

: 1.OD+1.0E

CASE 1
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4122 A9%3 JPAHAY)

7t & & skE

1) 2AEE, D (5,5 712 AdozRE] o))

O #B=3F © W= 2,131.60kN, z,= 63.80m
@ W8S 1 W,= 37.70kN, z,= 60.50m
@ WH3F ¢ W= 1,302.40kN, z,= 58.75m
@ A 0 W= 1,388.33kN, z,= 59.75m
® WA © W= 45,719.60kN, z;= 26.40m
® A" LAHstT ¢ W= :W;: 50,579.63 kN
2) ARstE, E (Al WXAAA 7Ertds 9

O ARTFS 0 1+9
@ JF=AF : 1=14 (A@AF7] 1,000)
@ AWHEF - HEgA g,
@ ARAF

» 0,=0.11

» 0,=0.11

©® AR FH7MEEAT, 4,
» A,=Ix C,= 1.4x0.11= 0.154
® FAF7]

S © T
250, 25x0.11

= 0.4sec
> 17,=0.27,=0.2x0.4= 0.08sec

of 571, T

=]
=
> AFE e 1 A5He SEagE
2

= 64.6m
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E
X 64.6° 2% 24.5 { ( 4.0 )2}
1+ 12| —— = 0.837 sec
4.0 \/3 X 9.8 2.67 < 107 64.6
7|4, a: x99 F1H4 (m)

v - A Z2aYES e T (kN/m')

B, ¥WA FagEe @A KN/m)
g . F8 714 5(9.8m/sec’)
T2 A
ol 2q { a)Q}
r=— \/3gE 1+ 12( 5
X 64.6° 2% 37.78 { ( 4.0 )2}
= 1+ 12| —— = 1.04 sec
4.0 \/Sx 9.8 < 2.67 % 107 64.6
N, a tanh(\/?—a
NN, ¢ = v+ — -
04 ] 1’ q ’)/C 2t \/ga
l
10 % 4.0 tanh( \/36364'0)
= 24.5+ : : = 37.78 kN/m?
2 1.5 V3 % 4.0
64.6

t (2] 5

= 7)) (1.0+2.0)/2=15m
=) 10kN/im

Lo

Yo (&
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AAAE

L uw Au,
c 1
Ve s W25 G LW
G -1 0.11x 1.4

25-C,- I- W=12.5x%X0.11x1.4Xx50,579.63= 19,473.16 kN
V=17,489.67 kN
- gzl AeAA $EANY, R

F=007TV (Eh, T< 0.7secQ AL, F,=0)
F,=0 (" T<07sec)

F,=0.07T TV=0.07x1.04 X7,489.67= 545.25 kN

TR E Fold wEl EuiAlZ FHAZE ) F

g VB Wbz g )
! YW, b, oo
(% 4.1.2-1) F2&E =old we ujd 3104, F,

4w W, h, W, h, F,

(KN) (m) (kN - m) (kN)
53k 2,131.60 63.80 135,996.08 627.63
LRt i 37.70 60.50 2,280.85 10.53
w5l 1,302.40 58.75 76,516.00 353.12
e 1,388.33 59.75 82,952.72 382.83
g A 35 45,719.60 26.40 1,206,997.44 5,570.32
> 50,579.63 - 1,504,743.09 6,944.43

i) 49 A B4 (W59 A 18, Bessel IFE o] §)
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2!
Pl(zl)Ah")/w'ﬂ—'a’%'](_)

= 0.154 X 10 X 7 X 2.5>

_ “1
500) 30.238 X [(50.0)

ii) 93255 d (hy=50.0m, a,= 4.0m)

a; 4.0
h2— 50.0 '0—0.08
z
PQ(ZQ)*Ah'% a% K h_z)
2

2 ) _ )
50.0 ' 500

(F 412-2) FAYF 57 22

A+ WFE (hy=50.0m) A+ 5 (hy=50.0m)
z/h 2 [(zl) P (z) 2 K(ZQ) P, (z,)
(m) hy (kN/m) (m) Do (kN/m)
0.0 0.00 0.9998 30.232 0.00 0.9702 75.102
0.1 5.00 0.9998 30.231 5.00 0.9696 75.054
0.3 15.00 0.9992 30.213 15.00 0.9642 74.636
0.5 25.00 0.9965 30.132 25.00 0.9507 73.596
0.7 35.00 0.9847 29.774 35.00 0.9203 71.238
0.9 45.00 0.9315 28.167 45.00 0.8345 64.595
1.0 50.00 - 0.000 50.00 - 0.000
. Tz A
1) dukALE)
AT HAE 72 dolA nZAAE = Ay BE S
A B E I Fastel o e ok A 43
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2) TxEIA A

<39 41.2-3>

e~ =

N

ANz | TR EATET Y 55 ef H-F5

SERE L que | muwe | Ady | wmde | Ady | zde

#o1G) | &N | Nem) | &N) | &N-m) | (kN) | (kN -m)
0 6944 236,520 1415| 33278 3430 | 79587
5 6944 | 201,798 1264 26582 3064| 63376
10 6944 | 167,076 L2 20642 2680 | 49,041
15 6944 | 132,353 961 15,457 2306 | 36578
20 6944 | 97631 810 11,028 1934 25978
% 6944 | 62,909 660 7,353 1565 17,232
30 1374 48240 509 4,430 1,200 10,323
35 1374 41370 360 2.257 841 5,224
40 1374 34499 213 825 493 1,898
45 1374 27628 70 117 161 269
50 1374 20758 0 0 0 0
55 1374 13837 0 0 0 0
59.4 1,021 8,071 0 0 0 0
59.7 1,021 7,765 0 0 0 0
60 638 7,554 0 0 0 0




(a) Aete

<a¥ 412-4> FHAARY o

MIDRS/Civil
OST-PROCESSOR
‘BEAM FoRCE
sERRz
1414754003
1.28614e4003
1157534003
1.02881e4003
9.00238e+002
7.71685e4002
5.43070e+002
5.1045604002
3.8584204002
2.57228e4002
0.00000e+000
5.650332-002

SCALE FACTOR=
7372184000

ST RRBEY

(a) Acte

<29 41.2-5> UE%

MIDAS/Clvil
20ST-PROCESSOR.
‘SE FoRCE
sEERR-z
3.4208264003
3.1180264003
2.80622¢4003
2.4944264003
21826164003
1.8708124003
1.55%01e4003
12472164003
3.35406e4002
6.2360424002
0.00000e+000
-1.34063¢-007

SCALE FACTOR=
a.1078m4007

s ARBSY

E SR
s

5! 101472014
View-siRecTon

b ad

(a) A=

<19 41.2-6> &BRE

— 209 —

2=
T

B
i)

MIDAS/Civil
EOST-PROCESSOR
BERM FoRCE
MOMENT—y.
3.32776e5004
3.02524e5004
2.72272e4004
2.42019e2008
2.11767e1004
1.81514e5004
1.5126204004
1.2101082008
5.0757204003
6.05042e5003
0.00000e:000
2.72263e-007

SCALE FACTOR=
7.311F2007

MIBAS/Civil
20ST-PROCESSOR
T emmsomcr
MOMENT-y.
_3s8E7e+004
2351502004
Si164e:004
78812¢+004
0646104004
3410882004
6175204004
8940684004
170854004
1470382004
0000084000
15884e-007

SCALE FACTOR=
. 1maRsnn2

B

IT: drn
1071472014
VIER-DIRECTION




. EHEAE
1) 43dHS 5718 WAS zhe Ay dHow J1A
2) H LA
(X 4.1.2—-4) 9 st H2AHA
TR U B 9]
o 1) A 180EA-H29 260EA-H29
= 160EA-H29 240EA-H?29
FHAL H22@200 H22@200
3) @ AAAE
O =
A f,

_ _a _ I _ sty
(le_ ¢Asfy (d 9 ) ’ ¢_ 1.0 ( é7]_}\] )7 a 085f(kb

A,=210EA— H29= 134,904 mm*

134,904 400
= 085 x 27 7,080  204-64mm

294.64
oM, = 1.0 134,904 X 400 X (7,095— 5

= 374.908 X 10° N - mm
= 374,908 kN - m
M, = 236,520+ 79,587 = 316,107 kN - m
oM, > M, (-.0.K)
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®

)
e

®©

Z%\/ﬂbdz

= 21,751,35 kN
i) dedze] Rdhe ARAE,

S

Gb‘}—l

A,= 4— H22@200mm

A, f,d 4% 387.1x400%7,
- fyd _ 4x387.1x400x7,095 _ 21,971,796 N
s 200
21,971.80 kN
i) A9 E v,
oV, =o¢(V.+ V,)=1.0(21,751+ 21,972) = 43,723 kN
V,= 6,944+ 3,430= 10,374kN

oV,> VvV, (~.0K)

¢ AE
Lo sk A&

T2

Vipax = 50,579.63+ 17,678.82 (7] %)= 68,258.45 kN
A E

M, = 68,258.45 X 8 = 546,067kN » m

DA R E

M,= 236,520+ 79,587 = 316,207kN * m

AE HE

S.F= 5"110 - 21‘233? —173 > 15  (~OK)
s g A&

Ho ¢34

H,, .= 6,944+ 3,430= 10,374 kN

Hoj ArEd

Viax = 68,258.45 kN

g5 HE

F= OZVMX = 06 Xlgiﬁi&% =395> 120 (..0OK)

max
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X /27T X 2X 1,770 X 7,095 = 21,751,353 N



© #A
B M.—M, 16  546,067— 316,207 _
CT T w2 68.258.45 033m
@ AAY HE
i) stz AE&9A7F AR A= A9 Aty
%4 6e
= — + -
¢ = (=)
i) stze 2-&9A7F AW Qo d= 49 (HAH
2V B
= 71 X —q (L _
¢= 7. M e =3(5—e)
2V 2X 68,258.45

W= T 4 T 12566 x<10.101

L= %x162+16= 12.566 m

= 1,075.54 kN/m?*

i) A|Hke} & §A A ¢ A RkEAL BaA

¢,= 1,785.00 kN/m?
v) AAE HE

¢, < ¢,= 1,075.54 kN/m* < 1,785.00 kN/m*
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4.1.23 984 ¥

7t Z&3t%
1) 2437, D (ZH&9A)
O AFsks W= 2,131.60kN (FF-EH 1)
@ F3ES - wy=371.70kN (FH-EYRH)
@ WAHEF ¢ W,=1,302.40kN (HEHE)
@ FEE=AT - ZEIAHNA E AL
2) Ax3EE, E
O ARSI 49
@ JA=AF  1=1.4 (A@F7] 1,000)
@ ARHEF @ BEIA g,
@ ARA S
» ¢,=0.11
> ¢,=0.11
© AZH FHIMEEAF, 4,
» A, = Ix C,= 1.4x0.11= 0.154
® FATF7I
» T.= G 0-11 = 0.4sec

S

25C,  25x011

>

Ty=0.2T,= 0.2 0.4= 0.08 sec
@ Axlst%

i) Whe e

o

S <

=3

gy
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4=, A=IC,

X EH JIEE A
Ts=0Cy/2.5C,
To-02Ts

2.51C,

ICy/T

Ic,

Ts

05

= n o ha]
D D D D

® FLicpShiE

0o

4.0

NS

N

(b) o

B7Hg NEESGLNEH (6% 74 )

<ad¥ 4.1.2-7>

o

T
Tor
B

fuze)

a4

AdeH B=

A= 712l M A A H =

H
H

© A5H

P
-
xr
ﬂ. T
E T
m
o L
g % bl
o 7 M
ay o=
s 5
T ° 7
To T
= AM ﬂm
W i
of X g0 M o
N e o
W ar o
Jﬁ A I
do W T
oo |
o)) o) e =y
ool T B M
AR " N o
K Mo W O R
SEPECNCNE
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(¥ 412°5) 7229 1557
=7 ned deggho] &(%) A A F 3 & (%)
Mokl e [xww | vuw | 29w | xuw | vew | 29w
1 0.791386 0 56.29 0 0 56.29 0
2 0.791386 56.29 0 0 56.29 56.29 0
3 0.160627 0 23.38 0 56.29 79.67 0
4 0.160627 23.38 0 0 79.67 79.67 0
5 0.070913 0 0 76.55 79.67 79.67 76.55
6 0.065775 0.15 9.6 0 79.82 89.27 76.55
7 0.065775 9.6 0.15 0 89.42 89.42 76.55
8 0.038009 0.83 4.07 0 90.25 93.49 76.55
9 0.038009 4.07 0.83 0 94.32 94.32 76.55
10 0.027622 0 0 13.31 94.32 94.32 39.86
11 0.026183 0.07 2.53 0 94.39 96.85 39.86
12 0.026183 2.53 0.07 0 96.92 96.92 39.86
13 0.020046 0.14 1.28 0 97.06 98.2 39.86
14 0.020046 1.28 0.14 0 98.34 98.34 89.86
15 0.016605 0 0 .85 98.34 98.34 94.71
16 0.016467 0.5 0.29 0 98.84 98.63 94.71
17 0.016467 0.29 0.5 0 99.13 99.13 94.71
18 0.014225 0.11 0.33 0 99.24 99.46 94.71
19 0.014225 0.33 0.11 0 99.57 99.57 94.71
20 0.012769 0.01 0.22 0 99.58 99.79 94.71
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(a) Mode #2 (b) Mode #4

]
g

(c) Mode #7 (d) Mode #9
<Y 412-8> XWdF AFR=E JA
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3) T4 A%

Nzgd | FERALRAFED) W B 44 QR ot
C2RH [ gge | mae | dAdey | mue | Adey | mee
#1G) | kN | GNem) | &N | GN-m) | (kN) | (kN -m)
0 6,899 255,705 1,415 33,278 3,430 79,587
5 6,735 225,594 1,264 26,582 3,054 63,376
10 6,385 197,096 1,112 20,642 2,680 49,041
15 5,898 170,705 961 15,457 2,306 36,578
20 5,354 146,594 810 11,028 1,934 25,978
25 4,825 124,596 660 7,353 1,565 17,232
30 4,355 104,322 509 4430 1,200 10,323
35 3,964 85,316 360 2,257 841 5,224
40 3,643 67,198 213 825 493 1,898
45 3,334 49,825 70 117 161 269
50 2,928 33,457 0 0 0 0
55 2,340 18,865 0 0 0 0
59.4 1,828 8,569 0 0 0 0
59.7 1,556 8,021 0 0 0 0
60 1,556 7,554 0 0 0 0

(a) A= (b) ZHE
<3E 412-9> OFERE2HEHHY gHzy e
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L
1)

o 4
Y
m

i
)
o
off
N
o
1)
X
o
)
rlr
o
B
ofl
e
)

o
fr
N
o,

2) el AAZE

O AH=
A f
= e - o 7k A — sy
A,=210EA— H29= 134,904 mm*
134,904 x 400
- = 204.64
0.85 % 27 % 7,080  2o4-04mm
¢ M, = 1.0 % 134,904 < 400 X (7,0957 294;'64
= 374.908 X 10° N + mm
= 374,908 kN - m
M, = 255,705+ 79,587 = 335,292 kN - m
opM,> M, (-.0.K)
Q@ AS7=
A’I} (? d
oV,= (V. + V), ¢=10, Vc:% fabd, V= j’

v, = % Ffabd= =% /27X 2x1,770 X 7,095 = 21,751,353 N

= 21,751,35 kN
i) ddtdZo] Fdstes AdAd=, v,
A,= 4— H22@200 mm

A, f,d 4 387.1x400%7,
v, = fy _ 4387 20000 L9 _ 91,971,796 N

= 21,971.80kN
i) A=, V.,

oV,= ¢(V.+ V,)= 1.0(21,751 4 21,972) = 43,723 kN
V,= 6,899+ 3,430= 10,329k N
opV,> VvV, (~.0K)
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M, 546,067
g — — = . > . L. .
S.F i 335.292 1.63 > 15 (..0K)

0-6 Vivax 0.6 68,258.45
= = ’ == . > 1
=g 10,329 396> 120

- 269 —

(..0.K)



O A
_ B _ M —M, 16 _ 546067335202 ..
cT 2 W 2 68,258.45 '
@ AAE HE
i) 859 e x7 AAAY] A= A (Aog
|74 6e
e —— + R
¢= (1+ B)
ii) stz &7 Ao Q= 45 (A4d
vA% B
= 7] X —_a(2_
q L e T Oq ] “I, T 3(2 e)

_ 2V _ 2X 6825845
W™ o2 T 12.566 % 9.264

= 1,172.71kN/m*

L= %x162+16= 12.566 m

i) AWk 38X X H - AHEEAF B A FF
¢,= 1,785.00 kN/m?
iv) AA8 HE

G < ¢,= 1,172.71 kN/m* < 1,785.00 kN/m* (.~ O.K)
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4124 F9%4 Y - Aol H N

7k, A Rk
D si47he
O WAL 3k AlFo] # sl A
@ FA 8.4 @ SHELL Element
2) =233 1 ABAQUS/Standard

3) SR

(a) View 1 (a) View 2

<39 4.1.2-10> 3sH=d
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BN
S

=
e w X
(=
>~
>
odt

1)
HETFIZ2 2980 ABAQUSE A&
(390 SHELL 24 = R4 slo] Ajto]gs]a] 4=3))
@ FHATE A= 724l g o2 XA Hval 7HY
@ AlreldstEe H7HE SHEHAER S WEohs VS RAIfo]
3% Agdste] A&
@ Frge nFEANE 48
© HAl thel T A
® ANeREE dEFgqes agste] 207 2= a1y
2) A A ¥
O ¥, Fgxr w7t T o]l FA HIa e FERELS FAY
B g A S FastooF 3
@ A YIS nHT Fx=o AN
i) ARA FAY s7%s 7H84 stsom wilkste F7H3
A A s FAste e
i) AA FAe sFgs TREd FUtE FAAdHeR 1
sto] &4 S S Fdote FUHAFH(EA A A EFH)
i) A% FEREY dEAEs 9938 1dste fA-Tx2E A
T2 A

9. 483%

1) nAes, D (AHE&9A)

O A=e5 0 W= 2,131.60kN (FE-EH )
@ F37FetE - W= 37.70kN (E-EHB)
@ HASF W= 1,30240kN (FH-EHR)
@ F2EAE T2 s A A
2) AstE, E
O WHsH WAESH (HA9 WXsHs 28)
O FIAF 7=011 (I +9)
@ 9F=ASF 1220 (AAF7] 2,4009)
@) AuE= HEdA S,
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(a) Al

@ A-AF
» S=1.2 (HAAVIE)
» ¢,=0.11, ¢,=0.11 (NHAA7F=ATF 1)
® AxY FHEEASF, 4,
» A= ZX IX §=0.11x2.0x1.0=0.22 (FAA7]+=
s A,=Ix C,=2.0x0.11= 022 (WAAAZIEAT IO)
® A5

_— 011

T 950 25xo0a1 Odsee

> T7,=02T7,=0.2X0.4= 0.08sec

@ AxlstF
AT O ) A
i) 3718 75 EsEAdEY
AEH FEEE Al ASIC,
Ts=Cy/2.5C,
To-02 Ts
251G,
"E\, —_—
H
&
ol
n
=l
B . 1CyT
Ic,
To Ts = (%)

<3¥ 4.12-11> B7H8 7IEESHEHERH (5% #4H])

i) B7FE 7FEEAIZFo = (37 SET)

0.80
— TGS
—— MRS
® 0.60
T
i
~ 040
i1
op
=
W
1 020
\\_\_%
0.00

00 05 10 15 20 25 30 35 40
F7| (sec)

Zrolele] Sg = (MRS)% B7He S5 2 (TGS)?)
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SET #01

0.30

0.15 -

8

=]

@ T

-0.15

-0.30

30

20

15

10

SET #02

0.30

0.15 A

8

(]

(B T

-0.15

-0.30

30

20

15

10

SET #03

0.30

3
=]

@) i

0.15 -
-0.15

-0.30

30

20

15

10

B

Zko]

B7HE 7S E A7

<29 41.2-12>

]
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oz 2aale 54 A4S AT & ey A
© Goyal & Chopra(1989) ol ol H7pd sk Ak4
BRI
(3 4.1.2-7) A ZIA 7 FAd o g Frra ek
AN 9% GA0 P FoHAS AR (97 AU Fx2 0F 0 BEAZHE 5Y)
Outside Gearmetry Eqm‘flhvsint Fouivalent Cylinder I“ﬁrT”fv;mg
zy a/Dbyay/Hy Ay ay/by ag/Hy ro/Hy zo/Hyml(2)/m? p, Ay m% m’/(p,A,)  ml(z)
m ot MN-s/m’ MN-s”/’  tory
00 100 00R00 50266 100 OO0 00840 000 09% 00608 0058 1000  004% 9681
20 100 00R00 50266 100 OO0 00840 004 09 00608 0053 1000 0044 9681
40 100 00800 50266 100 00800 00840 008 092 00K OOKB 10000 0044 968l
60 100 00300 50266 100 00800 00840 012 0981 00K OOKB 10000 OB 9571
80 100 0030 5026 100 00300 0040 016 0981 0058 OCKB 1000 0048 %671
100 100 00R0 5026 100 0080 00840 020 09 00508 00503 1000 0048 9661
120 100 00R0 50266 100 0080 00840 024 09™ 00508 00503 1000  004R 9651
140 100 00R00 50266 100 0080 00840 028 0977 00508 00503 1000 0041 9631
160 100 000 5026 100 0080 0040 02 095 O00KB 00608 10000 0040 9612
180 100 00R0 50266 100 0080 00340 03 0973 O0CKB 00K03 10000 0049 BR
00 100 00800 5025 100 00800 00840 040 0971 OOKB 0GB 10000 0048 7
20 100 00800 5025 100 00800 00840 044 0963 OOKB 008 10000 0047 9543
20 100 00R00 5025 100 OCR0 0080 048 0964 OCHB 0058 10000 0045 9603
%60 100 00800 505 100 OCRD 0080 02 0% OCKB 0058 10000 0043 9464
280 100 00800 50265 100 00800 0080 0% 096 0058 OCHB 10000 00431 9424
00 100 00800 5026 100 00800 0080 060 0% OOK8 OCHB 10000 0B BEH
20 100 00800 5025 100 00800 00RO 064 0% O0KB OHB 10000 0042 P66
340 100 00800 5026 100 00800 0B 063 098 O0OKB OCHB 10000 00466 9148
%0 100 00800 5025 100 00800 0080 072 091 OOKB 0GB 10000 00457 971
RO 100 00R00 5025 100 OCR0 0080 076 09  OCHB 0058 10000 0042 &7
400 100 00800 5025 100 OCRD 0080 080 087 OCKB 0058 10000 00437 76
20 100 00800 502 100 OCK0 0080 084 0835 OCHB 008 10000 0040 31
40 100 00R00 5025 100 OCRD 0080 088 077 OCHB 0058 10000 0087 791
460 100 00800 5065 100 OCR0 0080 0% 068 OCHB 008 10000 042 6703
480 100 00800 505 100 OCR0 0080 0% 05  OCHB 008 10000 0051 4929
500 100 00800 506 100 0CR0 0080 100 O  OCHB 008 10000 0000 000
W ay=400m by=400m H,=5000m, p, -0.00IMN-s¥m
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i) W sAe w2

(% 4.1.2-8) AZXA WE A o3 -

Eij

AZA WE A o3 FoHAF AL (93 YUY 722 15 2 AP 5Y)
. uivalent ivalent  Infinite Lo
Inside Geometry Equlipse Bé;llljn der Tower e

z a/ba/H A a/b a/H r/H z/H oml/(pA) s A m, (2)

m ot MN-s’/m’  MN-s/m’ tony
00 100 0 196% 10 0® 006 0.00 1.00 001%  001% 3851
20 100 06 19665 100 0 006 004 1.00 001%  001% 3851
40 10 0 1966 100 0B 006 0.08 1.00 001%  001% 3851
60 100 0 1965 10 0® 006 012 1.00 001%  001% 3851
80 100 0 19665 100 0 006 0.16 1.00 001%  001% 3851
100 100 0B 19665 10 00 006 020 1.00 001%  001% 3851
120 100 0B 19665 10 00 0.06 024 1.00 001%  001% 3351
140 100 006 1965 10 0B 005 028 1.00 001%  001% 3851
160 100 006 19665 10 006 0.05 032 1.00 001%  001% 3851
180 100 006 1965 10 006 0.05 0.36 1.00 001%  001% 3851
200 10 0 196% 100 0 005 040 1.00 001%  001% 3851
220 10 00 196% 100 00 005 044 1.00 001%  001% 3851
240 10 0 19665 100 0 006 048 1.00 001%  001% 3851
260 10 0B 1965 10 0B 0.06 052 1.00 001%  0019% 3351
20 10 0B 1965 10 0B 006 056 1.00 001%  0019% 3351
00 10 0B 196% 100 0B 0.05 0.60 1.00 001%  001% 3851
320 10 00 196% 100 0 005 0.64 1.00 001%  001% 3851
340 10 0 196% 100 0 005 068 1.00 001%  001% 3851
360 10 0B 196% 10 0® 005 072 1.00 001%  001% 3851
30 10 0B 196% 10 0® 005 0.76 1.00 001%  001% 3851
400 10 006 196% 10 0® 005 080 1.00 001%  001% 3851
420 10 006 196%H 10 0® 005 04 1.00 001%  001% 3851
40 10 0B 196% 10 0® 005 083 09X 001% 00192 3174
460 10 0B 196% 10 0® 006 092 0% 001% 00187 3658
480 100 006 1963 100 0B 0.05 0% 0.70 001% 00137 2.9
500 10 006 196% 10 0® 005 1.00 0.00 001% 00000 0.00
H] 1 a,=250m, b =250m, H,=50.00m, p,,=000IMN-s"/m'

- 276 —



u =1}
Q Q

&

4 HoREE ®0| (m)

=
=]

)
(=]

s
(=]

—oEgH
BB

[0S 1 HHHHHHHHEJA
e s i""iﬂ:ﬁmﬁa

o -+

u
=]

100

BIHEE (tong)

150

<IY 4.1.2-13> =Eold HIAZEF A

3) T ATl

(% 41.2-9) F+x=9 AFF7

_—

=) BEW e te] &(%)
Mode
(sec) TXWaF | TYWs | TZz9e | RXwWa | RYWeF | R2W e
1 0.6491 1775 | 0039 | 00000 | 16134 | 717000 | 00000
2 0.6491 0039 | 1775 | 00000 | -717090 | 1613 | 00000
3 0.1550 12067 | 00858 | 00000 | 10004 | -153220 | 00000
4 0.1550 00858 | -12067 | 00000 | 15320 | 10904 | 0.0000
5 0.1028 00000 | 00000 | 00000 | 00000 | 00000 | -87806
6 0.0804 00000 | 00000 | 16838 | 00000 | 00000 | 0.0000
7 0.0704 02637 | 056%6 | 00000 | -40159 | 18723 | 00000
8 0.0704 05656 | -02637 | 00000 | 18722 | 40157 | 00000
9 0.0427 03013 | 07006 | 00000 | 29663 | 12758 | 0.0000
10 0.0427 07006 | 03013 | 00000 | -1279 | 29664 | 00000
11 0.0412 00000 | 00000 | 00000 | 00000 | 00000 | 47767
12 0.0350 00000 | 00000 | 00000 | 00000 | 00000 | 0.0000
13 0.0350 00000 | 00000 | 00000 | 00000 | 00000 | 00000
14 0.0324 00000 | 00000 | 00000 | 00000 | 00000 | 0.0000
15 0.0324 00000 | 00000 | 00000 | 00000 | 00000 | 00000
16 0.0322 00000 | 00000 | -30787 | 00000 | 00000 | 0.0000
17 0.0307 20124 | 02013 | 00000 | -0566 | 55649 | 0.0001
18 0.0307 02013 | 20125 | 00000 | 55650 | 05566 | 00000
19 0.0298 00000 | 00000 | 00000 | 00000 | 00000 | 0.0000
20 0.0298 00000 | 00000 | 00000 | 00000 | 00000 | 00000
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U, Magnitude
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f
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!
i

ODB: Freq.odb Abaqus/Standard 6.10-1 Tue Oct 14 19:59:28 GMT+09:00 2014

z
Step: Frequency
Mode 1: Value = 93.709 Freq = 1.5407 (cycles/time)
Primary Var: U, Magnitude
X L 3 Deformed Var: U Deformation Scale Factor: +6.000e+00
U, Magnitude
+1.086e+00
+9.959%e-01
+9.054e-01
+8.148e-01
+7.243e-01
+6.338e-01
+5.432e-01
+4.527e-01
+3.621e-01
+2.716e-01
+1.811e-01
+9.054e-02
+0.000e+00
z ODB: Freq.odb Abaqus/Standard 6.10-1 Tue Oct 14 19:59:28 GMT+09:00 2014
Step: Frequency
Mode 3: Value = 1642.8 Freq = 6.4508 (cycles/time)
Primary Var: U, Magnitude
X Y Deformed Var: U Deformation Scale Factor: +6.000e+00

(c) Mode #3
<Z¥ 4.1.2-14> XUE AFR= FA+
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- 94
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6) T4 A}
- 91ZA X3 3SET & HUg 24

2 E(KN - m)

TR 2w (kN) -
EQO1 649 44
o 7] EQ02 766 43
G EQ03 584 43
oz 766 44

EQO1 4,176 8,172

- EQ02 4,579 8,829

Fet EQO3 3,133 6,542

A 4,579 8,829
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x
2 oDB: £QU2.0db 6101 Tueoct14
Step: Seismic
Increment  580: Step Time = 4.394
Primary Var: SM, Si:
x Y Deformed Ver: U Deformation Scale Factor: +1.000¢+00

SRR

ODB: EQD2.0db  Abaqus/Standard 6.10-1 Tue Oct 14 20:00:10 GNT+09:00 2014

Step: Selsmic

Increment  580: Step Time = 4.394

primary Var: SF, SF3

Deformed Var: U Deformation Scale Factor: +1.000+00

(a) A=

ODB: EQO2.0db  Abaqus/Standard 6.10-1 Tue Oct 14 20:00:10 GHT+09:00 2014

tep: Seismic
Increment  580: Step Time = 4.394
primary Var: SM, SM:
Y Deformed Var: U Deformation Scale Factor: +1.000¢+00

v}

ot

P
T

<39 41.2-16> HA sdF GHAHE(SET #02)
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1285408

0DB: EQOZz.0db

primary Var: SF,
Y Deformedvar: U

ismic
2150,
s

Abaqus/Standard 6.10-1 Tue Oct 14 20:00:10 GNT+09:00 2014

: Step Time = 16.29
3
Deformation Scale Factor: +1.0002+00

(a) ATE =

ODB: EQO2.0db  Abaqus/Standard 6.10-1 Tue Oct 14 20:00:10 GHT+09:00 2014

z
Step: Selsmic
Increment  2150: Step Time = 16.29
primary Var: SM, SM:
x Y Deformed Var: U Deformation Scale Factor: +1.000¢+00

SRR

<a¥ 4.1.2-17>

ODB: EQO2.0db  Abaqus/Standard 6.10-1 Tue Oct 14 20:00:10 GHT+09:00 2014

z
Step: Selsmic
Increment  2150: Step Time = 16.29
primary Var: SM, SM:
x Y Deformed Var: U Deformation Scale Factor: +1.000¢+00

v}

ot

PN
T
(b) —— 1]_-—-E —a

YA S5 SHH=(SET #02)
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1) 9HAE A4
O FAH A24A
(3 4.1.2-11) HA () E23A
=3 A=k g
v 214 Ak 214 A
19 Wi |H29@100, d=100| H13-2.5, s=400 |H22@200, d=100 | H16-2.5, s=200
2k v | H29@100, d=200 - - -
@ 3F=, oM,
A f
= _a = o 7 A = __5°Y
¢Mz ¢Asfy (d 2)y ¢ 10( o ]- ])v a O85f€kb
i) HAGHE) - A=

A,= H29Q100+ H29Q100= 12,848.0mm”

12,848.0 < 400

= 223.93

0.85>x 27X 1,000

¢ M, = 1.0 X 12,848.0 < 400 X
= 8.93211x 10° N - mm
=8,932.11 kN - m

M,= 8,829 kN - m

oM, > M, (-.0.K)

i) HAEkE) - 3

bz| 1:13—6(‘)]:

A,= H22@200= 1,935.50 mm”’

1,935.50 < 400

= 0.85x 27 x 1,000

M,

n

¢

1.0 X 1,935.50 X 400 X (
1.45792 % 10° N - mm

1,457.92 kN - m

M,= 2,093 kN - m

oM, > M,

(..0.K)

— 285 —

= 33.73mm

mm
550 223:93
1,900 — —33;3 )




A, f d
SV,= (VA V), 6=10, V= tFova, v= 2D
) HAGE - AAwg
6 ZaPE el R AURE, v,
V,= % fabd= %X V27 x1,000Xx1,900= 1,645,448 N
= 1,645.448 kN
© Agdo] Bysis AU, v,

S

A,= 2.5— H13@Q400mm

A, f,d 16.75 X 400 < 1
- yd _ 316.75>400> 1,900 _ 599,925 N
s 400

= 599.925kN

= 1,645.448 kN
© Aol Feshs AdAE, v,
A,= 2.5— H16@Q200mm
A, f,d .5 400 X
V= fyd _ 496.5 <400 1,900 _ | oe6.700 ¥
s 200
= 1,886.700 kN

’ n

oV, =o¢(V.+ V,)=1.0(1,645.448+ 1,886.700) = 3,532.148 kN
V,= 4,57T9kN
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F3a4E 249 : Mander Concrete Model

 Confinement Bar

(3 422-6) a9 E »d
2 7_ﬂ 7] 5__
= T -
7} = 3 = ES N o9 03
(e} a
tot TATES] 27|HYE 0.002 - -
ka: = o] L5 H=
€cu tiﬂ '4 =] 3E 0.002 - -
27MPa
fle=f'eet SAHENSELE 27 MPa fex
» Mander Confined Concrete
Concrete Modal X b
10.0033 -~ Shess Shain |
e sl e ooz
oo Zeaidr N P
. = fact 1
o fEoon
Fcc i —‘—h-‘f'cu P - —
; E Main Bar
i E Total 51
§ | ares  [BOSEDE

- Confinement Type:

iT\e& Crosse Tie =

5o sCclU Spiral Dia
| Specing |03
fyh 300000
Zsu 0.03
i)
E cuflirmit] 002
Rectangular Shape Tie Bar Reinfarcement
% Dimension  |1.8 ¥ Dimension |18 i Ba -
¥Spacing |18 VSpacing |18 € Area
Reinforcement:< Reinforcement-t -
ST E T GRS B = View Values or Print..,
€ ¥8aDia [35256-03 € YBaDia [3525E-03
0K Cancel

I |
|
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>

Mander Unconfined Concrete

Concrete Moda

==

u= 0.002
cc=0.002
[Fcc= 27000
2= 20408.16

Stiess Strain

fop  |2000E03
e [2OUOEDS

Spact 11
te 27000

7

sl

View Values or Print ]

oK ] Cancel ]

<29 42.2-5>

©
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r
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ZIYdE 19

A Park Steel Model

(3 422-7) A+ =24

s 3 = e | T i
o) AO % WFE | 00015 | SO | S
e A9 A WY 0.00176 D29 Shima
30(%\2% g A0 FEA WY 0.09 D35¢] 3} CALTRANS
fy: Do) FEpw 30 | f, (MPa) ;ﬁ;ﬂ%
for Ao A= 450 SD30(MPa) Priestley
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» Park Steel Model
Steel Model X

Patk-Steel Modal Parameters
: 1.500€-03

£ IL7ROE03

3Y

h | | | =su View/Prink,.

0,09 450000

<29 422-6> A& 29
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24
1 freas Selected K=di5 vepzz  [owm < Done
INPUT Caltrans Section Properties ==
(data) Geometry 1 ) |
Shape |F(Uund _:_j

Mo of Cores l‘\

Section

Height I
“width IW ]

Base Height '18_
Base Width |1 [

Outer Casing ] |
Thickness |0
Factaor i} Shoia |

Rings-

Mo. of Rings I‘\ Ringl Cawver i[l RingZ Cower IU Ring3 Cower IU

0,0013:0.9)

Bundle | Conf\namenl‘ Cunlimemanl| Confinemenl Cunfinemen\| Conlinemenl Conf\namenl‘ Canf.
Region Ring Bar Mo, | Type ‘Area | Dia Bar Mo, | Spacing Curve ‘ Edit
Corel Fiing1 e | Hoop [ = = T 03048 Park =
Prestiessing| Tendons [ MA4 N2& N N8 N M4 N N
i, B i f s (ol -1 + X

B

Concrete Model-

Material

- Care Cancrets Mander-Confine > Show...
IMandel-Unconh hd Show.... _ Mander-Uncorfi Show..

Cancel

<29 4.2.2-7> 4k INPUT
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@ A OUTPUT

7 &

OUTPUT

Mornent Curvature Curve (Limits: P(comp.) = -47670.034, Piten) = 9677.813)

Edit

M-¢ 54)

Curyature

Strain Diagram

Angle=0’

Select Parameters far Graph

% Ealians [dzalized bodel

P [Tensian +ve]

Phi-Conc: = 00664305
Phi-Gleel =N/&
ICrack = 163

Phi-yield = 00212553

Specily Scales/Headings >

[4767.01

e N N A ER R A RN

080 160 240 320 400 480 GED B40 720 gog e

| Moment Curvature -

(5128603, 10272.02 )

Moment

Conc, Strain -2 B75E-03

Steel Shain 5927E-03
Heutral duis 03765

Analysis Contial

Mo of Ponts {20

Angle (Deg)

M-Conc = 10350184
M:Steel = N/&
Mp=10152

M-yield = BEOB 445

—

¥ Fist Concrete Failure
[ First Rebar Faiure

1™ User Defined Curvature

Details,
Refrash

Contour..

Curves

Click to:

Add Curve

-
Moment Curvature Curve (Limits:

OUTPUT

Plcomp.) = -47670.034, P(ten.) = 9677.819)

Edit

M-¢ =)

Strain Diagram

Angle=90°

Select Paramsters for Graph

¥ Caltrans |dzalized Modsl
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ICrack = 163

Phi-yield = 00212488
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RE45E-03

B L P R

080 1BD 240 320 400 480 550 840 720 Emuxfﬂ"
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T
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[# First Concrete Failure
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Details...
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(F 4.22-10) 5= 1443

NODE PERIOD INDIVIDUAL MODE (%) CUMULATIVE SUM (%) e
CYYTIME) | UX UY Uz UX UY UZ
1 1.7924 0.000 | 10.130 | 0.000 | 0.000 | 10.130 | 0.000 | L%
2 1.5315 11.600 | 0.000 | 0.000 | 11.600 | 10.130 | 0.000 | x5
3 1.0531 0.000 | 1.020 | 0.000 | 11.600 | 11.150 | 0.000
4 0.9280 0.000 | 0.000 | 0.000 | 11.600 | 11.150 | 0.000
5 0.7204 0.000 | 44680 | 0.000 | 11.600 | 55.830 | 0.000
6 0.7170 44.890 | 0.000 | 0.010 | 56.490 | 55.830 | 0.010
7 0.5992 0.050 | 0.000 | 5700 | 56.550 | 55.830 | 5.710
8 0.5677 0.000 | 0.780 | 0.000 | 56.550 | 56.620 | 5.710
9 0.3662 0310 | 0.000 | 0.000 | 56.860 | 56.620 | 5.710
10 0.3450 0.000 | 0270 | 0.000 | 56.860 | 56.890 | 5.710
96 0.0083 0.000 | 0280 | 0.000 | 97.060 | 97.300 | 94.550
97 0.0083 0.240 | 0.000 | 0.030 | 97.290 | 97.300 | 94.580
98 0.0083 0.000 | 0.000 | 0.000 | 97.290 | 97.300 | 94.580
9 0.0081 0.000 | 0.000 | 0.000 | 97.290 | 97.300 | 94.580
100 0.0077 0.000 | 0.000 | 0.000 | 97.290 | 97.300 | 94.580
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Z1 1
=y

) + 0.3 x (2
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a4
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R ERE LR

4.2.2-18)

-
it

(

}

0
yal

bl o

°

1 =0

oo

o o~

Njo

—_

1o

" —

;OO —_ 7
ol S
Nlgs 2 S
K o T D
N o &

B o
= 9
mo £ m 12}
= €|
_zru N 98]
wm N | R
_m = —

0
S e
'O | M L/

Eo ;ﬁ
ll 1__/| O_H EO
o —

N~

v

~
fi%e)
A~

Bl

wmo

N
Bl

414.425 kKN
= 457.965 kKN
436.456 kKN

395.527 kN

(kN - m)

22.6
10,350
22.6
10,344

9,366
23.7




no n - —
TAHEHE (KN - m)
HY, BT wzbe] m% 9 wEAzbgd faol(m)

OEESE
i) REA A,
ol - (HE)?  0.00252 % 22.62
> Ay=— 3 - :00053 5 — 0420m

ii) &/gdR1Ade] L, (&, L, =004 - f,dy)
» LL=0.08HL+ 0.022 f, dy= 0.08 < 22.6+ 0.022< 300 X 0.0254

=1973m
= 0.044 - f,d;,;= 0.044 <300 < 0.0254 = 0.330 m

o714, f, + FWFEL FELE (MPa)
pzs

iii) 24W9 A,

s 0= (ph— ¢b) - L= (0.00665— 0.00252) X 1.973= 0.0082

ME Ly
»AL:( “—1)AL+0L(HL——p)
p L y p €
M, 2
10,350 1.973
= —1]x0.42 0082 % (22.6— ——=|=0.222
(97366 ) 0.42853 4 0.008 ( 6—— ) 0.222m,




@ nE=AZveE-7]%

1 O ©o 8}%
i) FEHS A
ol - (H))? ) x 23.72
cap el 0002523 287 _ i

do] L, (¥, L, = 0.044 - f.dy )
T _ T
» L, =0.08H_+0.022f d;
= 0.08 X 23.7+ 0.022 < 300 < 0.0254 = 2.061
= 0.044 - f,d,,= 0.044 300 X 0.0254= 0.330 m
i) W A

0= (¢0—¢T) - L= (0.00665—0.00252) X 2.061= 0.0085

M T Lt
u T T T p
( }’,f_l]Ay—i_eD(He_T

N T
AD

= ( 19;)7’33741:1 - 1) < 0.47126 + 0.0085 < (23.7— @): 0.242m
v) SR A,
» A= A+ A)=0.471+0.242= 0.713m
V) FHEAGNE p, (Fopy, < 1.80)
T
* s = j:T = %: 1514 < 1.8041F (SHFET Hol& A

v

VE=k/f A.=0.30 V27 X 2.036= 3,173 kN

, kK'=10.3 (k=0.3— 0-1(p,,—2)
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&, p, =20 ©¥ k=03)
A= 08X A, =08x2545=2.036m" (& THHH)

gaross

_ 7D?* 7. 1.80°
gross 4 - 4

0.35 :
0.30 * +4

0.25

= 2.545 m>

\
J

0.20
0.15

k (MPa)

0.10
0.05

0.00

L

oyl mA, £, D7 7<198.6 300 % 1,641.3 N
S 2s 2300

o] 714, A, = 198.6 mm?

(A9 g4 AT 132 GuH, DIO)
D' =D(71%E%) - 2c( )+ LI AL A + PG A= A7

= 1800— 2100+ 25.4+ 15.90

= 1,641.3 mm (FHZ 47 A)

Pxh 4,606.08 1.80
[ = 0155 o T = 55,028 KN

o714 |, P= 4,606.08 kN
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3714, kK'=03 (k=0.3-0.1(p, —2)
e o =20 ol¥ k=03)

A= 0.8x A, = 0.8x2545= 2.036m"
aD? & - 1.80°
Agow™ = 3 =254 m’

i) dddro] Fesls Add= V

mA, D 6% X )
. oyT= v _ mx198.6 <300 1,641.3 — 519 kN
S 2s 2300

= 1800— 2100+ 25.4+ 15.9

= 1,641.3 mm (FH A7)

i) Fol o§ AVBE V,
P xh 4,606.08 < 1.80

. 0.15 X 9370 = 52.474 kN

o] 714, P = 4,606.080 kN

(Aol A @2 wze] Ha AFEE)

T__
> VI=015
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h=1800m (=D), L,=23640m (=H,)

e

V=V VIV I =3173+ 512+ 53= 3,738 kN

eI ()

N =—u
. " +— @ gHuE —a— Zsddas

+24Y¥ a(m)

<9 4.2.2-14> nZW3g FFFFJA 93 sgr= F4F

StHT TS24y (WMESIE)

4000 i
S500 | =1 BHITE —a— =& HelT

0.0 0.6 1.0 1.6 2.0

<249 alm)

<Y 4.2.2-15> nEFA A8 FFGgFI A 23 FJIyre AH

® RZHRA)] FHEe
W AE Ao o2 wx Awkntas} waeA 9
of szte ‘@ww mE'e] ofs] 4wl
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W
=
adl
o
o
B
o
Ho

10,350 kN - m

L
c

" M
M

q_mo

N
E

= 10,344 kN - m

T
B, c

gt

: M5=3,388kN - m

© ML

e

jant
N
E

4,396 kN - m

T
B,d

|

p—

m
gt

ﬁo

~ 0K

~ 0K

10,344
4,396

B,d
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-
N
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Ton
N
oj

o]/
X
Njo

W
e

ﬂu.o

_1_wo

f5=345.1 kN

0
=0
N
el

ao

Fc = 345.1x 1.0= 345.1 kN

Fp ¢ =345.1% 1.0= 345.1 kN

Min

g

Dy

AAAE Fy,

Min (374.682 /2 =187.341 , 54.490)= 54.490 kN

= L
o, =
01: FB,D

l:]o]—

=
=

Min (387.758 /2=193.87,73.370) = 73.370kN

E
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Mo

589 dy

T
"o

ol
2

.60
o0
N
B

72.0 mm

3}
omb?2)

15.308

* 0.K
. O.K

N

H ek el (30% T A8

85.c = 72.0X 1.0= 72.0 mm
c = 72.0x1.0

4.2.2-19)

Ay A
it

(

0.000
.D,comb2 ]

L

Og

B.D,combl »

L
MAX [0.000, 15.308] = 15.308 mm

MAX [6E1;D.,comb17 6%“.D,comb2 ]

0.000
- 312 —

MAX [8
MAX [11.369, 0.000] = 11.369mm

,D

W A g

(Combl)

i

i

T
B

0,

11.369

AW (mm)




E
13w A9 2 AR 54

O % | A d
i) A4 4
— — STUD BOLT(12EA)
L -
A oo T _bs
h
A
50 c 50
|
! 3
} | 3
<39 4.22-16> FTH AL
A = 600 mm & STUD 274 D = 50 mm
B = 600 mm (y) STUD #Ze¢] L = 150 mm
C = 500 mm WE PA CTC = 500 mm
T = & mm Wz P CTC = 500 mm
h = 148 mm EE A4 D = 18 mm
mxn =  2x2  (WEFxuZF) = 4 EA

i) ZAYE AANEZE f, = 27 MPa

i) <371e] frags] A,y = 545 mm® (BE A& 24)

i) 3Ae] QFWE  f,. - 410 MPa (%, f,,, <Min(191,, 860MPa))
v) A7 faEgddel hy = 150 mm

vi) 3359 Zlo] H1 = 1,000 mm(z} g5 Wb F3zlo], £
1=}
.

—

’

A A zlo])

- 313 —



=n-Agy - fin (4714 n& B3] PAEE )
Zu}3} V5 = 4x254.5 % 410=417.4kN
» WA VI = 4% 254.5x 410=417.4kN

i) a9 3 1719 F7E3E Fgp
» &L Fygp = Fip = 54.49kN

i) #7}
VL
» nlSHkek Lsa = gizg = 7.660 > 1.0 S 0OK
FAS,D ’
V> ,
» WEA Y = UTA 5689 = 1.0 S 0K
Flap 7337

® 2aE 933
i) R 2adE gRgE V,, (37 218

A
@ Vcbg: A

Ve

) wed,V - Vb
VCO

o474, A, wel 7 E A age] due e A
C

thHo P E = Aotuy| F9HA o

~ sin#x cos(90— tan” ' (1.5))
1.5 sin (180 — (6+ tan™ *(1.5))

7 .
\CO



Ay =45¢,’

Veqy - DEA Gl e A= FAAS
7d

o
Cpo= loc,; <

Cp @ BABE TN 7 T4 BFo g FAYE

Ca2 :

-1 -1
S, 1 ot% 28 WEew widd WFEE T

» ¢,p= 1,350 mm, c,,=850 mm, c,,’" = 850 mm

*$;=500mm, s,= 500 mm, s = 500mm
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|

Ca2’+(m-DS2+Sy+(m—1DS2+Cal

|

1.5Cal

<19 422-17> 23YE FAZEY oid FIHA A - =

i
:
o

> AVC: [CaQ/“r‘ (m_ 1)>< S2+ Sy+ (m_ 1)>< SQ+ Ca?] x 1.5 Cal
= [850+ 1 500+ 500+ 1< 500+ 850 ] % 1.5 1,350

= 6,480,000 mm?

» Ay =45 ¢, ’= 45X 1350%= 8,201,250 mm’

Ay = 6,480,000 mm® < n - Ay =4 8,201,250 = 32,805,000 mm”

AV 6,480,000
> = ¢ . . = 7’ l > (). x 1 — 1 11
Vg Ay Yeav - Vo= gograny < 0889 1,589 = L1IG kN
o714
) R min(c,,)
Yoy = 0.889{ min(c,,) < 1.5 ¢,; A BFhoqy = 0.7+ OBT
' al
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1 0.2
Vb:O'7{d_Z} \/E f Ca11'5

150 12 .
= (0.7X {W} < /50 X /27 % 1,350"° = 1,589 kN

I,=MIN[h,, 8d,]= MIN[150, 400]= 150 mm  (d,= 50 mm )

, Cp=23850mm, s;=500mm, s,= 500mm

a=1.000, B= 2,200 mm

’

{(B-B ez

15khef+n-1>S2+1.5hef
a2

i

<Y 422-18> 2AYE FAF 2 U FIWA 44 - WEH4YY
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P Ay = [ept(h—1)Xs,+15ac, | x15ag,
= [850+ 1 X500+ 1.5 1.0 < 850 ] < 1.5 1.00 X 850

= 3,346,875 mm>

» Ay =45 ¢, "= 4.5% 850 =3,251,250 mm”

LAy =3,346,875mm* < n - Ay = 2x3,251,250= 6,502,500 mm’

Ay 3,346,875
> — C . . — 9 ) % 0. % _
Vg Ay Veav * Vo= 3on1 gmg < 0-900 794= 736 kN
o 7] A,
Yoqy= 0900 |cp< 15c, 1BF thqy=07403 5C
al

=0.7X [ 50} X /50 X /27 X 850" = 794 kN

1,=MIN[h,,, 8d,]= MIN[150, 400] = 150 mm

dy=50mm (F71&A 24)

i) 2895 R B/ Fuep
» WEWEF ) = Frgp Xng= 5449 x2= 108.98 kN (A= 2)

» WEAZPLGF [ ) =F g Xnj =73.37x1=T73.37kN (A3 1)
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YeaN *

= el AR
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Vg 1,116
- - bg )
> nlZ=HFEF ——= =10.240 > 1.0 ~ OK
Fhep 10898
Va, 736
> W zpEy B — =10.031 > 1.0 . OK
FATC b 73.37
@ ZAYE Zgfololx 1]
i) 29 ZagEe Zgololy Jn Ve (A 1%
=) chg: o 'Ncbg
o7IM, k., 1 FAYE Zefolokr Fe Al
h< 65mm ¢ 4% : k,=1.0
he = 65mm ¢ 3 k,=20
Ny @ &S e 47 259 228E 4%
Ay,
@ Ncbg_ AN wed7N Nb
CO
A7IA, Ay AT APES 9% @ A EE A 15
C
23 E 9l FF9HA, mr



Ca,min

1.5h,,

Ny @ Q88 E e 9d 979 7|2 ZAE 3R, N
N,=10/fy h'? (DA FA)
N,=394fy h,"? (280<h,<635me I=E=g}

., =1,350mm > 1.5h = 1.5x 150= 225

»C,,=80mm > 1.5h_ ;= 1.5X150= 225

|L5her

{n-Dsg

{mn-sg Sy

LShef |

<Y 4.2.2-19> Z ool FEo g FIHA 4 - s
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» Ay, =15 h+1.5h,) X (L5h+(m—1)s,+s + (m—1)s,+1.5h)

= (1.5 150+ 1.5 150)
X (1.5 150+ 1< 500+ 500+ 1< 500+ 1.5 150)

= 877,500 mm?

» Ay =9h_ 2= 9x1502= 202,500 mm?
N¢o ef

LAy =877,500mm’ > n - Ay = 4x202,500= 810,000 mm’

» Ny=10 /T4 h "= 10x /27 x 150"7= 95.5 kN

Ay 877,500
> pry —C . . fd Y >< ) >< E_ ‘
N e Ay VYean * Ny 202,500 1.000 < 95.5= 413.8 kN
o] 7] 4,
Ca.min
Vean= 1000 | ¢ i < L5her AT ¢q = 07+03 15h

ef

7]
»c,;=80mm > 1.5h ;= 1.5X150= 225

> ¢, =850mm > 1.5h ;= 1.5X 150= 225
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{B-B =)
1.5hef+{n-1>S2+1.5hef

a2
- T -

q

<39 4.22-20> ZzolotR Zxo g FIEH I - nHAGWE

» Ay, = (150 +15h )X (1L5h+(n—1)s,+ 1.5h)
= (1.5 150+ 1.5 150) X (1.5 150+ 1 500+ 1.5 < 150)

= 427,500 mm?

» Ay =9h = 9x150%= 202,500 mm?
Co

" Ay = 427,500 mm® > n - Ay = 2 202,500= 405,000 mm®

» Ny=10 /T4 h "= 10x /27 x 150"7= 95.5 kN
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Ay 427,500
=_"°, LN, = =25
Ny = Ay, Peax " No= 909 500

% 1.000 % 95.5= 201.6 kN

Yegn=1.000 [c, i < LBh VB ¢y = 07+03

h

ef

» Ve =k + Ny = 2.0 201.6= 403.2 kN

i) 289 W3 G7HAAY Fyp
» WEWEF L, = Frgp Xnp= 5449 2= 108.98 kN (A 2)

» WEAZPLYF |, ) =F o Xnj = 73.37x1=73.37kN (X 1)

i) #A7}
Ve 827.6
» W ZH}Ek P = — = 7.594 > 1.0 .. 0K
FL,,  108.98
VT
cmEAzpge @ =282 a0 10 . OK

F/EP,D 73.37

iv) 47 B2E #7} 99k
(3 422-20) 3A E2E A7}

o 05 052 2
T EEddw sedw) w4 | FRAY sadd wy
7 A 531 417 545 (7)_'6}; 417 734 5?618;
ZaEeds) | 1116 | 109 1%:;{4 6 734 185;
Zajolols W | 88 | 109 %{; w08 734 5?455
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207.1 kN

5

Ll

Hkx]
i = |

A

Hx

=173
™

=

)

1

81.3
]
]

B.D,comhb2
B.D,comh2
81.3 kN

99.7 kN

L
T

244

,combl ? F

T
B.D

MAX [99.7, 24.4]
MAX [31.2, 81.3]

p = MAX [F

31.2

Fl;D = MAX [Fél.D,comM? F
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A
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Force (kN)




~ OK
~ OK

2.077 > 1.0
2.547 > 1.0

207.1
99.7

207.1
81.3

Fi e
Fip
Fj
Fp p

56.5

69.3 mm
56.5 mm

0.0

MAX [0.0, 56.5]

MAX [69.3, 0.0]
g,D = MAX [5E.D,comb17 E.D,comb2]

0.0
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5II§,D = MAX [6II§.D,comb17 5Ié.D,comb2]

69.3

T
o't &o
X Xﬁ .
oF o) w
) S E
g mﬁ S
e A\L.m c8 ~
e g g T N
® * |
g g g o T
i 3 3 = ¥
o — =)
(=8 [ o "
I+ S < & =0
— — ~ lE
9 X X o ?
LB 3 I i o |ar
._U — ﬂn‘._ i ﬁo
Wm ) [ - N e
X S S) Na)
do =8 g8 0 ~ 70 £
oy el o o S
- o - N zﬁm.
,;IAU ,WN_ a0 vl <
Y ‘_.,mo 1u7m~| .. ~
A 0
iz mw zﬁwﬁ z_rwﬁ o
Ho * d
G) S) o
M-

AeEHS] (mm)




~ OK

2.078 > 1.0

~ 0K

2.549 > 1.0

3) dA BE

0

il
n

mK

o

w
H
fral

Gl

i) &4 4

STUD BOLT(12EA)

38|

38|

50

8€|

18€|

50

A4

7_9,

<Y 4.2.2-21> mZFw

L 150 mm

STUD Zo]

(y)

400 mm

7 CTC

w2 47 CTC

=0

N

¢

400 mm

144 mm

T

16

T
NI
|
gl

EA
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i)
iii )
iv)
V)

vi)

A E AAVERE f, = 24 MPa
PA<] Fachay A,y = 2011 mm® (ZE A& 28)
PAel AFHE f,, = 410 MPa (&, f,, <Min(19f,,860MPa))
B9 FEEIHol hy =150 mm

Y] =0 H = 5000 mm

=0 Ay f, (1714 n& B3] PAEE )

v
» WEWSF VE=4x201.1x410=329.8kN

» wEH 7S VI =4 201.1x 410=329.8kN

i)maclar s wal 17]9 BN B,
= = L L

i) 7}
] Vi 3298
> W EEF = oo = 3308 = 10 5 0K
FAS,D ’
] Ve, 29.
» WEA Y = 5298 _ 4057 = 10 - OK
Fasp 81.3
Q@ ZAYE 77
i) FF9%d ZAYE AL V, (A 1F)
Q) Y
» ¢,y = 900 mm, c = 900 mm

»s;,=400mm, s,=400mm, 6=90, a=1.0
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1.50Cal

(BFEED

Ca+(n=1>S2+1.5aCal

7

1.5aCal

<39 422-22> ZIYE FAFE RF B AQ - S

» Ay = [cpt(n—1)s,+15ac, | x15ac,
= [900+ 1< 400+ 1.5 1.0 900 ] X 1.5 1.0 < 900

= 3,577,500 mm?

» A, =45 ¢ 2= 4.5%900%= 3,645,000 mm?>
Vo al

~ Ay = 3,575,500 mm? < n - Ay, =2 3,645,000= 7,290,000 mm?

Ay, 3,575,500

= . eV, = 2 x0.9x827= kN
Ay, Peav Vo= 3 645,000 09 BT T
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o174,

Yeqv=1090 [cpy< 1bhcy VBT qy=07+03

15c

I,=MIN[h,, 8d,]=[150, 320] = 150 mm  (d,= 40 mm )

L,
Vb20.7[ } Vdo Vi Ca
dO

150

07{40

0.2
} X /40 X /24 x 950" = 827 kN

7]
» ¢,y = 1,300 mm, c,,=500mm, s;,=400mm, s,= 400mm

A
A
rg

n
A%

Cal+(m=-1>S2+1.5Cpl

1.5Cal

<19 422-23> ZAYE HAZEC] & SPUA 4R - 2F A7

- 329 —



» Ay = [L5c, T (m—1)s,+c,] X 15c,
= [1.5< 1,300+ 1< 400+ 500 | < 1.5 1,300

=5,557,500 mm?

» Ay =45 ¢, *= 4.5 1,300°= 7,605,000 mm’

" Ay, =5,557,500 mm? <n - Ay =2X7,605,000= 15,210,000 mm?>

Ay, 5,557,500
» pr— ¢ . . :;X .4 ><]_, 24: 1 kN
V e Ay Yeay * Vi 7605000 0.846 < 1,324 = 818
o] 7] 4],
Yogy= 0846 |c, < L5¢, A AT tpqy=07+03 5C
al

1 0.2
V,=0.7 {—e} Vd,
dy

=0.7% [ 4500} X /40 X /24 % 1300%° = 1,324 kN

l,= MIN[h, 8d,]= [150, 320] = 150 mm  (d,= 40 mm )

» WEWE Fiop =Frgp Xng=99.7x1=99.7kN (#&1: 1)

» WEAZPLGF ) =F (g p Xng=81.3x1=8L3kN (HLH: 1)

i) 37}
VL
> WY = T30 732> 10 . OK
Faco 99.7
VT
- MEA TG = %z 10.062 = 1.0 - OK
FAC.,D ’
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»¢,;=900mm > 1.5h ;= 1.5X150= 225 mm

» Cp,=900mm > 1.5h. ;= 1.5X150=225 mm

|1.5her

l

1.5hef |

1.5hgf+h-DSe+1.phef
1.5hef h=1>§2 1.5hef

<Y 4.2.2-24> ZFgololx B Ui FIHA 4G - g

» Ay = (15h+1.5h )X (1.5h+ (n—1)s,+15h)

C

= (1.5 150+ 1.5 150) < (1.5 150+ 1 % 400+ 1.5 150)

= 382,500 mm?
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» Ay =9h *=9x150°= 202,500 mm’
Co

Ay, =382,500mm® < n - Ay = 3% 202,500= 607,500 mm”

» Ny=10/f4 h ;"= 10x v/24 x 150"°= 90 kN

Ay, 382,500
g =3 cNy= : % 1.000 < 90=
Ncbg ANCO 'l/}ed,N Nb 2027500 1.000 < 90 170 kN
7] A,
C min
VYean= 1.000 |c, nin < L5h ol 7% Yogn=0.740.3 : gh
: ef

» Cp=0500mm > 1.5h_ ;= 1.5X150= 225 mm
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[1.5het

dm-1>s?

1.5hef |

(B-B ©f&i=>
1.5hef 1.5hef

<3¥ 4.2.2-25> ZZojotx Ard i FIWH A - AW

» Ay =150, +1.5h,) < (L5h +(m—1) s, + 1.5h,)
= (1.5 150+ 1.5 < 150) X (1.5 150+ 1 < 400+ 1.5 < 150)
= 382,500 mm®

» Ay, = 9h*=9x150%= 202,500 mm?

LA =382,500mm’ < n - Ay =4 202,500= 810,000 mm’

» Ny=10/f4 h ;"= 10x v/24 x 150"°= 90 kN

— 333 —



Ay 382,500

» :—C. . —_ ><1 >< :1
Ng= 5 Yean - Np= 55705 % 1000 90= 170 kN

Yegn=1.000 [c, i < LBh VB ¢y = 07+03 h

ef

» WEWE Flp ) =Frgp Xng=99.7x1=99.7kN (A1)

12193 Fpp =Fagp Xng =81.3x1=81L.3kN (A7)

i) H7}F
] vk 340
. wEulel e o7 =3410=10 - OK
FAP,D :
v
s AHFAZYY = 31;“):4.182 > 1.0 - OK
Fl, 813

iv) 47 B2E #7} 99k
(3 422-23) 34A E2E H7}

H e A A s
TOE [ agan|rean] w4 | wwee|cean| w4
A 53 308 | 997 ??3?8 3208 | 813 4?015{7

SERLEREY 730 | 997 70312{2 818 | 813 186%2
sejolol sl | B0 | 07 e 30 | 813 o
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Z0] N.= 1100.0 mm

- gHMS) = MAX [ we) mEa W), A5y aEgg we)

MAX [ 69.3 , 3961 ] = 69.3 mm

FE WEUG NG = GRAGNS - AT ARs)

= 69.02 - 2941 = 39610

@ Np= MAX [59¥9], N_. ]=MAX [69.3, 500.82] = 500.82 mm

]

S

» N_.. = (200+ 1.67L+ 6.66 H) < (1+ 0.000125607)

= (200+ 1.67 X 90+ 6.66 < 22.6) > (1+ 0.000125 < 0.0?)
= 500.82 mm
o714, L=190.00m (

3) WS B

Ne 1100

=2.196 > 1.
N, 500.82 % =10

~ OK
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ok gd 7= Bt

D gz Ad 2 3%

.50
| ‘?F\Fll:sn [‘ D
|
|
e |5 g | g 0
200 _11::_ 200
g ,;!D T -
|
:
|
1

]

iy
sisee

[

<319 422-26> &di71x Ad 2 FF

2) F71ze] kA4

(% 422-24) 71 % Z=4=x49
7 = Nf(kN) H(kN) Mr(kKN-m) | Mf(kN-m) H 1
w=rEk 7293 1694 27,002 3,553
L2 gk 7,298 209.8 27,002 4583
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i) A&l tigh b A7t

(3 4.2.2-25) A% <-4 A7t

NEEEY v e | o8 |
TP eem | Nm) | @ T D m | o | T
wEwer| 27002 | 3553 | 7298 | 7601 | 0487 | 2467 | OK
sl 27002 | 4588 | 7298 | 58%5 | 0629 | 2467 | OK

@ s8AAE HE

i )Ake] SEAAE Qe

i) 71Z A 8448 ( Q¢ )

Qc =Q/a /SF =29%716 / 47555 / 2 = 3119.7 kN
ek Q. = Q/a /SF = 276025 / 45455 / 2 = 3.036 kN
> AFREe] AAL Hoff Ak o] Ak Qe = 900 kN

b= 185.8kN

Qc 900

O PN 4844 > 1.00 0.
Q, 1858 ok
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OK

1.20
1.20

~ OK

20.87

209.8

422-27) U7l =

4.473 = 1.00
4.2.2-26) %

4,379

hyA
ar

YA
it

(

(

900

201.208 MPa
201.2

Qe
Q
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g
" s
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k1
ks

- - {E
e N TT1 1
o { Y -
: | | f
—_—
T L]
<19 433-1> FFHE Fx23Y
7h xR
1) 32 rAy FagE FE2UA

2) 174 : 2R=2.5m

Y. A5 4 2 A=A
1) Z2agE
O AAXE : f,=27TMPa
@ ®AAS ¢ E,= 25,500MPa
@ E&EH] 1 op=0.17
@ GYFTF ¢ 4,=25kN/m? (R EZAYE)

Ve, = 23kN/m’ (22 A2 E)
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250 m
4.80 m
250 m
2.20 m

1.00 m
1.00 m
1.30 m
1.00 m

55.24 m
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M
el
w o
o =
[an)
S S
X
A
OIS
H
ﬂo
e oo
) Mo 70
UGS
N

E,= 2.04x10°MPa

A

@)

gl

=

E]_]_'

3) A

0.5

¢ K,=1—sin¢

@ AAEdAF

20kN/m?

=

o
Nfo

@ e EAF F9

A5 AYEY

<a¥ 43.3-2>

% 4g)

1.00m (&+¢

‘B =

3
=

1)

2) T t

= 1.5214m
ts2 = 1.30m

: tsl
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1
1) AEEHE, =9 1 p,=80x20° = 217.2m/sec

1

i) ARsdE, 59 = %x 217.2= 108.6m/sec
)

B y,= %x 294.7= 147.4m/sec

H =¥ g= %x 108.6*= 24,069kN /m?

i
ii) st¥-&Edr : G,= %x 147.4*= 44,340kN /m?
E,

@ ©AAST E=20+v) Gy
i) AREdB, =9 0 F=2x(1+0.3)% 24,069= 62,579kN/m?
ii) 3lr<EdH © E,=2x (1+0.3)x 44,340= 115,284kN/m>

—— a E,= %x 2% 62,579= 417,193kN/m”

_3 3
s 3
—) = 417,193 < (%) Y= 54,735kN /m®

X 54,735= 18,245kN/m>
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8X 4.8 =4.8m

N

3
By\ 1 - t
Ky= Ky, < (—) = 417,193 % (%) = 52,149kN/m?
|

Keg= )+ Ky= éx 52,149= 17,383kN/m”
@ srsdr
i) A=A Ak A

1 1
K= 53 @ B= 53X 2x115,284= 768,560 kN /m*
_3 3
i 45\ 71
Ky= Ky X (—; = 768,560 < (%) 1= 100,835kN/m?

% 100,835= 33,612kN/m?

o=

O Ca = 0.13
@ Cv = 0.18
3) A FHIEEAT, Ay
O 9= A, 1= 1.0 (AMEF7] 5006)
@ AxEW FH/ME=ASG, Ay =1-Ca = 14 x 016 = 0.224g
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N o4 H.

T /: 1

¢ 2121 Vsi
1
V,=80N?

AwkERF | T, H(m) N V., (m/sec) T,
) 3 10.19 20 217.2 0.188
ALS 5.60 50 294.7 0.076

> 15.79 0.264

T.= 1.25T; = 1.25x 0.264= 0.330 sec

3) TATF7 T, T,

¢ _ 018
25C, 25x0.13

Ty= = 0.554 sec

7,= 0.2T¢= 0.2X0.554= 0.111sec

4) ol A BRAgAT ¢

1.5 - 1.5 -
010" Joo gy 0= 0667

o71M, e HBAFEANA h=02 ol

Cy=

=

5 MR SRHAIEY

o 2.5C,— C,
-0<7.<7) 4 W, §,= Cot ——F—Tg|-g-1-
0

7,(=0.111sec) < 7T,(=0.330sec)< T4(=0.554sec) ©] 2=

S,=25C,-g-1-Cy4=25x0.13x9.8x1.0x0.667= 2.123
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6)

7)

8)

L

[0) b3
sHEHER g

Tq 0.330

= -—09,= X 2.123= 0.112

27 ¢ 27

E ) Z; Uy (2;) U, (z,)— U, (H) P(z)
(m) (m) (m) (kN/m’)
disdBE | 50.440 0.0010 0.0010 55.570
st-EefH | 55.240 0.0000 0.0000 0.000
st A o =
P, = 55.57T0kN/m” Pn Pn
P,= 0.000kN/m?
Po Po
T
= L g .1, si Zu )
Tu — 7T—H v o sin|(m - Vi
_ 24,069 (50440 ) 2
=~ tr o0 ><O.112><0.330><Sln(7r>< 2X55.240) 5.059kN/m
B Gd S T . ( 2y )
Ty = R G sin|m - "
_ 44340 (o ssaa0 | 2
= wx55.240XO'HZXO'?’?’OXSIH(WX 2X55.240) 9.408kN/m
+
- T . T _ 5.059; 9.408 _ 7,233 KN /m?
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7,= 5.059kN/m’
7= 9.408 kN /m”
7,= 7.233kN/m*

349

it K
AEZYHE f, = 1.000 %25 % 0.13= 3.250kN /m*
SRS HE f,= 1.300 X 25 ¥ 0.13= 4.225kN/m?
29 f = 1.000x25%0.13= 3.250kN/m?
3= A 5=
AHEHE f,= 3.250kN/m”
SHE-EEH f,= 4.225kN/m”
=W f,= 3.250kN/m”
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A} AR A AT

(% 431-1) #H3Ege 243 A4

279 % A= v, (kKN) R2AE M, (kN - m) v 1
AR B (A ) 201.00 81.00
o A 361.00 250.80
o ah - 690.00 803.70
S o 1,230.40 803.70
s L} Zo 194.20 326.00

<f
4

AX: 8087

Do

-
g
F

®

@

HIDAS/Civil
POST-PROCESSOR

" BEAM DIAGRAN

SHEAR-z
1.25009e+003
1.01217e+003
7.74247e+002
5.36323e4002
2.98399e4002
0.00000e+000
-1.77449e+002
-4.15373e4002
-6.53296e+4002
-6.91220e+002
-1.12914e+003
-1.36707e+003

CBall: A AAlenv

WX 7 57

MIN : 30

FILE: 20110213 _-

UNIT: kN

DATE: 06/29/2012
VIEW-DIRECTION

t

=

NIDAS/Civil
POST-PROCESSOR

__oean omacuan

MOMENT-y
8.03681e4+002
6.57556e4002
5.11431e4002
3.653064002
2.19181e4002
0.00000e+000
~7.30689e+001
~2.19194e4002
-3.65319+002
-5.11444e4002
-6.57569e4002
-8.03694e+002

cBall:
HAX ¢
MIN :
FILE:
UNIT:
DATE:

AR env
&5
30
20110213 _~
[ 2Y
06/29/2012

VIEW-DIRECTION

t

=




2) Srzdn - v

B=1,000mm, A=1,500mm, ¥ 5% =100mm, d=1,400mm
A,= 4,118mm?* (1T : H29-4EA, H22-4EA)
& A,= 1,146 mm* (H19-4EA/m, s=250mm)

V, = 1,230.40kN
@ Bol W A=
Ay £y 4,118 X 400
O 085 f. b 0.85x27Tx 1,000  LTT3mm
¢rM, = by A f, ( )* 1.00 % 4,118 x 400 1,400 — 27

= 2,246.97TkN —m

op M,  2,246.97

= >
M, 803.70 = 2.796 1.000 0.K

@ detel ik HE(d=1,225mm, "FAE &H 8 are)

&, VC:qSU% fo bd= 1.00><%>< V27 % 1,000 % 1,225 = 1,060.88 kN

1,225
250 % 1,000

¢, V,= ¢, V.+ ¢, V.= 1,060.88+ 2,246.16 = 3,307.04 kN

& Ve 3,307.04

= = 2.688 > 1. - 0.
v 1.230.40 2.688 = 1.000 0.K

o, Vi o, A, fysibz 1.00 < 1,146 > 400 2,246.16 kKN
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3) O}T'*F/H = %
O wAAd 2 2AY

B=1,000mm, H=1,300mm, ¥ &5F7=100mm, d=1,200mm

ot

M, = 326.00kN —m

HHT A,=3,575mm? (19 : H25-4EA, H22-4EA)

V,= 194.20kN
@ e gist HE
A fy 3,575 < 400
O 085 f. b 085x27Tx 1,000 023l3mm
6 M, = ¢; A, fy( —)— 1.00 X 3,575 % 400 % (1,200 — 62'2313
= 1,671.45kN —m
oM,  1,671.45
- = = . > . '.
7 396.00 5.127 > 1.000 0.K
Q At foz} HE
b, V._ o, 5 1/ bd= 1.00x — x\/ x 1,000 % 1,200= 1,039.23kN
¢, V,= ¢, V.= 1,039.23kN (?ﬁ‘%é% HE B29)
¢V, 1,039.23
= = 5. > . “.
2 o120 — 2351 = 1.000 0.K
4) AEEHBE(HAGE)
O dHEAd 2 Fay
B=1,000mm, H=1,000mm, 3 &F7]=100mm, d=900mm
FoFHdT 4,=1,146mm’> (19 : HI9-4EA, <1%54 = 100mm)
Fd=AT 4,=7944mm? (19 : HI6-4EA, ¢=54 = 100mm)
P,= 2,859.53kN
M, = 81.00kN —m
V, = 201.00kN
@ Fureky 9 o gisk A&
M, 81.00
e= o m—0.0283m
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t
1,146 )+ 400 < 1,146

maxP, = 0.8[0.85 f, (A,— A,)+ [, A, ]
= 0.8 x[0.85 %27 x (1,000,000 —

= 6.535 = 1.000

= 18,705.68 kN
oy ¢y max P, = 1.00x18,705.68 = 18,705.68kN
o ¢p P, > e= 1.00x18,705.68 < 0.0283 = 529.37kN —m
529.37 ~ 0K

)

—

M, 81.00
Q@ At 3k AE
1 Py bd
¢L Vc (bb 6 _4A fck
1 1 2,859.53
= 1. X —X — | X/ X X
1.00 6 (H 14 1,000, 000) 271,000 900
= 779.58 kN
b, Vo= ¢, V.=T79.58kN (T A& 599)
o, V, 779.58
= > . .
7 50100 — 3879 = 1.000 0O.K
5 49 - AF
O diEAd 2 By
B=1,000mm, H=1,100mm, 3 557]=100mm, d
FAaFAT 4,=1,146mm> (1% : HI9-4EA, <13
FF=AT A4,=1,146mm? (1 : HI9-4EA, &
P,= 2,795.22kN
M, = 250.80kN —m
361.00kN
2 Fof gk HE
= 0.0897m

V,=

250.80

J-I

= Pu

e

= 20,541.68kN

@ &4
M,
92,795.22
maxP, = 0.8[0.85 f, (A,— A, )+ f, A, ]
= 0.8 x[0.85 %27 x (1,100,000

1,000 mm
100mm)

A -
100mm)

=

3
=
K3

=
%34 -

t
1,146) + 400 < 1,146 ]
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¢; P,= ¢; maxP,= 1.00 % 20,541.68= 20,541.68kN
¢y M, = ¢ P, e=1.00x 20,541.68 x 0.0897 = 1,842.59kN

¢r M, 1,842.59
M 250.80

u

Q@ detoll i3t HE

= 7.347 = 1.000 - 0K

o V= i L) g
v Ve v G 14Ag ck

. 1 1 2,795.22
= 1.00 ¥ G x(1+ T4 1,100, OOO)X V27 X 1,000><1,000

866.18kN
¢ Vo= ¢, V.= 866.18kN (I HET HE &

e

2)

¢ Vi _ 866.18
V,  361.00

u

= 2.399 > 1.000 - 0K

,—3]_
I
,0
)

6)

2
N
o o

2R

e
oo o &

mm, H=1,200mm, ¥ &5F74=100mm, d=1,
< A,=1,146mm* (1 : HI9-4EA, 2354
=

& A,=1,146mm?* (1¥+ : HI9-4EA, ¢+

o
(e}

m

% 9
o
nu i

=
2,825.24kN
= 803.70kN — m

= 690.00kN
Fel 9 3o e AE

<§“U

u

el

@

Ay

M, _ 803.70
P, 2,825.24

u

maxP, = 0.8[0.85 f. (A4,— A, )+ f, A, ]

= 0.2845m

e =

—m

100mm

= 100mm)
= 100mm)

= 0.8 <[0.85 %27 % (1,200,000 — 1,146 ) + 400 < 1,146

= 22,377.68kN
¢; P,= ¢; maxP, = 1.00x 22,377.68= 22,377.68kN

¢y M, = ¢ P,x e=1.00x 22,377.68 x 0.2845= 6,366.45 kN — m

or M, _ 6,366.45
M 803.70

u

=7.921 = 1.000 - 0K
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@ el g HE

1 1 P,
(rbv Vc_ ¢’L 6(1+MA9) Vfck bd

= 1.00 %X (1 4L 282524

— | X X X
14 172007000) V271,000 x1,100

= 908.48kN

e

& Vi 908.48

= = 1. > . .
7= Goo.00 — 1317 = 1.000 0K

A 712 AANY AEAEAGFLE HE)
D A #uk gk (X849 vjarg)
@ FAAZ : 356.098 / 450 = 7913 kN/m
@ AAsF ¢ 2553.300 / 450 = 567.40 kN/m’
© Hdh Ak g 2 F AT + AHsT = 646.53 kN/m’

2) 8447

Q,= 1,000.00 kN/m’

3) AAE A=

@, 1,000.00
Qnax 64653

= 1.547 = 1.000 - 0K
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4.4 AT E - ¢ =2
441 71E %3

2 AFNAN AFE-HFEY T FHE AFA(H) FAAIEEEH
AFA ()] AggFo met <29 441-1>3 2ol vg&Hx A3 FA}
st iR AFRE oy, FolEFAtdlA #Eldte "R AFA
(ol AX9 o FE-HFRE <I¥ 44.1-2>9 o] AR U
iow TE=1E & T E AR

1B
|
N
N,
lo
ofk
>
%
tlo
>1\1
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e
=
Pﬂi
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zeAd T71E e FAA
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=

o] Ayl HAFHEW o= u}
ATE-NFREE FHFEHI(ES)T o] AEE Adto] digt W AA
Wt ol e} mﬁ*é sH7IE 93 dEre VFow AL JE ASE
g 2, "WRAAZE=AFHI)A997), , "FY

S - ofell A A Aol
|

= zl
*@4713}?”1*}0*7412@7417 = - Z9HE2002), , ""HE AA7I=(200
I
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443 WRAAS FrhdA U 23dE F297

201

6,600
6.000
4,600
6,400

500XE00 500X500

6011 200J

100 1800

<31¥ 443-1> U¥ IYE F2AA 23

N FERES AJTY To A" A1 eH AFAY FHEALZ
A, <ZH 443-1>0f EQl npe} o] A¢k AF(Sp)ell AAH UF 22
JE FR2UYA FRELG WATHS AFA AA WileHF w43
W I551,0008 AdF7], AFA AAS WSS 43 A
F7] Doz EFFoH, Aerse SFAFENS 1A

GEELE
D 34 U ZaYE #2944
2) 74 B20mxH6.0m(4] &)

. As 24 2 AR A
1) Za9E
O AAFE : f,=2TMPa
@ BAASG 1 E,= 28,693MPa

Q@ XE&EH] : u=0.17
@ G995 RC-v,= 24.5kN/m?, F-T—~.= 23kN/m?®

2) A<H(SD400 o] d

O FHA5= 1 f,= 400MPa
@ XA ¢ E,=2.00x 10°MPa
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of jFrkEzt 9= 30"
A BEXAT ¢ K,=1—sing= 0.5
& BEAF @9 FF 0 4,= 19kN/m?®

==
=
G FHF ¢ 4,,,= 10kN/m?

<
A A AR FEAHJAIREE 0 N=50

o, HEd
1) 2239 H 8 A (Beam Element) AF-&
2) RSB A AAHE NL Link&4 A8 (GAP 84

34

41 ~ 35

1

.,

26/~ 132

3@0 5@1.050

2~ 24 25
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5.250 ‘
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| D I S U T T Bt/ TN T D (D (D R S |

4

2 43 44 45 46 47 48 49 50 51 52 53 54 55 56 57 58 59 60 61 62

oo

18@1.030=18.540 2@0}3&0

@Z\ : @
) ®

(a) 4 Wz

O-@

5.250

5@1.050

0

3

)

)

) D D G D G D i/ D G S B0 D G0 D D G

1@ @wWwee@e@wwe®@e ®ee®®®® @

0

18@1.030=18.540 2

(b) H-A H&E
<19 443-2> UY ZadE $£=2I4A HH=d
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a=2 (B, 2Rl tgk BAAS @ AXA)

E,= 2,800 N= 2,800 X 20= 56,000kN /m?

By= VBL= 21.20%x20.00 = 20.59m (L < B)

1 1
Kyy= 53 0 By= 53 X2>56,000= 373,330 kN/m”
B\ i ;
4 20.59 | 1
Ky= Ky, 0;) =373,330><( 829) t  15,655.67kN /m?

(3 4.4.3-1) Aukabeg Al

A ka4 A AE A g A3
Ky, K< &200+ &230): 12,759kN/m 1, 25
K, K< &;’OJF &230): 16,125kN/m 4~22
Ky 1x10"kN/m 13

mh. FR A DA S

D F9A5(2) - 011 (RS 1)

2) A=A 1.4 (AMAF7] 1,0006)

3) AAIF(S) 1.0 (Sg A HH)

4) FHARAASG Ky =1-7Z-S =14 x 011 x 1.00 = 0.154g

v}
'—I_‘
X,

ol
of

D

N
Wt 2P

N

Nt
= = —

Ho mo 1y




- ¥ wHI AF o] o] F= ZF 1 3= 2.386"
S R = 4 S R
- THIEEAT k= 0.154g
o= tan | — | &, = 7520
1-K, |7V
_ Vsub
- ¢'= tan 1( d )K = 3.974 °
1=Ky v v
cos’(¢—0—3)
fed in (p+0) - sin(p—a—0) |’
) sin . —a—
cos 6 cos*Bcos (6++6) [1—1— \/cos (@=p) - cos GF3+0) }
= 0.436
, cos’(p— 0" — )
fea T T
;9 , sin - sin (p—a—
cos @' cos*Bcos(6+3+6") [1+ \/cos (@=3) - cos G340 }
= 0.392
2) E
<AFEIT G B> ABEIT) S A4S
W = 0500x23x0.436 = 5014 KN'm' Ww = 0500x23x0436 = 504
W = 5014+0.350x19x0436 = 7913 kKN/m' Wy = 5014+0.300x19x0436 = 7913
Wiz = 7913+1.050x19x0436 = 16612 kKN/m* Wis = 7913+1.050x19x0436 = 16612
W = 16612+1.050x19%0436 = 25310 kN/m' Wy = 16612+1.000x19x0436 = 25310
Wi = 25310+1.000x19x0436 = 34008 kKN/m Wi = 25310+1.050x19x0436 = 34008
Wie = 34008+1.000x19%0436 = 42706 kKN/m' Wy = 34008+0.600x19x0436 = 33978
Wiz = 42706+0.250x19x0436 = 44777 kKN/m' Wy = 38978+0.450x10x0392 = 40.742
Wis = 44777+0500x19x0436 = 48919 kKN/m' Wis = 40.742+0.250x10x0.392 = 41722
Who = 48919+0300x19x0436 = 51404 kN/m' Wi = 41.722+0500x10x0.392 = 43682
Who = 43682+0.300x10x0.392 = 4488

3) A B
[i= AiXq. Xk,

@ sEdu

f,= 0.600 < 24.500 < 0.154 = 2.2638kN /m?

- 359 —

KN/
KN/
KN/’
KN/
KN/m’
KN/’
KN/’
KN/m’
KN/’
KN/



fi = 0.350 x 24500 x 0.154 = 13206 kN/m?
f, = 0.394 x 24500 x 0.154 = 14866 kN/m’
fy = 0438 x 24500 x 0.154 = 16526 kN/m?
£, = 0481 x 24500 x 0.154 = 1.8148 kN/m?
fs = 0525 x 24500 x 0.154 = 1.9808 kN/m?
fs = 0569 x 24500 x 0.154 = 21468 kN/m?
f = 0579 x 24500 x 0.154 = 21846 kN/m?
fs = 0.600 x 24500 x 0.154 = 22638 kN/m?
fo = 0.600 x 24.500 x 0.154 = 22638 kN/m?

4) A=

(a) AN ESH(FHF) - (b) AIANE}(HZF) © AstF9] 4y

AANEJ(F-5) - Ask+9 f

e
-
o953

fe

et L]

g il

1 (f) TAeg9 2

i or

(e) T4

(g) T4 A%
<39 44.3-3> FFA}=
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(3 443-3) UY ZagE F2d4A9 328 HA
B9 % e Ak EHE B H
P, (kN) V, (kN) | M, (kN-m)| (mm) (mm)
o ZFopr 62.30 14851 232.44 1,000 546.88
o GRS 87.47 201.47 A477.74 1,000 766.67
m | T 265.14 90.79 530.76 1,000 766.67
sHE | zq 284.54 11.96 24.27 1,000 600.00
A 9HAE
D) AAFE 9@ AegaAs
O AAA=
fu= 27MPa
f,= 400MPa
@ i AS
¢;= ¢,= 1.00 (7] Eo P A E 1EsHA &
2) StE-EYH - di
O gHAY 2 Fa
B=1,000mm, H=766.7mm, 35 57=100mm, d=666.67mm
AT A,=3,096.8mm? (19 : H22-8EA, Z %24 @ 100mm)
M, = 530.76kN —m
V, = 90.79kN
@ Fd g3 HE
 AJf, 0 3,096.8x400
O 085, b 085x27x 1,000 oo9Tomm
oM, = ¢; A, f, ( —)— 1.00 % 3,096.8 % 400 % |666.67 — 53'375
= 792.39kN — m
op M, 79239
" B30~ 1493 = 1.000 . 0.K

u
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@ Hdetel i3k H E(d=666.67mm)

o, :@% fo bd= 1.00Xix V27 % 1,000 < 666.67 = 866.03 kN

¢, V,= ¢, V.= 866.03kN

¢, V. 866.03

= . > 1.
% 90.79 = 9.639 = 1.000 0.K

B=1,000mm, H=600mm, ¥&EF7=100mm, d=500mm
FAHT A4,=2,292. omm? (1% : H19-8EA, E %4 : 100mm)

M, = 24.27kN —m

V,= 11.96kN
@ el dg AE
A fy 0 2,292.0 <400

= 39.948 mm

T 0851, b 0.85x27x1,000

¢ M, = ¢ A, f, (d— %) = 1.00 X 2,292.0 X 400 X (500 - 39'2948 )
= 440.09kN — m
¢r M, 440.09
J pr— — . > . ...
i Sign = 18133 = 1.000 0K

u

@ A tigt AE(d=500mm)
8, Vc:@% I bd= 1.00 ix V27 % 1,000 X 500 = 649.52kN

¢, V,= ¢, V.= 649.52kN

v I/’H .
O Vn _ B19:52 _ o) 508 = 1000 - 0K

V, 11.96

=9

O dHAd 2 59

B=1,000mm, H=546.9mm, 3 &5F7=100mm, d=446.9mm
A,=2,694.4mm?* (1T © HI9-4EA, H22-4EA)

M,= 232.44kN —m

V,= 148.51kN

— 363 —



@ ol 3+ HE
A f, 2,694.4 400

= = 46.961
085 f. b 0.85x27x1,000 J0-96lmm

a=

¢r My = ¢r A, fy (d— %): 1.00 X 2,694.4 % 400 x [446.9 — 20001
= 456.34kN —m
¢ M,  456.34 .
" 93944 — 1963 = 1.000 - 0K

u

@ Aete] gk A=
&, VH:@,% VFx bd= 1.00><%X V27 1,000 X 446.9 = 387.03kN

¢, V,= ¢, V.= 387.03kN

¢, V.,  387.03
= = 2. > .
7 TIsap — 2606 = 1.000 O.K

=z |
|
O dHAd 2 2AY
B=1,000mm, H="766.7mm, ¥ &5 F7]=100mm, d=666.7mm
A

.= 3,096.8mm?* (1% : H22-8EA, A% 4] : 100mm)

M, = 477.74kN —m

V., = 201.47kN
@ Fol 3 A=

A fy 3,096.8 x 400

a= 0.85 f.. b = 08527 <1000 53.975mm

Or My = ¢y A, f, (d—%)= 1,00 %3,006.8 400 x (666,67~ 2227
= 792.39kN — m

¢y M,  792.39
= = . > . -.c

77 oy = 1659 = 1.000 0K

u

@ Hdetel i3k H E(d=666.67mm)

1 1
9y Ve &y 5 V/Fa bd= 100X £ /2T % 1,000 X 666.67 = 577.35 kN

¢, V,= ¢, V.= 577.35kN

C

¢, V.  577.35 .
V= S0L4T 2.866 > 1.000 s 0K

u
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2 712 AAE ARRANGFTLE HE)
D Hol A vk v (K] st9] ward)
O FAAF ¢ 457.415 / 21.20 = 21.58 kKN/m’
@ Hof AN 9 Quax = 21.58 kN/m’
2) 3-&AAH
Q,= 1,000.00 kKN/m' (EZZALH 1A &)
3 AAE HE

@ — 1,000:00 _ 339 = 1.000 s 0K
Qmax

21.58
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444 A5 A7t A LY &9

0,113, .0.387
36 57 1000
5
31 5,407
—Er—ah | 25l
e C8 0,600
ﬂ 0.800]
0. 60| 3.100 2.100
3.900 .ED[{ 1.500

<29 4.4.4-1> L3 $4(H6.253mxB6.000m) 34 &H

T EEe AT To Add Wil ss AFAe] FEAdR
A, <2¥ 444-1>0] Bl uiep ro] Ak AR (Spel A" LY M
Tz WleE2 AFA AA] WXeHEId A WIISF
(1,000 AAF71, AgA AAe] HAESHA L3 AAF7] o=

et e, dered SAWAFEHS s

7. Alg 4 2 A =24
1) 238 E 9) A
© AAFZE ¢ fu=27TMPa O A2EF
@ BAAS ¢ E= 28,693MPa Q@ FEAL
© EokEH] 1 =017 @ B A 4
@ G FF ¢ 4= 24.5kN/m?
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3) Az

@O SAl=E WA/ BAY g =30" /5= 129"
@ SAES dATH/AAEE 4= 19kN/m? /1.000m
@ A AARE R 2ZE/ =2 0 g,= 307 /e= 0kN/m’
@ ¥HdEe B9 D=1.000m
4) A[DASF 2+
O ARNFSAF 011 (ARIFS)
@ A=A - 1.41,0008 AAF7])
@ 7F&E=AT A ¢ 0.154g (0.11x1.4)
@ FHAZJNAST ky : 0.077 (0.5A)
5 AXAl EQF AR 1 AlE HFaj7IHEY 2 T HEA])
6) A3k, ¢= 10.00kN/m
L L s L=
SHAELR stF 2H3
O As 2 AAE stF A
(3 444-1) A5 2 FAE stz AL
= A % W H X y Mr Mo
Cl 0.810 19.86 153]  0200] 2651 397 405
C2 0611 14.96 115] 0357 3552 533 409
C3 1.045 2561 197] 0542] 2651 13.83 5.23
C4 0.000 0.00 000] 0550] 0.850 0.00 0.00
C5 0.000 0.00 000 1833 0.850 0.00 0.00
C6 3315 81.22 625 1950 0425 15837 2.66
C7 0.263 6.43 050] 4600 0683 2958 0.34
C8 1.260 30.87 233 4950|0300 152.81 0.71
C9 0.480 11.76 091] 4200 -0.400 4939] 036
| 7784 190.71 1468 41334 1672
S1 28.09% 533.32 4110]  3400] 3552 181498] 14598
S2 1.045 19.86 153] 0671 4452 13.33 6.81
S3 0.000 0.00 000] 2867] 0850 0.00 0.00
S4 0.000 0.00 000] 4950] 0850 0.00 0.00
S5 0.263 499 033 5300 0.767 2643 0.29
S6 0902 17.14 1.32] 2003] 65% 34.32 8.69
S7 3.3% 64.52 497 4302] 6753 27758| 3355
27 | 33702 640.33 4931 216664, 19533
A | 41.486 831.04 63.99 2,579.98| 212.05
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@ AR FEEUAT AN Y SH71H)

i) SlAl&e BHebaz; 5= 3+0=4.403°

(3714, 6= tanl( i

i) 719 zmef w
a= 5550° 4 o
(A

, = 03683 Hulzk
71% % We = W/cos(®) = 344.490 kN)

. K,— 0368
K., — 0368 x cos 4403 = 0367
K,.— 0368 x sin 4403 = 0028

i) P, = %Kaeh ~, H= %x 0.367 % 19.0 X 7.253 = 183.535 kN /m

. 1 2 1 2

V) Poy= o Koy HP= X 0.028X19.0 X 7.258°= 14.132KN /m
B 7253

V) y= 5= 5 = 3627m

vi) z= 6.000m
vil) M,= P,,, X y= 183.535 X 3.627= 665.591kN —m
vii) M, = P,,, X x= 14.132x6.000= 84.793kN —m

aev

@ Atz @ 7HEiH e o] HAstT > 4
7Hgai AWl A8k 7HA ek % A4
¢= 10.00kN /m?

Py,= 33.960kN/m
= 4.302m
M,= Pyx z= 146.095kN —m

Tkl e,
Ak,

7]

A

—

2) 3tz
(GE 4.4.4-2) MAPHEL s
T T V(KN) H(kN) Mr(kN + m) | Mo(kN * m)
FIYE A% 190.707 14.684 413.343 16.719
HAE AF 640.330 49.305 2,166.641 195.327
L= 14.132 183.535 34.793 665.591
P 845.169 2477.525 2,664.777 877.637
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3) Az st A AE
2V = 845.169 kN
>Mr = 2,664.777 KN - m
>Mo = 877.637 kN - m

B YMr— Y¥Mo _ 6.000  2,664.777— 877.637

2 Y 2 845.169
= 0.885m < %: &600: 1.000m .. APhE] & dhE R

= ——=2.000m - 0K

HA AE ! e=0.885m < % 6200

X Mr 2,664.777
°lHdE& HE : SF= == = 3. > 1.
e HE D SF Mo 877.637 3.036 = 1.500

4) A Aol gk FPHE
=]

O A A ARk 3 EAAE 1 Q= 1,000.000kN/m?

~ 0.K

_ V([  6Ge|_  845.169 60885 | _ )
@max BL(1+ B) 6.253><1.000( 6.253 ) 265.589kN/m
_ ZV[, , 6e|_ 845169  6x0.885 ) _ 5
@nnin = BL(1+ B) 6.253><1.000( 6.253 ) 16.134kN/m
Q, 1,000.000
2 AE A 2 == = 3. > 1. s 0.
@ AAH A 0 565589~ 3765 = 1.000 0O.K
5 &Fol U3 AR
O AxxA
7| ZAAAGEe] vt AG = tan ¢u= 0.6
7| ZA W} Aukyhe] BaE o=

Z|ZAWe FaAEHA A= B' X L= 4.483x1.000= 4.483m*

"= B—2% = 6.253—2x0.885= 4.483m )

Ho= Cy A + XV tan ¢pp= 0 4.483 + 845.169 < 0.6 = 507.10kN
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®

)
o

2 H,
Hpy= X H= 247.525kN

) H .
@ 8= Ag ;. ¢ 500101 g~ 1900

H,  247.525 - 0K
. 949 AE
1) AHkutre] AA (7| 29 HH ES)

>V = 8451 kN - m
>Mr = 2,664.777 kN - m
>Mo = 877.637 kN - m

B XMr—SMo _ 6.000  2,664.777— 877.637
€T 5 oV T 9 845.169

= 0.885m < %: %: 1.000m .. APt HhE R

_ ZV( , 6e|_  845.169 60.885 | _ )

@nax = BL(1+ B) 6.253><1.000( 6.253 ) 265.589 kN /m

2)

845.169 ~ 6x0.885

Cnin = ﬁ(l B ): 6.253><1.000( 6.253

)z 16.134kN/m?

T | SR | AEAT | AT | Akt | AR F

Ak | 102.257| 558419 0.000] -525.678| 22612 157610

RAlE | 263338 1,491.246 0.000| -665.287 117.580| 1,206.877
@ #A G

i) ARA FEEDAT AEA Y FA471H)

- S5 R R L 9= 30"

- SAEEHe A p=129°

- S A ES] v 6= 10

- SHule] AHFA 6= 4.097
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- H7)e) Awe] e FEEQASF

a= 5550° d W, K,= 05110

. K= 0511

K,

aev

Z o gk

(#H71%%F We = W/cos(®) = 264.663 kN)
K,,= 0511 x cos 4097 = 0.510

P

_ H_ 5.403 _

y= 5= "5 =2702m
Mo: Paeh

0.511 x sin 4.097° = 0.037
i) A AL HA(EH, C-C) @

i) Al o] B He] o3k g ALk

X y= 141.355 X 2.702 = 381.870kN — m

1 1
wen = 5 Haen H*= 5% 0:510% 19.0 X 5.403*= 141.355kN/m

(3 4.4.4-3) AZA @A Ao ok dHs AL (ES] kN, m)
T A ~y W Kkn H y Mo
Cl1 0.810 19.856 1.529 1.801 2.754
C2 0.611 245 14.958| 0.077 1.152 2.702 3.112
C3 1.045 25.614 1.972 1.801 3.552
g A (HA s 60.429 4.653 9.417
iv) ARA HA stek T AL
(3 4.4.4-4) AAA HA st dH=E A ES kN, m)
T i THESH A &5 wd 9 Sl
e 226.168 0.000 4.653 230.821
EUE 610.992 0.000 9.417 620.410
Q@ A die @ e AH(dAY], Shear Key)ol 283t
© 9HEE FEES 9% SeAgEy deAy Ao
o] o m gty Fe o AEHAA = eUAHY TS
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K, = 2.863, p= 0.577

(% 444-5) &s0AHe] @A ALH(ES : kN, m)

T2 3% 4 92 u 22 = 7l

Ak 232.159 10.024 242.182

EHE 92.863 4.009 96.873
@ BHAES AFRA

2
(2, Aol st Bres a7 AUt SFwste) 3
el mulE JYzde] st Aume] g FRAES
Z8kA =)

(3 4.4.4-6) E& st A(ES] kN, m)

T % 5 3 (B-B) HA e (C-C) | & 5WAH(E-E)
A=) Vu 157.610 230.821 242.182
B E Mu 1,206.877 620.410 96.873
3) ¥ AE : SIEw

O AALE
fa=27MPa
f,= 400MPa

of

b 22)

-

= ¢,= 1.00 (71F T2z H7H A 1y
@ T 9o
1,000mm, H=850mm, 3 &F7=100mm, d="750mm
A,= 3,096.8mm? (1%+ : H22-8EA, <=4 : 125mm)
M, = 1,206.877TkN —m

V,= 157.610kN
@ el "3 HE
A, f, 3,096.8 < 400

T 085f,b  0.85x27x 1,000 oo dTomm

IS
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53.975 )

¢, M, = ¢; A, f, ( —)—100x3 O968><400><(750 5

= 895.61kN —m

¢y M, 895.610 .
M 1,206.877 0.742 < 1.000 - N.G

© kel B 3 E(d=750mm)

1 1
¢, Vo b, G v fear bd=1.00X EX V27 %< 1,000 X 750= 649.519kN

b, Vo, = ¢, V.= 649.519kN

¢V, 649.519
= = 4. > 1.
v 157 610 4.121 = 1.000 O.K

B=1,000mm, H=800mm, 35 57=100mm, d="700mm
A,= 3,096.8mm? (1%+ : H22-8EA, E <=4 : 125mm)
M, = 620.410kN —m
V, = 230.821 kN
@ ol g HE
A fy 3,096.8 X 400

O 085, b 085x27x 1,000 oo9Tomm
6, M, = ¢, A, f, ( —)— 1.00 % 3,096. 8><400><(700— 53'2975)
— 833.674kN — m
¢p M, 833.674
= = 1. > . .
L= S = 1344 = 1000 0.K

u

© Hetol gk A E(d=700mm)

b, VC:@% fbd= 1.00x%x V27 % 1,000 < 700 = 606.218 kN
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¢, V,= ¢, V.= 606.218kN

¢ Vi _ 606218
Vv, 230.821

uw

= 2.626 = 1.000 - 0K

00 (71 FE2EY JA7A Aettihe e &
@ A =2 54
B=1,000mm, H=600mm, ¥&57=100mm, d=500mm
A,=2,292mm?* (19 : HI9-8EA, A =4 : 125mm)
M,= 96.873kN —m
V, = 242.182kN
@ ol W3 A&

A, fy 2,292 X 400
O 085 f. b 085x27x 1,000  o098mm
oM, = ¢; A, f, ( —)— 1.00 X 2, 292x400x(500— 39'348)
= 440.088kN — m
¢ M, 440.088
= = 4. > 1.
i o6a73 — 4543 = 1.000 0.K

u

B dete] g HE(d=500mm)
é, chqsv% Fobd=1.00% %x V27 % 1,000 % 500 = 433.013kN

¢y Vo= ¢, V.= 433.013kN

¢, V. 433.013
= = 1. > .
7 510 15 — 1788 = 1.000 O.K

u
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